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About this Document

1 About this Document

1.1 Validity

These instructions are part of the product. These instructions apply to the product in

the following versions:

Product Type

Density determination kit for Cubis® laboratory balances ~ YDKO3MS
with a readability of 0.1 mg and 0.01 mg

Density determination kit for Cubis® laboratory balances ~ YDK04MS
with a readability of 1 mg

1.2 Other Applicable Documents

P> In addition to these instructions, please observe the following documents:
— Instructions for the laboratory balance used

1.3 Symbols Used

1.3.1 Warning Information in Operation Descriptions

NOTICE

Denotes a danger with risk that property damage may result if the risk is not avoided.

1.3.2 Other Symbols

> Required action: Describes actions which must be carried out.

> Result: Describes the result of the actions carried out.
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Safety

2  Safety

2.1 Intended Use

This product is used to determine the density of solid objects or liquids. For the
determination of the density of solid objects, a test liquid must be used.

This product must be operated with Sartorius laboratory balances with a suitable
readability.

If the laboratory balance has a density determination program: Density values can be
calculated automatically using the density determination kit and density
determination program.

If the density determination program is used to determine density: The density must
be determined as described in the laboratory balance operating instructions.

The product is intended exclusively for use in accordance with these instructions.
Any further use beyond this is considered improper.

2.2 Glass Components

The glass plummet, beakers, and thermometer are made of glass. Broken glass can
cause injuries.

b If the glass plummet, beakers, or thermometer become damaged: Replace the glass
plummet, beakers, or thermometer.
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Device Description

3 Device Description

3.1 YDKO3MS

Fig. 1: YDKO3MS components

No. Name No. Name

1 Beakers (& 90 mm and & 55 mm) 5 Glass plummet
2 Frame 6 Sieve

3 Thermometer retainer clip, 7 Sample holder

installed upon delivery

4 Thermometer 8 Bridge
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Device Description

3.2 YDK04MS

Fig.2: YDKO4MS components

No. Name No. Name

1 Beakers (& 90 mm and & 55 mm) 5 Glass plummet

2 Frame 6 Sieve

3 Thermometer retainer clip, 7 Sample holder
installed upon delivery

4 Thermometer 8 Bridge
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Installation

4  Installation

4.1 Scope of Delivery

Item Quantity
Beaker (& 90 mm and & 55 mm) 2
Frame 1
Thermometer retainer clip 1
Thermometer 1
Glass plummet 1
Sieve 1
Sample holder 1
Bridge 1

4.2 Unpacking the Device

Procedure

NOTICE

Unpacking can damage components!
P> This product consists of delicate components. Take care when unpacking all parts.

4.3 Installing the Product

4.3.1 Attaching the YDKO3MS to the Balance

Prerequisites
A Cubis® laboratory balance with a readability of 0.1 mg or 0.01 mg.
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Installation

Procedure

P Remove the following parts from the balance:
- Weighing pan (1)
- Pan support (2)

P> Insert the frame into the weighing chamber.
The wedge-shaped opening at the top of the frame
must face in the direction from which the sample
holder (sieve/glass plummet) will be placed into the
frame.

P> Place the bridge which will hold the beaker
through the frame on the balance.
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Installation

4.3.2 Attaching the YDKO4MS to the Balance

Prerequisites
A Cubis® laboratory balance with a readability of 1 mg.

Procedure
» Remove the weighing pan (1) from the balance.

P> Insert the frame into the weighing chamber. The
wedge-shaped opening at the top of the frame
must face in the direction from which the sample
holder (sieve/glass plummet) will be placed into the
frame.

P> Place the bridge which will hold the beaker
through the frame on the balance.
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Installation

4.3.3 Selecting the Beaker and Immersion Device

Procedure

P Select the beaker or immersion device.
The selection of the beaker or immersion device
depends on the sample which is to be determined.

Overview of the beaker and immersion device:

— For determining the density of solid objects
whose density is higher than the immersion liquid:
A beaker with & 90 mm and a sample holder is
required

— For determining the density of solid objects
whose density is lower than the immersion liquid:
A beaker with & 90 mm and a sample pan is
required

— For determining the density of liquids: A beaker
with & 55 mm and a glass plummet is required
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Installation

4.3.4 Installing the Glass Plummet

A wire is attached to the glass plummet by a wire
eyelet. The wire eyelet must be suspended from the
hook on the glass plummet.

Procedure

p NOTICE The wire can break if it is bent! Pull the
glass plummet out of the packaging by the glass
eyelet. Do not bend the wire on the glass plummet.

P> Loop the wire eyelet of the glass plummet over the
hook of the retainer.

P> Attach the hook of the glass plummet to the frame.

4.3.5 Installing the Thermometer

Procedure

p Place the thermometer in the beaker.

p If the thermometer needs to be attached:
Attach the thermometer to the rim of the beaker
using the retainer clip.
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Operation

5 Operation

5.1 Method used to Determine Density

“Archimedes' Principle” is used to determine the density of a solid object with this
measuring device:

— An object immersed in liquid will be subject to an upward buoyant force. This force
is equal to the weight of the liquid displaced by the object.

— Using a hydrostatic balance, which enables you to weigh the solid object in air and
in water, it is possible to determine the density of a solid object if the density of
the buoyancy medium is known:

_ W@-p M)
W (a) - W (1)
or

Determine the density of a liquid if the volume of the immersed object is known.

Where:

P density of the solid object

p (fl) density of the liquid

W (a) weight of the solid object in air
W (f1) weight of the solid object in liquid
G buoyancy of the immersed object

vV volume of the immersed object
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Operation

5.2 Sources of Error and Options for Correction

NOTICE

Incorrect procedure when adjusting the balance!

P Remove the sample holder of the density determination kit prior to making
adjustments.

The formula used to determine the density of solid objects is sufficient to obtain
an accuracy of one to two decimal places. Depending on the accuracy required,
the following error and correction factors will need to be considered:

- effect of temperature on the density of the buoyancy liquid

- air buoyancy when weighing in air

— changes in the immersion depth of the iron pan when immersing the sample
— adhesion of the liquid to the span wire of the iron pan

— air bubbles sticking to the sample

Some of the errors can be corrected mathematically. It is therefore necessary to
measure the temperature of the liquid and correct the liquid density accordingly
and to define the inner diameter of the vessel holding the liquid.

Effect of Temperature on Liquid Density

The density of the buoyancy liquid is temperature dependent. The change in density
per °C temperature change is as follows:

- 0.02% for distilled water

— 0.1% for alcohols and hydrocarbons

The change can show up in the third decimal place during the density determination.
To correct the liquid density in terms of temperature, proceed as follows:

— measure the temperature of the liquid using the thermometer supplied.
— The density of water can be found in the table in Chapter "5.4 Density Values,"
page 22 and can be used for p (fl).
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Operation

Air Buoyancy

Depending on the temperature, humidity and air pressure, a 1 cm?® volume of air

will have a weight of around 1.2 mg. When weighing in air, the object experiences

a corresponding buoyancy per cm? of its volume. The error that results if the air
buoyancy is not allowed for shows up in the third decimal place and should therefore
be corrected.

The buoyancy force is taken into account in the following formula:

_W(a)-[p () -p ()]
W (a) - W (fl)

+p (a)

Where p (a) = 0.0012 g/cm? = density of air under normal conditions (temperature
20°C, pressure 101.325 kPa).

Immersion Depth

The pan for holding and/or immersing the sample during weighing in liquid is
attached rigidly to two wires and is immersed approximately 30 mm below the surface
of the liquid. Since the balance is tared prior to each measurement, the additional
buoyancy from the submerged part of the measurement setup is not factored into the
determination of the density.

When weighing in liquid, a volume of liquid corresponding to the volume of the
sample body gets displaced. This causes the fastening wires on the pan to be immersed
deeper and to generate additional buoyancy, creating an error in the density
determination.

The following formula will correct the error:

_ Wi -[p()-p @)
0.99983 [W (a) - W (f1)]

+p (a)

As the correction factor is determined exclusively by the geometry of the device,

it must be ensured that only the supplied vessel with the larger diameter (90 mm) is
used to determine the density of a solid object. Chapter "6 Formulas," page 23
shows how this correction factor is derived.
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Operation

Adhesion of the Liquid to the Wire

When immersing the sample holder (or sieve) in the buoyancy liquid, liquid travels
up the wire because of adhesion forces and generates a few additional milligrams of
weight.

Since the sample holder (or sieve) is in the buoyancy medium both when weighing
in air and when weighing in liquid, and the balance is tared at the beginning of each
measurement, the influence of the liquid meniscus can be ignored.

To reduce the surface tension and friction of the liquid on the wire, add three drops of
a surfactant (Mirasol Antistatic or a conventional detergent) to the distilled water in
the vessel.

Because of the buoyancy liquid travelling up the wire, the weight value may continue

un

to slowly change after the "g" has appeared. For this reason, the weight value should

un

be read as soon as the "g" appears.

Air Bubbles

The measurement errors which occur as a result of air bubbles sticking to the sample
can be evaluated as follows. If the air bubble has a diameter of 0.5 mm, this will
produce an additional buoyancy of less than 0.1 mg when weighing in water. If the air
bubble has a diameter of 1 mm, the additional buoyancy will be around 0.5 mg, and if
the diameter is around 2 mm, roughly 4.2 mg. It is therefore imperative that larger air
bubbles are taken off with a fine brush or similar.

Moisture can also be added in advance in a separate container.
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Operation

5.3 Density Determination

5.3.1 Determining Density of Solid Objects

Preparation
In the following description, distilled water is used.

Procedure

Place the beaker with the larger diameter (& 90 mm) on the center of the bridge
Fill the beaker until the distilled water is approximately 5 mm below the rim.
Add three drops of surfactant to the distilled water.

Attach the thermometer to the rim of the beaker using the retainer clip.

Clean the sample holder with a solvent (paying particular attention to the
immersed wires) and hook on to the frame.

VVVYVY

Measurement Procedure
The sample weight must be determined in the air.

Procedure

P> Tare the balance.
P> Place the sample on the frame weighing pan and weigh it.
P Make a note of the weight value W (a).

Determining the Buoyancy
G=W(a)-W(fl)

Procedure

P> Tare the balance with the sample on the frame weighing pan.

P> Place the sample in the sample holder. Remove the iron pan from the measuring
device and ensure that no additional air bubbles become attached upon
re-immersion in the liquid; If possible, add the sample directly using tweezers
or similar.

P Make a note of the absolute value of buoyancy G, with a minus sign in front.
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Operation

Calculating the Density

Procedure

P Read off the temperature.

P Locate the density value p (fl) in the table using the temperature you have read
off.

P> Calculate the density using the following formula:

_ W(a)-[p(fl) - 0.0012 g/em’]
- 0.99983 G

+ 0.0012 g/em?
W (a) and Gin g; p (fl) in g/em* G = W (a) - W (f1)

5.3.2 Determining the Density of Solid Objects with a Density of Less Than
1 g/em?®

There are two different methods for determining the density of solid objects with
a density of less than 1 g/cm?.

Method 1

Distilled water is still used as the buoyancy liquid. However, the iron pan is replaced
by the inverted sieve pan (sieve).

To determine the buoyancy of the sample, first place it on the surface of the water
and then immerse it using the sieve which was previously removed.

It is also possible to use tweezers or similar to place the sample directly under the
sieve pan (without removing the sieve from the frame).

If the buoyancy of the substance to be measured is greater than the weight of the
sieve, the weight of the sieve must be increased by adding additional weight to the
frame weighing pan.
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Operation

Method 2

A liquid with a density which is lower than that of the solid object which is to be
measured must be used as a buoyancy medium. Good results have been achieved with
ethanol (up to a density of approx. 0.8 g/cm?).

The negative effect of the liquid's surface tension on the results is less noticeable
when using ethanol than when using distilled water. It is therefore not necessary to
add surfactants.

Valid safety precautions must be taken when working with ethanol.

The second method should be used if the density of the solid object only differs
slightly from that of distilled water. As the sample is suspended in water, measuring
errors may occur if the first method is used. It also makes sense to use the second
method to determine the density of a granulated substance. In this case, it would be
difficult to place the entire sample under the sieve when using the first method.

Do not use ethanol if the sample could be attacked or dissolved by it.

Preparation
In the following description, distilled water is used.

Procedure

Place the beaker with the larger diameter (& 90 mm) on the center of the bridge
Fill the beaker until the distilled water is approximately 5 mm below the rim.

Add three drops of surfactant to the distilled water.

Attach the thermometer to the rim of the beaker using the retainer clip.

Clean the sieve with a solvent (paying particular attention to the immersed wires)
and hook on to the frame.

VVVYVYY
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Operation

Measurement Procedure
The sample weight must be determined in the air.

Procedure

P Tare the balance.
P Place the sample on the frame weighing pan and weigh it.
P Make a note of the weight value W (a).

Determining the Buoyancy
G=W(a)-W(fl)

Procedure

P> Tare the balance with the sample on the frame weighing pan.

P> Place the sample in the sample holder. Remove the iron pan from the measuring
device and ensure that no additional air bubbles become attached upon
re-immersion in the liquid; If possible, add the sample directly using tweezers or
similar.

P Make a note of the absolute value of buoyancy G, with a minus sign in front.

Calculating the Density

Procedure

P Read off the temperature.
P Locate the density value p (fl) in the table in Chapter “5.4 Density Values,"
page 22 using the temperature you have read off.

P> Calculate the density using the following formula:

W) p ()

+0.0012 g/em®
0.99983 G

Y

W (a) and Gin g; p (fl) in g/em* G = W (a) - W (f1)
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Operation

5.3.3 Determining the Density of Liquids

Preparation

Procedure

P Place the beaker with the smaller diameter (& 55 mm) on the center of the bridge.
P> Attach the thermometer to the rim of the beaker using the retainer clip.

Measurement Procedure

Procedure

B Suspend the disk with the glass plummet (hanging on one wire) from the frame.

P> Tare the balance.

P> Fill the beaker with the liquid to be tested until it is 10 mm above the glass
plummet.

Determining the Buoyancy G = W (a) - W (fl)

The negative weight displayed by the balance corresponds to the buoyancy acting on
the glass plummet in the liquid.

Procedure

P Make a note of the buoyancy G, with a minus sign in front.
P Read off and make a note of the temperature.
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Operation

Calculating the Density

Procedure
P Calculate the density using the following formula:

G

fll= —

p (fl) v
Ging;Vincm?

The glass plummet included in the density determination kit has a volume of 10 cm?.

It is easy to obtain the actual density of the liquid (in g/cm?); Shift the decimal point
in the balance display one place the left.

5.4 Density Values

Density of H,0 (Gas-Free Water) at Temperature T (in °C) in g/cm®

T/°C 0.0 0.1 0.2 0.3 0.4 0.5 0.6 0.7 0.8 0.9

10 0.99970 0.99969 0.99968 0.99967 0.99966 0.99965 0.99964 0.99963 0.99962 0.99961
11 0.99960 0.99959 0.99958 0.99957 0.99956 0.99955 0.99954 0.99953 0.99952 0.99951
12 0.99950 0.99949 0.99947 0.99946 0.99945 0.99944 0.99943 0.99941 0.99940 0.99939
13 0.99938 0.99936 0.99935 0.99934 0.99933 0.99931 0.99930 0.99929 0.99927 0.99926
14 0.99924 0.99923 0.99922 0.99920 0.99919 0.99917 0.99916 0.99914 0.99913 0.99911
15 0.99910 0.99908 0.99907 0.99905 0.99904 0.99902 0.99901 0.99899 0.99897 0.99896
16 0.99894 0.99893 0.99891 0.99889 0.99888 0.99886 0.99884 0.99883 0.99881 0.99879
17 0.99877 0.99876 0.99874 0.99872 0.99870 0.99869 0.99867 0.99865 0.99863 0.99861
18 0.99860 0.99858 0.99856 0.99854 0.99852 0.99850 0.99848 0.99846 0.99844 0.99842
19 0.99840 0.99838 0.99837 0.99835 0.99833 0.99831 0.99829 0.99826 0.99824 0.99822
20 0.99820 0.99818 0.99816 0.99814 0.99812 0.99810 0.99808 0.99806 0.99803 0.99801
21 0.99799 0.99797 0.99795 0.99793 0.99790 0.99788 0.99786 0.99784 0.99781 0.99779
22 0.99777 0.99775 0.99772 099770 0.99768 0.99765 0.99763 0.99761 0.99758 0.99756
23 0.99754 0.99751 0.99749 0.99747 0.99744 0.99742 099739 0.99737 0.99734 0.99732
24 0.99729 0.99727 0.99725 0.99722 0.99720 0.99717 0.99714 0.99712 0.99709 0.99707
25 0.99704 0.99702 0.99699 0.99697 0.99694 0.99691 0.99689 0.99686 0.99683 0.99681
26 0.99678 0.99676 0.99673 0.99670 0.99667 0.99665 0.99662 0.99659 0.99657 0.99654
27 0.99651 0.99648 0.99646 0.99643 0.99640 0.99637 0.99634 0.99632 0.99629 0.99626
28 0.99623 0.99620 0.99617 0.99615 0.99612 0.99609 0.99606 0.99603 0.99600 0.99597
29 0.99594 0.99591 0.99588 0.99585 0.99582 0.99579 0.99576 0.99574 0.99571 0.99568
30 0.99564 0.99561 0.99558 0.99555 0.99552 0.99549 0.99546 0.99543 0.99540 0.99537
References:

— NIST ITS-90 Density of Water Formulation for Volumetric Standards Calibration, Volume 97, Number 3, Chapter 3.3
Density of Air-Free Water p (kg m~?) = 999.85308 + 6.32693 x 102 t - 8.523829 x 107 t2 + 6.943248 x 10~ t3 -
3.821216 x 1077 t4

— DAKkS-DKD-LF-8-2 calibration liquid water - DakkS, annex 1, table A
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Formulas

6 Formulas

To gain a better understanding of the process, the theory behind the formulas and the
correction factor is explained here.

Basic Principles

Mass (g)

Volume (cm?)

Density =

Archimedes' principle states:

An object immersed in liquid will be subject to a buoyant force (G). This force is equal
to the weight of the liquid displaced by the object. The volume of the immersed object
V (s) is equal to the volume of the displaced liquid V (fl).

The following are determined:

1. Weight in air W (a)
2. Buoyancy of the object in the liquid (G)

The density of an object is:

mass of object W (a) W (a)

volume of object V (s) V (fT)

If the density p (fl) of the displaced liquid is known:

v (fl) - Mass (f1) _ G
p p (f)
Thus:
W@ -p )
G
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Formulas

Calculation
The density of a solid object is calculated based on the ratio:

p:W(a)=p(fl):[W()-WI(f)]
Thus:

W (a) - p (f1)
W (a) - W (fl)

W (a) - W (fl) = G = buoyancy of the sample

The density of a liquid is determined from the buoyancy of the immersed object which
has a defined volume.

G
p(M)=—
\%
Where:
p density of the solid object

p (f1) density of the liquid

W (a) weight of the solid object in air
W (fl) weight of the solid object in liquid
G buoyancy of the immersed object

Vv volume of the immersed object

Corrections
The following must be allowed for when correcting the density determination:

— The air buoyancy experienced by the sample when weighed in air.
Where p (a) = 0.0012 g/cm?® = density of air under normal conditions (temperature
20°C, pressure 101.325 kPa); which results in:

W) - [p(fl)-p (a)
p= +p(a)
W (a) - W ()
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Formulas

— The immersion of the wires of the sample holder or sieve
When using this specific density determination kit, the buoyancy G = [W (a) - W
(f)] must be multiplied by the factor 0.99983 (corr). Expanded formula:
o W (a) - [p () - p (a)]
[W(a) - W (fl)] - corr

+p (a)

This factor allows for the buoyancy of the wires which are submerged deeper when
the sample is introduced.

How this Correction Factor Is Derived:
The buoyancy caused by the submerged wires depends on the height "h" by which
the liquid rises when the sample is immersed.

Here, the sample volume V (pr) corresponds to the liquid volume V (fl).
The sample volume is determined by measuring the buoyancy. Hence:

v (pr) = V (1)
or

W (a) - W () wt-h-D?

p (f1) 4

4 - [W (a) - W (f1)]
p(fl)-m-D?

Then h =

The buoyancy "A" caused by the immersed wires is:

2

A=2- “hep (A)

4

When "h" is used:

2-m-d*-4-[W(a)-WI(]-p ()
4.-p(fl) D

p:

d2
DZ

A=2- - [W (@) - W ()]
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Formulas

To allow for the buoyancy of the wires, subtract the buoyancy "A" caused by the
immersed wires from the buoyancy determined for the sample:

G =W (a) - W (f1). The buoyancy value “A (corr)" which is to be used in the
calculation is then: G - “A".

2

A (corr) = [W (a) - W (f)] - 2 - - [W(a) - W ()]

DZ

dZ
DZ

A(com)=1|1-2- -[W (a) - W (f1)]

In this density determination kit, the beaker with the larger diameter (& 90 mm) and
an immersion device with two wires with a diameter of 0.7 mm are used to determine
the density of solid objects.

When the values d = 0.7 mm and D = 90 mm are used, the correction factor is:

0.7%
90?2

1-2- =0.99983

When using devices with other dimensions, the correction factor must be recalculated
accordingly.
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Uber diese Anleitung

1 Uber diese Anleitung

1.1 Giiltigkeit

Diese Anleitung ist Teil des Produkts. Die Anleitung gilt fiir das Produkt in den
folgenden Ausfiihrungen:

Produkt Typ

Dichtebestimmungsset fiir Cubis®~Laborwaagen mit einer  YDKO3MS
Ablesbarkeit 0,1 mg und 0,01 mg

Dichtebestimmungsset fiir Cubis®-~Laborwaagen mit einer  YDK04MS
Ablesbarkeit 1 mg

1.2 Mitgeltende Dokumente

P Ergénzend zu dieser Anleitung folgende Dokumentationen beachten:
— Anleitung der verwendeten Laborwaage

1.3 Darstellungsmittel

1.3.1 Warnhinweise in Handlungsbeschreibungen

ACHTUNG
Kennzeichnet eine Gefahrdung, die Sachschidden zur Folge haben kann, wenn sie nicht
vermieden wird.

1.3.2 Weitere Darstellungsmittel

> Handlungsanweisung: Beschreibt Tatigkeiten, die ausgefiihrt werden miis-
sen.
> Ergebnis: Beschreibt das Ergebnis der ausgefiihrten Tatigkeiten.
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2  Sicherheit

2.1 BestimmungsgemaBe Verwendung

Das Produkt dient zur Dichtebestimmung von Festkdrpern oder Flussigkeiten. Fiir die
Dichtebestimmung von Festkdrpern muss eine Testfllssigkeit verwendet werden.

Das Produkt muss mit Sartorius Laborwaagen mit geeigneter Ablesbarkeit betrieben
werden.

Wenn die Laborwaage tiber ein Dichtebestimmungsprogramm verfiigt: Durch das
Dichtebestimmungsset und das Dichtebestimmungsprogramm kénnen automatisch
Dichte-Werte berechnet werden.

Wenn Dichtebestimmungsprogramme zur Dichtebestimmung verwendet werden: Die
Dichtebestimmung muss so durchgefiihrt werden wie in der Betriebsanleitung der
Laborwaage beschrieben.

Das Produkt ist ausschlieBlich fiir den Einsatz gemaB dieser Anleitung bestimmt. Jede
weitere Verwendung gilt als nicht bestimmungsgemaB.

2.2 Komponenten aus Glas

Der Glassenkkorper, die Bechergldser und das Thermometer sind aus Glas gefertigt. Bei
Beschadigung des Glases sind Verletzungen moglich.

p Wenn der Glassenkkdrper, die Bechergldser oder das Thermometer beschadigt ist:
Den Glassenkkdrper, die Becherglaser oder das Thermometer tauschen.
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3 Geratebeschreibung

3.1 YDKO3MS

Abb. 1: Komponenten YDKO3MS

Pos. Bezeichnung Pos. Bezeichnung

1 Becherglaser (& 90 mm und & 55 mm) 5 Glassenkkorper
2 Gestell 6 Tauchsieb

3 Befestigungsklemme fiir Thermometer, 7 Tauchkorb
bei Lieferung am Thermometer montiert

4 Thermometer 8 Briicke
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3.2 YDK04MS

Abb.2: Komponenten YDK04MS

Pos. Bezeichnung Pos. Bezeichnung

1 Bechergléser (&9 90 mm und & 55 mm) 5 Glassenkkaorper
2 Gestell 6 Tauchsieb

3 Befestigungsklemme fiir Thermometer, 7 Tauchkorb
bei Lieferung am Thermometer montiert

4 Thermometer 8 Briicke
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4  Installation

4.1 Lieferumfang

Artikel Menge
Becherglas (& 90 mm und & 55 mm) 2
Gestell 1
Befestigungsklemme fiir Thermometer 1
Thermometer 1
Glassenkkorper 1
Tauchsieb 1
Tauchkorb 1
Briicke 1

4.2 Auspacken

Vorgehen

ACHTUNG

Beschidigung der Komponenten beim Auspacken!
P Das Produkt besteht aus filigranen Komponenten. Alle Teile vorsichtig entpacken.

4.3 Produkt montieren

4.3.1 YDKO3MS in Waage montieren

Voraussetzungen

Es liegt eine Laborwaage vom Typ Cubis® mit einer Ablesbarkeit 0,1 mg oder 0,01 mg
vor.
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Vorgehen

p Nehmen Sie folgende Teile von der Waage:
- Waagschale (1)
— Unterschale (2)

P> Setzen Sie das Gestell in den Wéageraum ein. Die
keilférmige Offnung oben am Gestell muss in die
Richtung weisen, aus der der Tauchkorb (Tauchsieb/
Glassenkkorper) eingesetzt wird.

p> Stellen Sie die Briicke zur Aufnahme des Bechergla-
ses durch das Gestell hindurch auf die Waage.
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4.3.2 YDKO4MS in Waage montieren

Voraussetzungen
Es liegt eine Laborwaage vom Typ Cubis® mit einer Ablesbarkeit von 1 mg vor.

Vorgehen
» Nehmen Sie die Waagschale (1) von der Waage.

P> Setzen Sie das Gestell in den Wageraum ein. Die
keilférmige Offnung oben am Gestell muss in die
Richtung weisen, aus der der Tauchkorb (Tauchsieb/
Glassenkkorper) eingesetzt wird.

p> Stellen Sie die Briicke zur Aufnahme des Bechergla-
ses durch das Gestell hindurch auf die Waage.
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4.3.3 Becherglas und Tauchvorrichtung auswéhlen

Vorgehen

p Wihlen Sie das Becherglas oder die Tauchvorrich-
tung aus. Die Auswahl des Becherglases und der
Tauchvorrichtung richtet sich nach der zu bestim-
menden Probe.

Ubersicht Becherglas und Tauchvorrichtung:

— Bei Dichtebestimmung von Festkdrpern, deren
Dichte hoher ist als die der Tauchflussigkeit:
Becherglas mit @ 90 mm und Tauchkorb erforder-
lich

— Bei Dichtebestimmung von Festkdrpern, deren
Dichte geringer ist als die der Tauchflissigkeit:
Becherglas mit @ 90 mm und Tauchsieb erforder-
lich

— Bei Dichtebestimmung von Fliissigkeiten: Becher-
glas mit & 55 mm und Glassenkkdrper erforderlich
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4.3.4 Glassenkkdrper montieren

Am Glassenkkdrper ist ein Draht mit Drahtose befes-
tigt. Die Drahtdse muss in der Halterung des Glassenk-
korpers eingehdngt werden.

Vorgehen

P ACHTUNG Gebrochener Draht durch Knicken! Den
Glassenkkorper an der Glasdse aus der Verpackung
ziehen. Den Draht des Glassenkkdrpers dabei nicht
knicken.

p> Die Drahtose des Glassenkkdrpers in den Biigel der
Halterung einhdngen.

p- Befestigen Sie die Halterung des Glassenkkdrpers
am Gestell.

4.3.5 Thermometer montieren

Vorgehen

p> Das Thermometer im Glas positionieren.

p Wenn das Thermometer befestigt werden soll: Das
Thermometer mit der Befestigungsklemme am
Glasrand fixieren.
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5 Bedienung

5.1 Verfahren zur Dichtebestimmung

Zur Bestimmung der Dichte eines Festkorpers wird bei der vorliegenden Messeinrich-
tung das ,Archimedische Prinzip" herangezogen:

— Einin eine Flissigkeit getauchter Kérper erfahrt eine nach oben gerichtete
Auftriebskraft. Diese Kraft ist dem Betrag nach gleich der Gewichtskraft der durch
das Volumen des Korpers verdrangten Fliissigkeit.

— Mit einer hydrostatischen Waage, die es gestattet den Festkorper sowohl in Luft als
auch in Wasser zu wagen, ist es mdglich die Dichte eines Festkorpers zu bestim-
men, wenn die Dichte des Auftriebsmediums bekannt ist:

W (a) - p (1)

P W -wm

oder

die Dichte einer Fliissigkeit ist zu bestimmen, wenn das Volumen des Tauchkorpers
bekannt ist.

G
(M) =—
P \Y
Dabei ist:
P Dichte des Festkdrpers
p (fl) Dichte der Flissigkeit

W (a) Gewicht des Festkdrpers in Luft
W (f1) Gewicht des Festkorpers in der Fliissigkeit
G Auftrieb des Tauchkorpers

vV Volumen des Tauchkdrpers
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5.2 Fehlerquellen und Korrekturmoglichkeiten

ACHTUNG

Falsches Vorgehen beim Justieren der Waage!
P Den Probenhalter des Dichtebestimmungssets vor dem Justieren abnehmen.

Die Formel zur Dichtebestimmung von Festkorpern ist fiir eine Bestimmung mit einer
Genauigkeit von ein bis zwei Nachkommastellen ausreichend. Abhdngig von der
geforderten Genauigkeit sind folgende Fehler- oder Korrekturfaktoren zu
beriicksichtigen:

- Temperaturabhingigkeit der Dichte der Auftriebsfllissigkeit

— Luftauftrieb bei der Wagung in Luft

— Anderung der Eintauchtiefe der Biigelschale beim Untertauchen der Probe
— Adhision der Fliissigkeit am Aufhdngedraht der Biigelschale

— an der Probe anhaftende Luftbldschen

Die Fehler kdnnen teilweise rechnerisch korrigiert werden. Dazu ist es notwendig die
Temperatur der Flissigkeit zu messen und die Flussigkeitsdichte entsprechend zu
korrigieren und den Innendurchmesser des GefaBes zur Aufnahme der Fliissigkeit fest
vorzugeben.

Temperaturabhingigkeit der Fliissigkeitsdichte

Die Dichte der Auftriebsfliissigkeit ist temperaturabhéngig. Die Dichtednderung pro °C
Temperaturdanderung liegt in folgender GréBenordnung:

— 0,02% fir destilliertes Wasser
— 0,1% fir Alkohole und Kohlenwasserstoffe

Die Anderung kann in der 3. Nachkommastelle bei der Dichtebestimmung in Erschei-
nung treten.

Um die Fliissigkeitsdichte beziiglich der Temperatur zu korrigieren, wird folgenderma-
Ben verfahren:

— Die Temperatur der Fliissigkeit wird mit dem mitgelieferten Thermometer gemes-
sen.

— Die Dichte von Wasser kann der Tabelle des Kapitels ,5.4 Dichtewerte", Seite 46
entnommen und fiir p (fl) eingesetzt werden.
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Luftauftrieb

Ein Volumen von 1 cm?® Luft hat in Abhdngigkeit von der Temperatur, der Luftfeuch-
tigkeit und dem Luftdruck ein Gewicht um 1,2 mg. Bei der Wagung in Luft erfahrt der
Kérper pro cm? seines Volumens einen entsprechenden Auftrieb. Der resultierende
Fehler bei Nichtberlicksichtigung des Luftauftriebs macht sich also in der dritten
Nachkommastelle bemerkbar und sollte somit korrigiert werden.

Der Luftauftrieb wird in folgender Formel beriicksichtigt:

_ W) [p (M) -p ()]

Wa-wm  PW

Dabei ist p (a) = 0,0012 g/cm?® = Dichte der Luft unter Normalbedingungen (Tempera-
tur 20°C, Druck 101,325 kPa).

Eintauchtiefe

Die Schale zur Aufnahme bzw. zum Untertauchen der Probe wahrend der Wagung in
Fliissigkeit ist an zwei Drahten starr befestigt und taucht etwa 30 mm tief in die
Flissigkeit ein. Da vor jeder Messung die Waage tariert wird, geht der zusatzliche
Auftrieb durch den untergetauchten Teil der Messanordnung nicht in die Bestimmung
der Dichte ein.

Bei der Wagung in Flissigkeit wird ein dem Volumen des Probekdrpers entsprechendes
Volumen an Flissigkeit verdrangt. Dies flihrt dazu, dass die Befestigungsdrahte der
Schale tiefer eintauchen und einen zuséatzlichen Auftrieb erzeugen, der als Fehler bei
der Dichtebestimmung eingeht.

Dieser Fehler wird bei Anwendung der nachfolgenden Formel korrigiert:

W (a) - [p (fl) - p (a)]

= 0.99983 W @) -w P (@)

Da der Korrekturfaktor ausschlieBlich durch die Geometrie der Anordnung bestimmt
ist, muss unbedingt darauf geachtet werden, dass zur Dichtebestimmung eines
Festkrpers nur das mitgelieferte GefaB mit dem gréBeren Durchmesser (90 mm)
benutzt wird. Eine Herleitung fiir diesen Korrekturfaktor erfolgt im Kapitel ,,6 For-
meln"”, Seite 47.
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Adhision der Fliissigkeit am Draht

Beim Eintauchen des Tauchkorbes (des Tauchsiebes) in die Auftriebsflissigkeit kriecht
Flussigkeit infolge von Adhdsionskraften am Draht hoch und erzeugt ein zusatzliches
Gewicht in der GréBenordnung von einigen Milligramm.

Da sich der Tauchkorb (das Tauchsieb) sowohl bei der Wagung in Luft als auch bei der
Wagung in der Fliissigkeit im Auftriebsmedium befindet und zu Beginn jeder Messung
die Waage tariert wird, kann der Einfluss des Fliissigkeitsmeniskus vernachlassigt
werden.

Um die Oberflachenspannung und die Reibung der Fliissigkeit am Draht zu reduzieren,
werden auf den GefiBinhalt an dest. Wasser etwa drei Tropfen eines Tensids (Mirasol
Antistatic oder herkommliches Spiilmittel) dazugegeben.

Durch das Hochkriechen der Auftriebsfliissigkeit am Draht kann es vorkommen, dass
sich der Wagewert nach Erscheinen des »g« noch langsam verandert. Der Wagewert
sollte deshalb direkt nach Auftreten des »g« abgelesen werden.

Luftblasen

Der Messfehler, der durch anhaftende Luftbldschen an der Probe entsteht, l4sst sich
folgendermaBen abschatzen. Bei einer Luftblase mit einem Durchmesser von 0,5 mm
ergibt sich ein zusatzlicher Auftrieb bei der Wagung in Wasser kleiner als 0,1 mg. Bei
einem Durchmesser von 1 mm betragt der zusatzliche Auftrieb schon etwa 0,5 mg und
bei einem Durchmesser von 2 mm etwa 4,2 mg. GroBere Luftblaschen sollten also
unbedingt mit einem feinen Pinsel 0.a. Hilfsmittel abgestreift werden.

Das Benetzen kann auch vorab in einem separaten Gefal erfolgen.
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5.3 Dichtebestimmung

5.3.1 Dichtebestimmung von Festkérpern

Vorbereitung
In der folgenden Beschreibung wird dest. Wasser verwendet.

Vorgehen

B Das Becherglas mit dem groBen Durchmesser (& 90 mm) mittig auf der Briicke
ausrichten

p Das Becherglas bis ca. 5 mm unter den Rand mit dest. Wasser fiillen.

P 3 Tropfen Tensid in das dest. Wasser geben.

P Das Thermometer mit der Klemme am Rand des Becherglases befestigen.

P Das Tauchkorb mit Losungsmittel reinigen (insbesondere die eintauchenden

Drihte) und in das Gestell einhingen.

Messablauf
Das Probengewicht in der Luft muss bestimmt werden.

Vorgehen

p Die Waage tarieren.
P Die Probe auf die Gestellwaagschale auflegen und wiagen.
p Den Gewichtswert W (a) notieren.

Bestimmung des Auftriebs G = W (a) - W (f1)

Vorgehen

P Die Waage mit der Probe auf der Gestellwaagschale tarieren.

P> Die Probe in den Tauchkorb legen. Dazu die Biigelschale aus der Messvorrichtung
entfernen und darauf achten, dass beim Wiedereintauchen in die Flissigkeit keine
zusatzlichen Luftblaschen anhaften, dazu die Probe mdéglichst mit Pinzette o. a.
direkt aufgeben.

P Den Absolutwert des mit negativem Vorzeichen angezeigten Auftriebs G notieren.
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Berechnen der Dichte

Vorgehen

P Die Temperatur ablesen.

p Den Dichtewert p (fl) der Tabelle im Anhang unter Berticksichtigung der abgelese-
nen Temperatur entnehmen.

p Die Dichte nach folgender Formel berechnen:

o= WG [p(M - 0.0012g/cm’]

+ 0.0012 g/em?
0.99983 G

W (a) und G in g; p (fl) in g/em® G = W (a) - W (fl)

5.3.2 Dichtebestimmung von Festkdorpern mit einer Dichte kleiner als 1 g/fem?

Bei Festkorpern mit einer Dichte kleiner als 1 g/cm? ist eine Dichtebestimmung mit
zwei unterschiedlichen Methoden moglich.

Methode 1

Als Auftriebsfliissigkeit wird weiterhin dest. Wasser verwendet. Es wird die Biligelschale
mit der umgedrehten Siebschale (Tauchsieb) verwendet.

Die Probe wird zur Bestimmung des Auftriebs zundchst auf die Wasseroberflache
gebracht und anschlieBend mit dem zuvor herausgenommenen Tauchsieb
untergetaucht.

Mit einer Pinzette o.4. ist es aber auch mdglich, die Probe direkt unter die Siebschale
zu geben (ohne das Tauchsieb aus dem Gestell herauszunehmen).

Ist der Auftrieb der zu messenden Substanz gréBer als das Gewicht des Tauchsiebes,
muss das Tauchsieb durch ein zusatzliches Gewicht auf der Gestellwaagschale
beschwert werden.
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Methode 2

Als Auftriebsmedium wird eine Fliissigkeit mit geringerer Dichte als die des zu bestim-
menden Festkorpers verwendet. Gute Erfahrungen wurden mit Ethanol (bis zu einer
Dichte von ca. 0,8 g/cm?) gemacht.

Bei Verwendung von Ethanol macht sich der negative Einfluss der Oberflachen-
spannung der Fliissigkeit auf die Messergebnisse weniger bemerkbar als bei dest.
Wasser. Eine Zugabe von Tensiden ist daher nicht erforderlich.

Bei der Arbeit mit Ethanol miissen unbedingt die geltenden Sicherheitsbestimmungen
beachtet werden.

Die zweite Methode sollte angewendet werden, wenn die Dichte des Festkdrpers sich
nur geringfiigig von der des dest. Wassers unterscheidet. Da die Probe im Wasser
schwebt, kann es bei Anwendung der ersten Methode zu Messfehlern kommen. Die
Anwendung der zweiten Methode ist auch dann sinnvoll, wenn die Dichte eines
Granulats bestimmt werden soll. Bei der ersten Methode ist es in diesem Fall schwierig
das Granulat vollstdndig unter die Siebschale zu bringen.

Von der Verwendung von Ethanol sollte abgesehen werden, wenn die Probe angegrif-
fen (gelst) werden kdnnte.

Vorbereitung
In der folgenden Beschreibung wird dest. Wasser verwendet.

Vorgehen

B Das Becherglas mit dem groBen Durchmesser (& 90 mm) mittig auf der Briicke
ausrichten

P> Das Becherglas bis ca. 5 mm unter den Rand mit dest. Wasser fiillen.

p 3 Tropfen Tensid in das dest. Wasser geben.

P Das Thermometer mit der Klemme am Rand des Becherglases befestigen.

B Das Tauchsieb mit Losungsmittel reinigen (insbesondere die eintauchenden Drihte)

und in das Gestell einhdngen.
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Messablauf
Das Probengewicht in der Luft muss bestimmt werden.

Vorgehen

P Die Waage tarieren.
P> Die Probe auf die Gestellwaagschale auflegen und wégen.
p Den Gewichtswert W (a) notieren.

Bestimmung des Auftriebs G = W (a) - W (1)

Vorgehen

P Die Waage mit der Probe auf der Gestellwaagschale tarieren.

P> Die Probe in den Tauchkorb legen. Dazu die Biigelschale aus der Messvorrichtung
entfernen und darauf achten, dass beim Wiedereintauchen in die Flissigkeit keine
zusatzlichen Luftblaschen anhaften, dazu die Probe mdglichst mit Pinzette o.a.
direkt aufgeben.

P Den Absolutwert des mit negativem Vorzeichen angezeigten Auftriebs G notieren.

Berechnen der Dichte

Vorgehen

P Die Temperatur ablesen.
p Den Dichtewert p (fl) der Tabelle im Kapitel ,5.4 Dichtewerte”, Seite 46 unter
Berlicksichtigung der abgelesenen Temperatur entnehmen.

P> Die Dichte nach folgender Formel berechnen:

W) p ()

+0.0012 g/cm®
0.99983 G

W (a) und G in g; p () in g/em®* G = W (a) - W (fl)
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5.3.3 Bestimmung der Dichte von Fliissigkeiten

Vorbereitung

Vorgehen

B Das Becherglas mit dem kleinen Durchmesser (& 55 mm) mittig auf der Briicke
ausrichten.
P Das Thermometer mit der Klemme am Rand des Becherglases befestigen.

Messablauf

Vorgehen

P Die Kegelscheibe mit dem an einem Draht hangenden Glassenkkorper in das Gestell
einhédngen.

p Die Waage tarieren.

p Das Becherglas mit der zu bestimmenden Fliissigkeit bis 10 mm {iber den Glassenk-
korper fiillen.

Bestimmung des Auftriebs G = W (a) - W (f1)

Der von der Waage angezeigte negative Gewichtswert entspricht dem Auftrieb, den
der Senkkorper in der Flissigkeit erfahrt.

Vorgehen

P Den mit negativem Vorzeichen angezeigten Auftrieb G notieren.
P Die Temperatur ablesen und notieren.
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Berechnen der Dichte

Vorgehen
p> Die Dichte nach folgender Formel berechnen:

Ging;Vincm?
Der Glastauchkdrper des Dichtebestimmungssets hat ein Volumen von 10 cm?.

Die aktuelle Dichte der Flussigkeit (in g/cm?) erhidlt man sehr einfach durch Versetzen
des Kommas in der Waagenanzeige um eine Dezimalstelle nach links.

5.4 Dichtewerte

Dichtewerte von H,0 (gasfreies Wasser) bei Temperatur T (in °C) in g/cm?

T/°C 0,0 0,1 0,2 0,3 0,4 0,5 0,6 0,7 0.8 0.9

10 0.99970 099969 0.99968 0.99967 0.99966 0.99965 0.99964 0.99963 0.99962 0.99961
1 0.99960 0.99959 0.99958 0.99957 0.99956 0.99955 0.99954 0.99953 0.99952 0.99951
12 0.99950 0.99949 0.99947 0.99946 0.99945 0.99944 0.99943 0.99941 0.99940 0.99939
13 0.99938 0.99936 0.99935 0.99934 0.99933 0.99931 0.99930 0.99929 0.99927 0.99926
14 0.99924 0.99923 0.99922 0.99920 0.99919 0.99917 0.99916 0.99914 0.99913 0.99911
15 0.99910 0.99908 0.99907 0.99905 0.99904 0.99902 0.99901 0.99899 0.99897 0.99896
16 0.99894 0.99893 0.99891 0.99889 0.99888 0.99886 0.99884 0.99883 0.99881 0.99879
17 0.99877 0.99876 0.99874 0.99872 0.99870 0.99869 0.99867 0.99865 0.99863 0.99861
18 0.99860 0.99858 0.99856 0.99854 0.99852 0.99850 0.99848 0.99846 0.99844 0.99842
19 0.99840 0.99838 0.99837 0.99835 0.99833 0.99831 0.99829 0.99826 0.99824 0.99822
20 0.99820 099818 0.99816 0.99814 0.99812 0.99810 0.99808 0.99806 0.99803 0.99801
21 0.99799  0.99797 0.99795 0.99793 0.99790 0.99788 0.99786 0.99784 0.99781 0.99779
22 0.99777 099775 0.99772 0.99770 0.99768 0.99765 0.99763 0.99761 0.99758 0.99756
23 0.99754 099751 0.99749 0.99747 0.99744 0.99742 0.99739 0.99737 099734 0.99732
24 0.99729 099727 0.99725 0.99722 0.99720 0.99717 0.99714 0.99712 0.99709 0.99707
25 0.99704 0.99702 0.99699 0.99697 0.99694 0.99691 0.99689 0.99686 0.99683 0.99681
26 0.99678 0.99676 0.99673 0.99670 0.99667 0.99665 0.99662 0.99659 0.99657 0.99654
27 0.99651 0.99648 0.99646 0.99643 0.99640 0.99637 0.99634 0.99632 0.99629 0.99626
28 0.99623 0.99620 0.99617 0.99615 0.99612 0.99609 0.99606 0.99603 0.99600 0.99597
29 0.99594 0.99591 099588 0.99585 0.99582 0.99579 0.99576 0.99574 0.99571 0.99568
30 0.99564 0.99561 0.99558 0.99555 0.99552 0.99549 0.99546 0.99543 0.99540 0.99537

Literaturhinweis (Referenz):

— NIST ITS-90 Density of Water Formulation for Volumetric Standards Calibration, Volume 97, Number 3, Chapter 3.3
Density of Air-Free Water p (kg m~?) = 999.85308 + 6.32693 x 102 t - 8.523829 x 107 t2 + 6.943248 x 10~ t3 -
3.821216 x 1077 t4

— DAKkS-DKD-LF-8-2 Kalibrierfliissigkeit Wasser - DakkS, Anlage 1, Tabelle A
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6  Formeln

Zum besseren Verstandnis soll hier die Herleitung der verwendeten Formeln und des
Korrekturfaktors erfolgen.

Grundlagen

M
Dichte = asse (g)

Volumen (cm?)

Das Archimedische Gesetz:

Ein in eine Fliissigkeit getauchter Korper erfahrt eine Auftriebskraft (G). Diese Kraft ist
dem Betrag nach gleich der Gewichtskraft der durch das Volumen des Kdrpers
verdrangten Flissigkeit. Das Volumen eines getauchten Kérpers V (s) ist gleich dem
Volumen der verdringten Fliissigkeit V (f1).

Es werden bestimmt:
1. Das Gewicht in der Luft W (a)
2. Auftrieb des Kdrpers in der Flussigkeit (G)

Die Dichte eines Korpers ist:

Masse Kérper W (a) W (a)

Volumen Kérper V (s) V ()

Ist die Dichte p (fl) der verdrangten Fliissigkeit bekannt, so ergibt sich mit

v (fl) - Masse (f1) _ G
p p (1)
Damit folgt:
_ W@ p (M
G
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Berechnung
Die Dichte eines Festkdrpers errechnet sich aus dem Verhaltnis von

p:Wia)=p (f): [W(a) - WI()]

Daraus ergibt sich:

W (a) - p (f1)
W (a) - W (fl)

W (a) - W (f) = G = Auftrieb der Probe

Die Dichte einer Flissigkeit wird ermittelt aus dem Auftrieb des Tauchkdrpers mit
definiertem Volumen.

G
p(M)=—
\%
Dabei ist:
p Dichte des Festkorpers

p (M) Dichte der Flissigkeit
W (a) Gewicht des Festkorpers in Luft
W (fl) Gewicht des Festkorpers in der Fliissigkeit

G Auftrieb des Tauchkérpers
Vv Volumen des Tauchkdrpers
Korrekturen

Zur Korrektur der Dichtebestimmung bei Festkorpern werden berlicksichtigt:

— Der Luftauftrieb, den die Probe bei der Wagung in Luft erfahrt.
Dabei ist p (a) = 0,0012 g/cm?® = Dichte der Luft unter Normalbedingungen
(Temperatur 20°C, Druck 101,325 kPa); Daraus folgt:

W) - [p(fl)-p(a)l
p= +p(a)
W (a) - W ()
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— Das Eintauchen der Driahte von Tauchkorb bzw. Tauchsieb
Bei Verwendung des vorliegenden Dichtebestimmungssets muss der Auftrieb
G = [W (a) - W (f)] mit dem Faktor 0,99983 (Korr) multipliziert werden. Erweiterte
Formel:

_ W) - [p () -p (a)l
[W (a) - W (f)] - Korr

+p (a)

Dieser Faktor ergibt sich durch Beriicksichtigung des Auftriebs der tiefer eintauchen-
den Drahte beim Einbringen der Probe.

Herleitung des Korrekturfaktors:

Der Auftrieb durch die eintauchenden Drahte ist abhéngig von der Héhe »h¢, um die
die Fliissigkeit beim Eintauchen der Probe steigt.

Dabei entspricht das Probenvolumen V (pr) dem Fliissigkeitsvolumen V (fl).
Das Probenvolumen wird durch Messen des Auftriebs ermittelt. Es ist also:

V (pr) =V (fl)
oder

W (a) - W () wt-h-D?

p (f1) 4

4 - [W(a) - W (fl)]
p (fl) - - D?

Dannisth =

Der durch die eintauchenden Driahte verursachte Auftrieb »A« ist:

2

A=2.

~h-p ()
4

Bei Einsetzen von »h« ergibt sich:

2-m-d*-4-[W(a)-WI(f)]-p (f)
4-p(f) - D

p:

d2
DZ

A=2-

- [W (@) - W ()]
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Zur Berlicksichtigung des Drahtauftriebes ist der ermittelte Auftrieb der Probe:
G =W (a) - W (fl) um den durch die Drahte verursachten Auftrieb »A« zu verringern.
Der in die Berechnung zu libernehmende Auftriebswert ,A (korr)" ist dann: G - ,A".

2

A (korr) = [W (a) - W (f)] - 2 -

- [W (@) - W ()]

DZ

: ‘ W (@) - W ()]

A (korr) = [1 -2

Im Dichtebestimmungsset wird fiir die Dichtebestimmung von Festkérpern das
Becherglas mit dem groBen Durchmesser (& 90 mm) und eine Tauchvorrichtung mit
2 Drahten mit dem Durchmesser 0,7 mm benutzt.

Bei Einsetzen der Werte fiir d = 0,7 mm und D = 90 mm ergibt sich der Korrekturfak-
tor aus:

0,72
90’

1-2- =0.99983

Bei Verwendung von Einrichtungen mit anderen Abmessungen ist der Korrekturfaktor
entsprechend neu zu errechnen.
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A propos de ce mode d’emploi

1 A propos de ce mode d'emploi

1.1 Validite

Ce manuel fait partie intégrante du produit fourni. Ce manuel est valable pour les
versions suivantes du produit :

Produit Type

Dispositif de détermination de la masse volumique pour ~ YDKO3MS
les balances de laboratoire Cubis® avec une précision de
lecture de 0,1 mg et 0,01 mg

Dispositif de détermination de la masse volumique pour ~ YDK04MS
les balances de laboratoire Cubis® avec une précision de
lecture de 1 mg

1.2 Autres documents associés

P> Veuillez consulter les documents suivants en plus de ce mode d'emploi :
— Manuel de la balance de laboratoire utilisée

1.3 Typographie

1.3.1 Avertissements dans la description des opérations

AVIS
Signale un danger qui est susceptible de provoquer des dommages matériels s'il n'est
pas évité.

1.3.2 Autres signes typographiques

> Instruction : décrit des actions qui doivent étre effectuées.

> Résultat : décrit le résultat des actions qui viennent d'étre effectuées.
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Sécurité

2  Sécurité

2.1 Utilisation conforme

Le produit permet de déterminer la masse volumique de solides ou de liquides. Pour
déterminer la masse volumique de solides, il est nécessaire d'utiliser un liquide de test.

Le produit doit étre utilisé avec des balances de laboratoire Sartorius ayant une
précision de lecture adaptée.

Si la balance de laboratoire est dotée d'un programme de détermination de la masse
volumique : le dispositif et le programme de détermination de la masse volumique
permettent de calculer automatiquement des valeurs de masse volumique.

Si des programmes de détermination de la masse volumique sont utilisés pour déter-
miner la masse volumique : la masse volumique doit étre déterminée de la maniére
décrite dans le mode d'emploi de la balance de laboratoire.

Le produit est exclusivement destiné a étre utilisé en conformité avec ce manuel.
Toute autre utilisation est considérée comme non conforme.

2.2 Composants en verre

Le plongeur en verre, les béchers et le thermomeétre sont en verre. Le verre risque de
provoquer des blessures s'il est endommagé.

P> Sile plongeur en verre, les béchers ou le thermométre sont endommagés : rempla-
cez-les.
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3 Description de l'appareil

3.1 YDKO3MS

IIl.1 : Composants de YDKO3MS

Pos. Désignation Pos. Désignation

1 Bécher (& 90 mm et & 55 mm) 5 Plongeur en verre

2 Structure de suspension 6 Tamis d'immersion

3 Clip de fixation pour thermometre, 7 Corbeille d'immersion

monté sur le thermometre a la livraison

4 Thermometre 8 Pont
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Description de I'appareil

3.2 YDK04MS

1.2 : Composants de YDK04MS

Pos. Désignation Pos. Désignation
1 Bécher (& 90 mm et & 55 mm)

2 Structure de suspension 6 Tamis d'immersion

ol

Plongeur en verre

3 Clip de fixation pour thermomeétre, monté 7 Corbeille d'immersion
sur le thermometre a la livraison

4 Thermometre 8 Pont
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4  Installation

4.1 Contenu de la livraison

Article Quantité
Bécher (& 90 mm et & 55 mm) 2
Structure de suspension 1
Clip de fixation pour thermometre 1
Thermometre 1
Plongeur en verre 1
Tamis d'immersion 1
Corbeille d'immersion 1
Pont 1

4.2 De¢ballage

Procédure

AVIS

Les composants risquent d'étre endommagés lors du déballage !

P Le produit comprend des composants tres fins. Déballez tous les éléments avec
précaution.

4.3 |Installer le produit

4.3.1 Installer YDKO3MS dans la balance
Conditions requises

Vous disposez d'une balance de laboratoire de type Cubis® avec une précision de
lecture de 0,1 mg ou de 0,01 mg.
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Procédure

p Retirez les éléments suivants de la balance :
— Plateau de pesée (1)
— Support de plateau (2)

P> Introduisez la structure de suspension dans la
chambre de pesée. L'ouverture cunéiforme qui se
trouve dans le haut de la structure de suspension
doit étre tournée vers le coté par lequel la corbeille
d'immersion (tamis d'immersion/plongeur en verre)
sera introduit dans la structure.

P> Passez le pont destiné a recevoir le bécher dans la
structure de suspension et posez-le de facon a ce
qu'il repose sur la balance.
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4.3.2 Installer YDKO4MS dans la balance

Conditions requises

Vous disposez d'une balance de laboratoire de type Cubis® avec une précision de
lecture de 1 mg.

Procédure
P Retirez le plateau de pesée (1) de la balance.

P> Introduisez la structure de suspension dans la
chambre de pesée. L'ouverture cunéiforme qui se
trouve dans le haut de la structure de suspension
doit étre tournée vers le coté par lequel la corbeille
d'immersion (tamis d'immersion/plongeur en verre)
sera introduit dans la structure.

P> Passez le pont destiné a recevoir le bécher dans la
structure de suspension et posez-le de facon a ce
qu'il repose sur la balance.
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4.3.3 Choisir le bécher et le dispositif d'immersion

Procédure

P> Choisissez le bécher ou le dispositif d'immersion.
Le choix du bécher et du dispositif d'immersion
dépend de I'échantillon dont il faut déterminer la
masse volumique.

Vue d'ensemble du bécher et du dispositif
d'immersion :

— Pour déterminer la masse volumique de solides
quand elle est supérieure a celle du liquide d'im-
mersion : il faut utiliser le bécher de & 90 mm et
la corbeille d'immersion.

— Pour déterminer la masse volumique de solides
quand elle est inférieure a celle du liquide d'immer-
sion : il faut utiliser le bécher de & 90 mm et le
tamis d'immersion.

— Pour déterminer la masse volumique de liquides :
il faut utiliser le bécher de & 55 mm et le plongeur
en verre.
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4.3.4 Installer le plongeur en verre

Un fil métallique doté d'un ceillet est fixé au plongeur
en verre. L'ceillet doit étre accroché au support du
plongeur en verre.

Procédure

P> AVIS Ne pas plier le fil métallique car il risquerait
de se casser ! Retirez le plongeur de I'emballage en
le tenant par I'ceillet en verre. Ne pliez pas le fil
métallique du plongeur en verre.

P> Accrochez I'eeillet en fil métallique du plongeur en
verre au crochet du support.

P> Fixez le support du plongeur en verre a la structure
de suspension.

4.3.5 Installer le thermometre

Procédure

P Mettez le thermometre dans le bécher.

p S'il est nécessaire de fixer le thermometre :
accrochez le thermomeétre au bord du bécher
a I'aide du clip de fixation.
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Fonctionnement

5 Fonctionnement

5.1 Méthodes de détermination de la masse volumique

Ce dispositif de mesure permet de déterminer la masse volumique d'un solide selon le

principe d'Archiméde :

— Tout corps plongé dans un fluide subit une force verticale dirigée de bas en haut.
Cette force est égale au poids du volume de fluide déplacé par le corps immergé.

— Avec une balance hydrostatique qui permet de peser un corps solide aussi bien
dans l'air que dans I'eau, il est possible de déterminer la masse volumique du solide
si on connait celle du liquide provoquant la poussée hydrostatique :

_ W@-p M)
W (a) - W (1)
ou

La masse volumique d'un liquide peut étre déterminée si le volume du solide immergé
est connu.

G
(=
P \Y
Avec :
P masse volumique du solide
p () masse volumique du liquide
W (a) poids du solide dans I'air
W (f1) poids du solide dans le liquide
G poussée hydrostatique du solide immergé

vV volume du solide immergé
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5.2 Sources d'erreur et possibilités de correction

AVIS

Procédure incorrecte lors de I'ajustage de la balance !

P> Enlevez le support a échantillon du dispositif de détermination de la masse
volumique avant I'ajustage.

La formule utilisée pour déterminer la masse volumique de solides est suffisante pour
obtenir une précision d'une a deux décimales. Selon la précision requise, il faut tenir
compte des facteurs d'erreur ou de correction suivants :

— Influence de la température sur la masse volumique du liquide provoquant la
poussée hydrostatique

— Poussée aérostatique lors de la pesée dans l'air

— Changement de la profondeur d'immersion de la coupelle a échantillon lors de
I'immersion de I'échantillon

— Adhésion du liquide au fil de suspension métallique de la coupelle a échantillon

— Bulles d"air sur I'échantillon

Certaines de ces erreurs peuvent étre corrigées par calcul. Pour cela, il est nécessaire
de mesurer la température du liquide, de corriger la masse volumique du liquide en
conséquence et de définir le diamétre intérieur du récipient contenant le liquide.

Influence de la température sur la masse volumique du liquide

La masse volumique du liquide provoquant la poussée hydrostatique dépend de la
température. La variation de la masse volumique par °C de température est de I'ordre de :

- 0,02% pour I'eau distillée
— 0,1% pour les alcools et les hydrocarbures

Le changement peut donc se manifester au niveau de la 3¢ décimale lors de la
détermination de la masse volumique.

Pour corriger la masse volumique du liquide en fonction de la température, procédez
comme suit :

— Mesurez la température du liquide avec le thermometre livré.

— Consultez le tableau au chapitre « 5.4 Valeurs de la masse volumique », page 70
pour connaitre la masse volumique de I'eau et utilisez cette masse volumique
pour p (f1).
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Poussée aérostatique

Selon la température, I'humidité de I'air et la pression atmosphérique, un cm? d'air
pése environ 1,2 mg. Quand un échantillon solide est pesé dans I'air, il est soumis a
une poussée aérostatique correspondante par cm® de son volume. L'erreur qui se
produit si on ne tient pas compte de la poussée aérostatique se manifeste donc au
niveau de la 3¢ décimale et doit €tre corrigée.

La formule suivante tient compte de la poussée aérostatique :

_ W) [p (M) -p ()]

Wa-wm  PW

Avec p (a) = 0,0012 g/em?® = masse volumique de I'air dans des conditions normales
(température 20 °C, pression 101,325 kPa).

Profondeur d'immersion

La coupelle qui sert a supporter et a immerger |'échantillon pendant la pesée dans le
liquide est maintenue par deux fils métalliques et elle est immergée a environ 30 mm
sous la surface du liquide. Etant donné que la balance est tarée avant chaque mesure,
la poussée hydrostatique provoquée par la partie immergée du dispositif n'influence
pas la détermination de la masse volumique.

Lors de la pesée dans le liquide, I'échantillon solide déplace un volume de liquide
correspondant a son propre volume. De ce fait, les fils de fixation de la coupelle sont
immergés plus profondément, ce qui entraine une poussée hydrostatique supplémen-
taire qui provoque une erreur lors de la détermination de la masse volumique.

La formule suivante permet de corriger cette erreur :

_ W@ -[p(M)-p (@)
0,99983 [W (a) - W (f)]

+p (a)

Etant donné que le facteur de correction est exclusivement déterminé par la géomé-
trie du dispositif, il faut obligatoirement utiliser le bécher ayant le plus grand diamétre
(90 mm) pour déterminer la masse volumique d'un solide. Le chapitre « 1 A propos de
ce mode d'emploi », page 52 explique comment ce facteur de correction a été

obtenu.
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Adhérence du liquide sur le fil métallique

Quand on immerge la corbeille (ou le tamis) dans le liquide provoquant la poussée
hydrostatique, le liquide adhére au fil métallique du fait des forces de capillarité et
génére ainsi un poids supplémentaire de I'ordre de quelques milligrammes.

Etant donné que pendant la pesée dans I'air et pendant celle dans le liquide, la
corbeille d'immersion (ou le tamis d'immersion) se trouve dans le liquide provoquant
la poussée et que la balance est tarée au début de chaque mesure, I'influence du
ménisque du liquide est négligeable.

Pour réduire la tension superficielle et la friction du liquide sur le fil métallique, on
ajoute trois gouttes de tensioactif (Mirasol Antistatic ou liquide vaisselle classique)
dans I'eau distillée qui se trouve dans le bécher.

Comme le liquide provoquant la poussée monte le long du fil, il peut arriver que la
valeur de poids évolue légerement apres I'apparition du symbole « g ». Il est donc
conseiller de lire la valeur de poids juste aprés I'apparition du « g ».

Bulles d'air

L'erreur de mesure causée par des bulles d'air collées a I'échantillon peut étre évaluée
de la facon suivante. Lors de la pesée dans I'eau, une bulle d'air d'un diamétre de

0,5 mm provoque une poussée hydrostatique supplémentaire inférieure a 0,1 mg.

Si la bulle d'air fait 1T mm de diamétre, la poussée hydrostatique supplémentaire sera
d'environ 0,5 mg et si elle fait 2 mm de diamétre, la poussée sera d'environ 4,2 mg.

Il est donc indispensable d'éliminer des bulles d'air de plus grande taille a I'aide d'un

pinceau fin ou d'un outil similaire.

Il est aussi possible de mouiller I'échantillon dans un autre récipient avant la pesée
dans le liquide.
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5.3 Détermination de la masse volumique

5.3.1 Détermination de la masse volumique de solides

Opérations préliminaires
Le liquide utilisé dans la description ci-dessous est de I'eau distillée.

Procédure

P Posez le bécher de grand diamétre (& 90 mm) au centre du pont.

> Remplissez le bécher avec de I'eau distillée jusqu'a environ 5 mm du bord.

P Ajoutez 3 gouttes de tensioactif dans I'eau distillée.

P Fixez le thermometre sur le bord du bécher avec le clip de fixation.

P Nettoyez la corbeille d'immersion avec un solvant (notamment les fils métalliques
qui seront immergés) et suspendez-la 4 la structure de suspension.

Procédure de mesure
Il s'agit de déterminer le poids de I'échantillon dans I'air.

Procédure

P> Tarez la balance.
P> Placez I'échantillon sur le plateau de la structure de suspension et pesez-le.
» Notez la valeur de poids W (a).

Détermination de la poussée hydrostatique G = W (a) - W (f1)

Procédure

P> Tarez la balance avec I'échantillon posé sur le plateau de la structure de suspension.

» Mettez I'échantillon dans la corbeille d'immersion. A cet effet, enlevez la coupelle
a échantillon du dispositif de mesure et veillez a ce qu'aucune nouvelle bulle d'air
n'y adhére lorsque vous la replongez dans le liquide. Pour cela, posez I'échantillon
directement en utilisant des pincettes ou un accessoire similaire.

P> Notez la valeur absolue de la poussée hydrostatique G affichée avec un signe -
(négatif).
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Calcul de la masse volumique

Procédure

P Lisez la température.

P> Utilisez le tableau qui se trouve en annexe pour déterminer la valeur de la masse
volumique p (fl) en tenant compte de la température qui vient d'étre mesurée.

P Calculez la masse volumique en appliquant la formule suivante :

_ W(a)-[p(fl) - 0,0012 g/em’]
0,99983 G

+ 0,0012 g/em?
Wi(a)etGeng;p (f)eng/em* G =W (a) - W (1)

5.3.2 Détermination de la masse volumique de solides ayant une masse
volumique inférieure a 1 g/em?

Il existe deux méthodes différentes pour déterminer la masse volumique de solides
ayant une masse volumique inférieure a 1 gfcm?.

Méthode 1

Dans cette méthode, le liquide utilisé pour créer la poussée hydrostatique est égale-
ment de I'eau distillée, mais on utilise la coupelle a échantillon dotée d'un tamis
retourné (tamis d'immersion).

Pour déterminer la poussée hydrostatique de I'échantillon, il faut le faire flotter a la
surface de I'eau, puis I'immerger a l'aide du tamis qui a été enlevé au préalable.

Il est aussi possible d'utiliser des pincettes ou un outil similaire pour glisser directe-
ment I'échantillon sous le tamis (sans retirer le tamis de la structure de suspension).

Si la poussée hydrostatique de la substance a mesurer est supérieure au poids du tamis
d'immersion, il suffit d'alourdir le tamis en ajoutant un poids supplémentaire sur le
plateau de la structure de suspension.
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Méthode 2

Dans cette méthode, le liquide utilisé pour créer la poussée hydrostatique a une masse
volumique inférieure a celle du solide dont il faut déterminer la masse volumique.

On obtient de bons résultats avec de I'éthanol (jusqu'a une masse volumique d'environ
0,8 g/cm?).

Les effets négatifs de la tension superficielle du liquide sur les résultats de mesure sont
moins significatifs lorsqu'on utilise de I'é¢thanol a la place d'eau distillée. Il n'est donc
pas nécessaire d'ajouter de tensioactif.

Si vous utilisez de I'¢thanol, vous devez suivre scrupuleusement les consignes de
sécurité en vigueur.

Cette seconde méthode devrait €tre utilisée si la masse volumique du solide ne différe
que tres légérement de celle de I'eau distillée. En effet, comme I'échantillon est
suspendu dans I'eau, des erreurs de mesure peuvent se produire si on utilise la
premiere méthode. Il est également recommandé d'utiliser la deuxieme méthode
pour déterminer la masse volumique de substances granuleuses, car avec la premiere
méthode, il est difficile de mettre tous les granulés sous le tamis.

Il ne faut pas utiliser d'éthanol si ce dernier risque d'attaquer (dissoudre) I'échantillon.

Opérations préliminaires
Le liquide utilisé dans la description ci-dessous est de I'eau distillée.

Procédure

Posez le bécher de grand diamétre (& 90 mm) au centre du pont.

Remplissez le bécher avec de I'eau distillée jusqu'a environ 5 mm du bord.

Ajoutez 3 gouttes de tensioactif dans I'eau distillée.

Fixez le thermométre sur le bord du bécher avec le clip de fixation.

Nettoyez le tamis d'immersion avec un solvant (notamment les fils métalliques qui
seront immergés) et suspendez-le a la structure de suspension.

VVVYVYY
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Procédure de mesure
Il s'agit de déterminer le poids de I'échantillon dans I'air.

Procédure

P Tarez la balance.
P> Placez I'échantillon sur le plateau de la structure de suspension et pesez-le.
» Notez la valeur de poids W (a).

Détermination de la poussée hydrostatique G = W (a) - W (fl)

Procédure

P> Tarez la balance avec I'échantillon posé sur le plateau de la structure de
suspension.

» Mettez I'échantillon dans la corbeille d'immersion. A cet effet, enlevez la coupelle
a échantillon du dispositif de mesure et veillez a ce qu'aucune nouvelle bulle d'air
n'y adhére lorsque vous la replongez dans le liquide. Si possible, posez I'échantillon
directement en utilisant des pincettes ou un accessoire similaire.

» Notez la valeur absolue de la poussée hydrostatique G affichée avec un signe -
(négatif).

Calcul de la masse volumique

Procédure

P Lisez la température.

P Utilisez le tableau qui se trouve dans le chapitre « 5.4 Valeurs de la masse
volumique », page 70 pour déterminer la valeur de la masse volumique p (f1)
en tenant compte de la température qui vient d'étre mesurée.

P Calculez la masse volumique en appliquant la formule suivante :

W) p ()

+0,0012 g/cm®
0,99983 G

W(a)etGeng;p (f)eng/em*G =W (a) - W ()
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5.3.3 Détermination de la masse volumique de liquides
Opérations préliminaires

Procédure

P Posez le bécher de petit diamétre (& 55 mm) au centre du pont.
P Fixez le thermometre sur le bord du bécher avec le clip de fixation.

Procédure de mesure

Procédure

P Accrochez le disque conique avec le plongeur en verre accroché a un fil métallique
a la structure de suspension.

P Tarez la balance.

- Remplissez le bécher avec le liquide dont il faut déterminer la masse volumique
jusqu'a 10 mm au dessus du plongeur en verre.

Détermination de la poussée hydrostatique G = W (a) - W (fl)

La valeur de poids négative affichée par la balance correspond a la poussée
hydrostatique a laquelle est soumis le plongeur en verre dans le liquide.

Procédure

» Notez la poussée hydrostatique G affichée avec un signe - (négatif).
P Lisez la température et notez-la.
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Calcul de la masse volumique

Procédure
P> Calculez la masse volumique en appliquant la formule suivante :

Geng;Vencm?

Le plongeur en verre du dispositif de détermination de la masse volumique a un
volume de 10 cm®.

Il est trés facile d'obtenir la masse volumique du liquide (en g/em?) : il suffit de déplacer
(mentalement) la virgule d'une décimale vers la gauche sur I'écran de la balance.

5.4 Valeurs de la masse volumique

Valeurs de la masse volumique d'H,0 (eau sans gaz) a une température T (en °C)
en g/em?®

T/°C 0.0 0.1 0.2 0.3 0.4 0.5 0.6 0.7 0.8 0.9
10 099970 099969 099968 099967 099966 0,99965 099964 0,99963 099962 0,99961
1 099960 099959 0,99958 099957 099956 0,99955 099954 0,99953 099952 0,99951
12 099950 099949 099947 099946 099945 099944 099943 0,99941 099940 0,99939
13 099938 099936 099935 099934 099933 099931 099930 0,99929 099927 0,99926
14 099924 099923 099922 099920 099919 099917 099916 099914 099913 099911
15 099910 099908 0,99907 099905 099904 099902 099901 0,99899 099897 0,99896
16 099894 099893 099891 099889 099883 099886 099884 099883 099881 099879
17 099877 099876 099874 099872 099870 0,99869 099867 0,99865 099863 0,99861
18 099860 099858 099856 099854 099852 0,99850 099848 0,99846 099844 0,99842
19 099840 099838 099837 099835 099833 0,99831 099829 0,99826 099824 0,99822
20 099820 099818 099816 099814 099812 099810 099808 0,99806 099803 0,99801
21 099799 099797 099795 099793 099790 099788 099786 0,99784 099781 0,99779
2 099777 099775 099772 099770 099768 099765 099763 099761 099758 0,99756
23 099754 099751 099749 099747 099744 099742 099739 099737 099734 099732
2 099729 099727 099725 099722 099720 099717 099714 099712 099709 0,99707
25 099704 099702 099699 099697 099694 099691 099689 099686 099683 0,99681
26 099678 099676 0,99673 099670 099667 099665 099662 0,99659 099657 0,99654
27 099651 099648 099646 099643 099640 099637 099634 0,99632 099629 0,99626
28 099623 099620 099617 099615 099612 0,99609 099606 0,99603 099600 099597
29 099594 099591 099588 099585 099582 0,99579 099576 099574 099571 099568
30 099564 099561 099558 099555 099552 0,99549 099546 0,99543 099540 0,99537

Références bibliographiques :

— NIST ITS-90 Density of Water Formulation for Volumetric Standards Calibration, Volume 97, Number 3, Chapter 3.3
Density of Air-Free Water p (kg m~?) = 999.85308 + 6.32693 x 102 t - 8.523829 x 107 t2 + 6.943248 x 10~° t3 -
3.821216 x 107 t4

— DAKKS-DKD-LF-8-2 Kalibrierfliissigkeit Wasser - DakkS, annexe 1, tableau A
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6 Formules

Pour une meilleure compréhension, vous trouverez ci-aprés une explication de la
maniére dont on a obtenu les formules utilisées ainsi que le facteur de correction.

Principes de base

Masse
Masse volumique = 9

Volume (cm?)

Principe d'Archimeéde :

Tout corps plongé dans un fluide subit une force verticale (G). Cette force est égale au
poids du volume de fluide déplacé par le corps. Le volume d'un corps immergé V (s) est
égal au volume du liquide déplacé V (f1).

On détermine :
1. Le poids dans I'air W (a)

2. La poussée hydrostatique du corps solide dans le liquide (G)

La masse volumique d'un corps est :

Masse du corps W (a) W (a)

p =
Volume du corps V (s) V (f1)

Si la masse volumique p (f1) du liquide déplacé est connue, alors

v (fl) - Masse (f1) _ G

P p (f1)

Par conséquent :

W () - p (fl)
G
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Calcul
La masse volumique d'un corps solide est calculée a partir de I'équation :

p:W(a)=p(fl):[W()-WI(f)]
Il en résulte :

W (a) - p (f1)
W (a) - W (fl)

W (a) - W (fl) = G = poussée hydrostatique de I'échantillon

La masse volumique d'un liquide est calculée a partir de la poussée hydrostatique du
corps immergé, qui a un volume défini.

G
p(M)=—
\%
avec :
p masse volumique du solide
p (fl) masse volumique du liquide

W (a) poids du solide dans I'air
W (f1) poids du solide dans le liquide
G poussée hydrostatique du solide immergé

Vv volume du solide immergé

Corrections

Pour corriger la masse volumique de solides, il faut tenir compte des facteurs suivants :

— La poussée aérostatique a laquelle I'échantillon est soumis lors de la pesée dans I'air.
Avec p (a) = 0,0012 g/cm® = masse volumique de I'air dans des conditions normales
(température 20 °C, pression101,325 kPa) ; il en résulte :

W) - [p(fl)-p (a)
p= +p(a)
W (a) - W ()
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— L'immersion des fils métalliques de la corbeille ou du tamis d'immersion
Quand on utilise ce dispositif de détermination de la masse volumique, il faut
multiplier la poussée hydrostatique G = [W (a) - W (fl)] par le facteur 0,99983
(Corr). Formule avancée :

W (a) - [p () - p (a)]

P W@ - W ()] - Corr PG

Ce facteur prend en compte la poussée hydrostatique des fils métalliques qui sont
davantage immergés quand on pose I'échantillon.

Détermination du facteur de correction :

La poussée hydrostatique causée par les fils métalliques immergés dépend de la
hauteur « h » d'élévation du niveau de liquide quand on immerge I'échantillon.

Le volume de I'échantillon V (pr) correspond au volume du liquide V (f1).
Le volume de I'échantillon est déterminé en mesurant la poussée hydrostatique.
Par conséquent, on a :

V (pr) =V (1)

ou

W (a) - W (fl) B wt-h-D?
p (M) 4

4 - [W (a) - W (fI)]
p (fl) - - D?

Soit h =

La poussée hydrostatique « A » causée par les fils métalliques immergés est :
m - d?

4

A=2- -h-p (fl)

En utilisant « h », on obtient :
2-m-d?*-4-[W()-WI(]-p(f)
4.p(fl) - x- D?

p:

d2
DZ

A=2- - [W (@) - W ()]
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Pour tenir compte de la poussée hydrostatique des fils métalliques, il faut soustraire la
poussée hydrostatique « A » produite par les fils de la poussée hydrostatique détermi-
née pour I'échantillon : G = W (a) - W (fl). La valeur de la poussée hydrostatique

« A (corr) » a utiliser est donc : G — « A ».,

2

A (corr) = [W (a) - W ()] - 2 - - [W(a) - W ()]

Af(corr)=1|1-2-

D2

Pour déterminer la masse volumique de solides, on utilise le bécher de grand diametre
(d 90 mm) et un dispositif d'immersion avec deux fils métalliques de 0,7 mm de
diameétre.

Quand on utilise les valeurs d = 0,7 mm et D = 90 mm, le facteur de correction est :

0,7*
90?

1-2- =0,99983

Si on utilise des dispositifs de dimensions différentes, il faut recalculer le facteur de
correction en conséquence.
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Riguardo questo manuale

1 Riguardo questo manuale

1.1 Validita

Il presente manuale fa parte del prodotto. Il manuale vale per il prodotto nelle
seguenti versioni:

Prodotto Tipo

Dispositivo per la determinazione della densita per bilance YDKO3MS
da laboratorio Cubis® con una precisione di lettura di
0,1 mg e 0,01 mg

Dispositivo per la determinazione della densita per bilance YDK04MS
da laboratorio Cubis® con una precisione di lettura di 1 mg

1.2 Documenti di riferimento

P> Oltre al presente manuale tenere in considerazione anche i seguenti documenti:
- Manuale della bilancia da laboratorio utilizzata

1.3 Spiegazione dei simboli

1.3.1 Avvertenze nelle descrizioni delle azioni

AWISO

L'avviso segnala un pericolo che potrebbe causare danni materiali se non fosse evitato.

1.3.2 Ulteriori simboli utilizzati

> Istruzione operativa: descrive delle attivita che devono essere eseguite.

> Risultato: descrive il risultato delle attivita esequite.
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2  Sicurezza

2.1 Uso previsto

Il prodotto serve a determinare la densita di corpi solidi o di liquidi. Per la determina-
zione della densita di corpi solidi si deve usare un liquido di prova.

Il prodotto deve essere fatto funzionare con bilance da laboratorio Sartorius aventi
una precisione di lettura idonea.

Se la bilancia da laboratorio ¢ dotata di un programma per la determinazione della
densita: i valori della densita possono essere calcolati automaticamente mediante il
dispositivo e il programma per la determinazione della densita.

Se per la determinazione della densita si utilizzano dei programmi appositi: la densita
deve essere determinata secondo la procedura descritta nel manuale d'uso della
bilancia da laboratorio.

Il prodotto ¢ destinato ad essere usato solo in conformita a quanto descritto nel
presente manuale. Qualsiasi altro uso ¢ da considerarsi non conforme alla destinazione.

2.2 Componenti in vetro

Il piombo, i becher e il termometro sono in vetro. Se il vetro ¢ danneggiato, esso puo
essere causa di lesioni.

P> Se il piombo in vetro, i becher o il termometro sono danneggiati: questi devono
essere sostituiti.
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3 Descrizione del dispositivo

3.1 YDKO3MS

Fig. 1: Componenti di YDKO3MS

Pos. Denominazione Pos. Denominazione

1 Becher (& 90 mm e & 55 mm) 5 Piombo in vetro

2 Struttura di sospensione 6 Setaccio di immersione
3 Clip di fissaggio per termometro, alla 7 Cestino di immersione

consegna ¢ montata sul termometro

4 Termometro 8 Ponte

78 Manuale d'uso YDKO3MS | YDK04MS



3.2

YDK04MS

Descrizione del dispositivo

Fig.2: Componenti di YDK0O4MS

Pos. Denominazione Pos. Denominazione

1 Becher (& 90 mm e & 55 mm) 5 Piombo in vetro

2 Struttura di sospensione 6 Setaccio di immersione

3 Clip di fissaggio per termometro, alla 7 Cestino di immersione
consegna ¢ montata sul termometro

4 Termometro 8 Ponte
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4 Installazione

4.1 Equipaggiamento fornito

Articolo Quantita
Becher (& 90 mm e & 55 mm) 2
Struttura di sospensione 1
Clip di fissaggio per termometro 1
Termometro 1
Piombo in vetro 1
Setaccio di immersione 1
Cestino di immersione 1
Ponte 1

4.2 Disimballare

Procedura

AWISO

Rischio di danneggiamento dei componenti durante il disimballaggio!

» |l prodotto ¢ costituito da componenti delicati. Disimballare con cura tutti i
componenti.

4.3 Montare il prodotto

4.3.1 Montare YDKO3MS nella bilancia

Presupposti

Viene usata una bilancia da laboratorio del tipo Cubis’ con una precisione di lettura di
0,1 mg 00,01 mg.
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Procedura

P Togliere le sequenti parti dalla bilancia:
- Piatto di pesata (1)
- Supporto del piatto (2)

P> Inserire la struttura di sospensione nella camera di
pesata. L'apertura cuneiforme nella parte superiore
della struttura di sospensione deve essere rivolta
nel verso da cui verra posizionato il cestino di
immersione (setaccio di immersione/piombo in
vetro).

P Posizionare il ponte, che serve come sede per il
becher, attraverso la struttura di sospensione in
modo che poggi sulla bilancia.
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4.3.2 Montare YDK0O4MS nella bilancia

Presupposti

Viene usata una bilancia da laboratorio del tipo Cubis” con una precisione di lettura di
1 mg.

Procedura
p Togliere il piatto di pesata (1) dalla bilancia.

P> Inserire la struttura di sospensione nella camera di
pesata. L'apertura cuneiforme nella parte superiore
della struttura di sospensione deve essere rivolta
nel verso da cui verra posizionato il cestino di
immersione (setaccio di immersione/piombo in
vetro).

P> Posizionare il ponte, che serve come sede per il
becher, attraverso la struttura di sospensione in
modo che poggi sulla bilancia.
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4.3.3 Scegliere il becher e il dispositivo di
immersione

Procedura

P> Scegliere il becher o il dispositivo di immersione.
La scelta del becher e del dispositivo di immersione
dipende dal tipo di campione da determinare.

Visione d'insieme del becher e del dispositivo di
immersione:

— Per determinare la densita di corpi solidi aventi
una densita superiore a quella del liquido di
immersione: € necessario usare un becher con
@ di 90 mm e un cestino di immersione.

— Per determinare la densita di corpi solidi aventi una
densita inferiore a quella del liquido di immersione:
€ necessario usare un becher con & di 90 mm e un
setaccio di immersione.

— Per determinare la densita di liquidi: € necessario
usare un becher con & di 55 mm e un piombo in
vetro.
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4.3.4 Montare il piombo in vetro

Sul piombo in vetro ¢ fissato un filo metallico
provvisto di occhiello. L'occhiello deve essere appeso
al supporto del piombo in vetro.

Procedura

» AWVISO Non piegare il filo metallico perché
potrebbe rompersi! Estrarre il piombo dall'imballag-
gio dalla parte dell'occhiello in vetro. Non piegare il
filo metallico durante questa operazione.

p Appendere I'occhiello del filo del piombo in vetro
nel gancio del supporto.

P> Fissare il supporto del piombo in vetro alla struttura
di sospensione.

4.3.5 Montare il termometro

Procedura

p Mettere il termometro nel becher.

P Se il termometro deve essere fissato: fissare il
termometro al bordo di vetro con la clip di
fissaggio.
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5 Uso

5.1 Metodi per la determinazione della densita

Con questo dispositivo di misurazione si applica il principio di Archimede per
determinare la densita di un corpo solido:

— Un corpo immerso in un liquido riceve una spinta verticale dal basso verso |'alto.
Questa forza ¢ uguale per intensita al peso del volume di liquido spostato dal
COorpo immerso.

— Con una bilancia idrostatica che permette di pesare il corpo solido sia in aria che
in acqua, ¢ possibile determinare la densita di un corpo solido se la densita del
fluido che causa la spinta idrostatica ¢ nota:

W (a) - p (1)

P W -wm

oppure

determinare la densita di un liquido se € conosciuto il volume del solido immerso.

G

p () = v
Dove:
P densita del corpo solido
p (fl) densita del liquido
W (a) peso del corpo solido in aria
W (f1) peso del corpo solido nel liquido
G spinta idrostatica del corpo solido immerso
vV volume del corpo solido immerso
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5.2 Fonti di errore e possibilita di correzione

AWISO

Procedura errata durante la regolazione della bilancia!

P Togliere il supporto per campioni del dispositivo per la determinazione della
densita prima di esequire la regolazione.

La formula per la determinazione della densita di corpi solidi ¢ sufficiente per ottenere
una precisione di uno fino a due decimali. In base alla precisione richiesta, si devono
tenere in considerazione i sequenti fattori di errore e di correzione:

— Influenza della temperatura sulla densita del liquido che causa la spinta idrostatica

- Spinta aerostatica durante la pesata in aria

— Cambiamento della profondita di immersione della coppella per campioni quando
si immerge il campione

— Adesione del liquido sul filo di sospensione della coppella per campioni

— Bolle d'aria sul campione

Alcuni di questi errori possono essere corretti matematicamente. A questo scopo €
necessario misurare la temperatura del liquido e correggere la sua densita in modo
corrispondente e definire il diametro interno del recipiente contenente il liquido.

Influenza della temperatura sulla densita del liquido

La densita del liquido che causa la spinta idrostatica dipende dalla temperatura.
La variazione della densita dipendente da una modifica della temperatura in °C ¢
dell'ordine di:

- 0,02% per acqua distillata

— 0,1% per gli alcoli e idrocarburi

Tale variazione pud manifestarsi a livello del 3° decimale durante la determinazione
della densita.

Per correggere la densita del liquido in funzione della temperatura, procedere come
segue:

— Misurare la temperatura del liquido con il termometro fornito.
— Consultare la tabella al capitolo “5.4 Valori della densita", pagina 94, per
conoscere la densita dell'acqua e usare questa densita per p (fl).
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Spinta aerostatica

Un volume di 1 cm? d'aria ha un peso di circa 1,2 mg a seconda della temperatura,
dell'umidita dell'aria e della pressione atmosferica. Quando un corpo viene pesato
in aria, € sottoposto ad una spinta aerostatica corrispondente per ogni cm® del suo
volume. L'errore che ne risulta qualora non venisse considerata la spinta aerostatica
si manifesta a livello del terzo decimale e quindi dovrebbe essere corretto.

La seguente formula tiene conto della spinta aerostatica:

_ W) [p (M) -p ()]

Wa-wm  PW

Dove p (a) = 0,0012 g/cm?® = densita dell'aria in condizioni normali (temperatura 20°C,
pressione 101,325 kPa).

Profondita di immersione

La coppella per portare o immergere il campione durante la pesata nel liquido € tenuta
fissa da due fili metallici ed € immersa nel liquido ad una profondita di ca. 30 mm.
Dato che la bilancia viene tarata prima di ogni misurazione, la spinta idrostatica
aggiuntiva causata dalla parte immersa del dispositivo di misurazione non influenza

la determinazione della densita.

Quando un campione solido viene pesato nel liquido, sposta un volume di liquido
uguale al volume del campione stesso. Cid comporta un aumento della profondita
di immersione dei fili di fissaggio della coppella e la generazione di una spinta
idrostatica aggiuntiva che provoca un errore nella determinazione della densita.

Per correggere questo errore viene applicata la sequente formula:

_ W@ -[p(M)-p (@)
0.99983 [W (a) - W (f)]

+p (a)

Dato che il fattore di correzione € stato determinato esclusivamente per la geometria
del dispositivo in questione, ¢ essenziale che per la determinazione della densita di un
corpo solido venga usato solo ed esclusivamente il becher con il diametro piu grande
(90 mm) fornito con la dotazione. Per il calcolo di questo fattore di correzione si
rimanda al capitolo "6 Formule”, pagina 95.
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Adesione del liquido sul filo metallico

Quando il cestino (o il setaccio) viene immerso nel liquido che produce la spinta
idrostatica, il liquido sale lungo il filo metallico a causa delle forze di adesione e
genera un peso supplementare dell'ordine di qualche milligrammo.

Dato che il cestino di immersione (o il setaccio) si trova nel liquido sia durante la
pesata in aria sia durante la pesata nel liquido e dato che la bilancia viene tarata
all'inizio di ogni misurazione, I'effetto di menisco del liquido puo essere trascurato.

Per ridurre la tensione superficiale e la frizione del liquido sul filo metallico, aggiun-
gere tre gocce di un tensioattivo (un antistatico oppure un comune detersivo per
stoviglie) all'acqua distillata contenuta nel becher.

Siccome il liquido sale lungo tutto il filo, il peso puo variare leggermente anche dopo
che € apparso il simbolo "g". Si consiglia quindi di leggere il valore del peso non
appena appare il simbolo "g".

Bolle d'aria

L'errore di misurazione causato da bolle d'aria che aderiscono al campione puo essere
calcolato nel modo sequente. Durante la pesata in acqua una bolla d'aria con un
diametro di 0,5 mm causa una spinta idrostatica aggiuntiva leggermente inferiore a
0,1 mg. Se il suo diametro € di 1 mm, la spinta idrostatica aggiuntiva sara di 0,5 mg
e se il diametro € di 2 mm sara di 4,2 mg. Bolle d'aria di diametro maggiore devono
quindi essere assolutamente eliminate con I'aiuto di un pennellino o altri utensili.

Si puo anche bagnare il campione in un recipiente a parte prima di pesarlo nel liquido.
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5.3 Determinazione della densita

5.3.1 Determinazione della densita di corpi solidi

Preparazione
Nella sequente descrizione il liquido impiegato € acqua distillata.

Procedura

P Posizionare il becher di grande diametro (& 90 mm) al centro del ponte.

P> Riempire il becher con I'acqua distillata fino a 5 mm dal bordo.

P Aggiungere le tre gocce di tensioattivo nell'acqua distillata.

> Applicare il termometro al bordo del becher usando la clip di fissaggio.

B Pulire il cestino di immersione con del solvente (in particolare i fili metallici che

saranno immersi) e appenderlo alla struttura di sospensione.

Procedimento di misurazione
Si deve determinare il peso del campione in aria.

Procedura

P> Tarare la bilancia.
P Mettere il campione sul piatto della struttura di sospensione e pesare.
» Annotare il peso W (a).

Determinazione della spinta idrostatica G = W (a) - W (fl)

Procedura

P> Tarare la bilancia con il campione posto sul piatto della struttura di sospensione.
P Collocare il campione nel cestino di immersione. A tale scopo staccare la coppella
dal dispositivo di misurazione e fare attenzione che non aderiscano delle bolle

d'aria nuove quando viene reimmersa nel liquido; per questo € preferibile mettere
il campione direttamente usando una pinzetta o utensili simili.

P Annotare il valore assoluto della spinta idrostatica "G" visualizzata con un segno
negativo.
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Calcolo della densita

Procedura

p Leggere la temperatura.

P Usare la tabella in appendice per determinare il valore della densita p (fl) tenendo
in considerazione la temperatura appena misurata.

P Calcolare la densita applicando la formula seguente:

_ W(a)-[p(fl) - 0.0012 g/em’]
- 0.99983 G

+ 0.0012 g/em?
W(a)eGing;p (fl)ing/em®G =W (a) - W (fl)

5.3.2 Determinazione della densita di corpi solidi con una densita inferiore a
1 g/em?®

Esistono due metodi per determinare la densita di corpi solidi con una densita
inferiore a 1 g/cm®.

Metodo 1

II'liquido usato per creare la spinta idrostatica € acqua distillata. La coppella per
campioni viene usata con il setaccio capovolto (setaccio di immersione).

Per determinare la spinta idrostatica del campione, esso viene fatto galleggiare sulla
superficie dell'acqua e poi viene immerso utilizzando il setaccio tolto in precedenza.

Si puo anche utilizzare una pinzetta o utensili simili per collocare direttamente il
campione sotto il setaccio (senza togliere il setaccio dalla struttura di sospensione).

Se la spinta idrostatica della sostanza da misurare ¢ maggiore del peso del setaccio,
aumentare il peso del setaccio aggiungendo un peso supplementare al piatto della
struttura di sospensione.
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Metodo 2

Per creare la spinta idrostatica viene utilizzato un liquido la cui densita ¢ inferiore a
quella del corpo solido di cui si deve determinare la densita. Sono stati ottenuti buoni
risultati usando I'etanolo (fino ad una densita di ca. 0,8 g/cm?).

Gli effetti negativi della tensione superficiale del liquido sui risultati di misurazione
sono meno evidenti se si usa I'etanolo al posto dell'acqua distillata. Non € quindi
necessario aggiungere il tensioattivo.

Se si usa I'etanolo si devono osservare scrupolosamente le norme di sicurezza vigenti.

Questo secondo metodo dovrebbe essere usato se la densita del corpo solido varia solo
leggermente da quella dell'acqua distillata. Dato che il campione € sospeso dentro
I'acqua, potrebbero verificarsi degli errori di misurazione se si utilizza il primo metodo.
Allo stesso modo si consiglia di utilizzare il secondo metodo per la determinazione
della densita di sostanze granulari, in quanto con il primo metodo sarebbe difficile
mettere completamente il campione granulare sotto il setaccio.

Si dovrebbe evitare I'uso di etanolo se questo puo attaccare o dissolvere il campione.

Preparazione
Nella sequente descrizione il liquido impiegato € acqua distillata.

Procedura

P Posizionare il becher di grande diametro (& 90 mm) al centro del ponte.

P> Riempire il becher con I'acqua distillata fino a 5 mm dal bordo.

» Aggiungere tre gocce di tensioattivo nell'acqua distillata.

P Applicare il termometro al bordo del becher usando la clip di fissaggio.

B Pulire il setaccio di immersione con del solvente (in particolare i fili metallici che

saranno immersi) e appenderlo nella struttura di sospensione.
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Procedimento di misurazione
Si deve determinare il peso del campione in aria.

Procedura

P Tarare la bilancia.
P Mettere il campione sul piatto della struttura di sospensione e pesare.
p Annotare il peso W (a).

Determinazione della spinta idrostatica G = W (a) - W (fl)

Procedura

P> Tarare la bilancia con il campione posto sul piatto della struttura di sospensione.
P> Collocare il campione nel cestino di immersione. A tale scopo staccare la coppella
dal dispositivo di misurazione e fare attenzione che non aderiscano delle bolle

d'aria nuove quando viene reimmersa nel liquido; per questo € preferibile mettere
il campione direttamente usando una pinzetta o utensili simili.

p Annotare il valore assoluto della spinta idrostatica “G" visualizzata con un segno
negativo.

Calcolo della densita

Procedura

P Leggere la temperatura.

P> Usare la tabella nel capitolo "5.4 Valori della densita”, pagina 94, per determi-
nare il valore della densita p (fl) tenendo in considerazione la temperatura appena
misurata.

P Calcolare la densita applicando la formula seguente:

o= W@ P 6017 gem:
0.99983 G

W(a)eGing;p (fl)inglem®G =W (a) - W (fl)
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5.3.3 Determinazione della densita di liquidi

Preparazione

Procedura

B Posizionare il becher di piccolo diametro (& 55 mm) al centro del ponte.
P Applicare il termometro al bordo del becher usando la clip di fissaggio.

Procedimento di misurazione

Procedura

> Appendere il disco conico con il piombo in vetro appeso ad un filo nella struttura
di sospensione.

P> Tarare la bilancia.

P> Riempire il becher con il liquido di cui deve essere determinata la densita fino a
10 mm sopra il piombo in vetro.

Determinazione della spinta idrostatica G = W (a) - W (fl)

[l valore di peso negativo visualizzato dalla bilancia corrisponde alla spinta idrostatica
che agisce sul piombo in vetro nel liquido.

Procedura

P Annotare la spinta idrostatica "G" visualizzata con un segno negativo.
P Leggere la temperatura e annotarla.
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Calcolo della densita

Procedura
P Calcolare la densita applicando la formula seguente:

G ¢ espresso in g; Vin cm?®

Il piombo in vetro incluso nel dispositivo per la determinazione della densita ha un
volume di 10 cm?.

E facile ottenere la densita del liquido (in g/cm?): basta spostare la virgola del valore
che appare sul display di un decimale verso sinistra.

5.4 Valori della densita

Valori della densita di H,0 (acqua priva di gas) alla temperatura T (in °C) in g/em®

T/°C 0,0 0,1 0,2 0,3 0.4 0,5 0,6 0,7 0,8 0,9

10 0,99970 0,99969 099968 0,99967 099966 0,99965 0,99964 0,99963 0,99962 0,99961
1" 0,99960 099959 0,99958 0,99957 0,99956 0,99955 0,99954 099953 0,99952 0,99951
12 0,99950 0,99949 0,99947 0,99946 0,99945 0,99944 0,99943 099941 099940 0,99939
13 0,99938 0,99936 099935 0,99934 099933 0,99931 099930 0,99929 099927 0,99926
14 099924 099923 0,99922 0,99920 0,99919 099917 099916 099914 0,99913 0,99911
15 099910 0,99908 0,99907 0,99905 0,99904 0,99902 0,99901 099899 0,99897 0,99896
16 0,99894 0,99893 0,99891 0,99889 099888 0,99886 099884 0,99883 099881 0,99879
17 0,99877 099876 099874 0,99872 0,99870 0,99869 0,99867 0,99865 099863 0,99861
18 0,99860 099858 099856 0,99854 0,99852 0,99850 0,99848 0,99846 0,99844 099842
19 0,99840 099838 099837 0,99835 0,99833 0,99831 0,99829 0,99826 099824 0,99822
20 0,99820 099818 099816 0,99814 0,99812 0,99810 0,99808 099806 099803 0,99801
21 099799 099797 099795 0,99793 0,99790 0,99788 0,99786 099784 099781 099779
22 099777 099775 099772 099770 099768 0,99765 0,99763 099761 099758 0,99756
23 099754 099751 099749 099747 099744 099742 099739 099737 099734 0,99732
24 099729 099727 099725 099722 099720 0,99717 099714 099712 099709 0,99707
25 0,99704 0,99702 099699 0,99697 099694 0,99691 099689 0,99686 0,99683 0,99681
26 099678 099676 0,99673 0,99670 0,99667 0,99665 0,99662 099659 099657 0,99654
27 099651 0,99648 0,99646 0,99643 0,99640 0,99637 099634 099632 099629 0,99626
28 0,99623 099620 099617 099615 0,99612 0,99609 0,99606 0,99603 0,99600 0,99597
29 099594 0,99591 099588 0,99585 0,99582 0,99579 0,99576 0,99574 0,99571 0,99568
30 0,99564 099561 099558 0,99555 0,99552 0,99549 0,99546 0,99543 0,99540 0,99537

Riferimenti bibliografici

— NIST ITS-90 Density of Water Formulation for Volumetric Standards Calibration, Volume 97, Number 3, Chapter 3.3
Density of Air-Free Water p (kg m~?) = 999.85308 + 6.32693 x 102 t - 8.523829 x 107 t2 + 6.943248 x 10~° t3 -
3.821216 x 1077 t4

— DAKkS-DKD-LF-8-2 Kalibrierfliissigkeit Wasser - DakkS, Anlage 1, Tabelle A
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6  Formule

Ai fini di una migliore comprensione, segue una spiegazione su come sono stati
derivati le formule usate e il fattore di correzione.

Principi fondamentali

Massa
Densita = ©)

Volume (cm?)

Il principio di Archimede:

Un corpo immerso in un liquido riceve una spinta verticale dal basso verso I'alto (G).
Questa forza ¢ uguale per intensita al peso del volume di liquido spostato dal corpo
immerso. Il volume di un corpo immerso V (s) € uguale al volume del liquido spostato
V (fl).

Si determinano:
1. Il peso in aria W (a)

2. Spinta idrostatica del corpo nel liquido (G)

La densita di un corpo ¢€:

Massa del corpo W (a) W (a)

p =
Volume del corpo V (s) V (f1)

Se la densita p (fl) del liquido spostato ¢ conosciuta, si ha

v (fl) - Massa (1) _ G

P p (f1)

percio:

W () - p (fl)
G
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Calcolo
La densita di un corpo solido & calcolata con I'equazione

p:Wia)=p (f): [W(a) - WI()]

Risulta:
_ W@-p
W (a) - W (fl)

W (a) - W (fl) = G = spinta idrostatica del campione

La densita di un liquido viene determinata in base alla spinta idrostatica del corpo
immerso che ha un volume definito.

G
p(M)=—
\%
Dove:
p densita del corpo solido

p (f1) densita del liquido
W (a) peso del corpo solido in aria

W (f1) peso del corpo solido nel liquido

G spinta idrostatica del corpo solido immerso
Vv volume del corpo solido immerso
Correzioni

Per la correzione della determinazione della densita di corpi solidi si tengono in
considerazione i sequenti fattori:

— La spinta aerostatica applicata al campione durante la pesata in aria.
Dove p (a) = 0,0012 g/cm?® = densita dell'aria in condizioni normali (temperatura
20°C, pressione 101,325 kPa); ne consegue che:

W) -[p(fl)-p @)
p= +p(a)
W (a) - W (fl)
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— L'immersione dei fili metallici del cestino di immersione o del setaccio.
Usando il dispositivo per la determinazione della densita, si deve moltiplicare
la spinta idrostatica G = [W (a) - W (fl)] per il fattore 0,99983 (corr). Formula
avanzata:

W) -[p(fl)-p @)
p= +p(a)
[W (a) - W (f)] - Corr

Questo fattore prende in considerazione la spinta idrostatica dei fili metallici che
s'immergono ulteriormente quando viene collocato il campione.

Derivazione del fattore di correzione:

La spinta idrostatica causata dall'immersione dei fili metallici dipende dall'altezza "h"
dell'aumento del livello del liquido quando il campione viene immerso.

[l volume del campione V (pr) corrisponde al volume del liquido V (fl).
Il volume del campione ¢ determinato misurando la spinta idrostatica Quindi si ha:

V(pr) =V ()
oppure

W (a) - W () wt-h-D?

p (f1) 4

4 - [W (a) - W ()]
p (fl) - - D?

quindi h =

La spinta idrostatica "A" causata dai fili metallici immersi é:

7t - d?
4

A=2.

~h-p(f)

Usando "h" risulta:

2-m-d>-4-[W()-WI(fI)]-p(f)
4.p(f) n- D

p=

d2
DZ

A=2.

- [W (@) - w ()]
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Per tenere in considerazione la spinta idrostatica dei fili metallici, si deve sottrarre
la spinta idrostatica "A" prodotta dai fili dalla spinta idrostatica determinata per il
campione: G = W (a) - W (f1). Il valore della spinta idrostatica "A (corr)" da usare nel
calcolo € quindi: G - "A".

2

A (corr) = [W (a) - W ()] - 2 - - [W(a) - W ()]

Af(corr)=1|1-2-

D2

Nel dispositivo per la determinazione della densita di corpi solidi viene usato un
becher con il diametro grande (& 90 mm) e una struttura di immersione con due
fili metallici aventi un diametro di 0,7 mm.

Usando i valori per d = 0,7 mm e D = 90 mm il fattore di correzione risulta da:

0,7*
90?

1-2- =0.99983

Se si usano dispositivi di altre dimensioni, il fattore di correzione deve essere
ricalcolato in modo corrispondente.
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Acerca de estas instrucciones

1 Acerca de estas instrucciones

1.1 Validez

Estas instrucciones forman parte del producto. Estas instrucciones son validas para
este producto en las siguientes versiones:

Producto Tipo

Kit para la determinacion de la densidad para balanzas de  YDKO3MS
laboratorio Cubis® con legibilidad de 0,1 mgy 0,01 mg

Kit para la determinacion de la densidad para balanzas de  YDK04MS
laboratorio Cubis® con legibilidad de 1 mg

1.2 Documentos pertinentes

P Ademas de las presentes instrucciones, es necesario consultar la siguiente
documentacion:
— Instrucciones de la balanza de laboratorio utilizada

1.3 Maedios de representacion

1.3.1 Senales de advertencia en descripciones de acciones

AVISO
Identifica un posible riesgo que podria tener como consecuencia dafios materiales si
no se evita.

1.3.2 Otros medios de representacion

> Instruccion de actuacion: describe tareas que deben realizarse.

> Resultado: describe el resultado de las tareas realizadas.
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2 Seguridad

2.1 Uso conforme a las instrucciones

El producto sirve para determinar la densidad de cuerpos sdlidos o liquidos. Para la
determinacion de la densidad de cuerpos sélidos se debe usar un liquido de ensayo.

El producto se debe utilizar con balanzas de laboratorio Sartorius con una legibilidad
adecuada.

Si la balanza de laboratorio cuenta con un programa de determinacion de densidad,
con el kit para la determinacion de la densidad y el programa de determinacion de
densidad se pueden calcular valores de densidad automaticamente.

Si se utilizan programas de determinacion de densidad para determinar la densidad,
la determinacion de densidad solo debe llevarse a cabo de la forma descrita en las
instrucciones de manejo de la balanza de laboratorio.

El producto es adecuado unicamente para el uso conforme a este manual. Cualquier
uso distinto se considera inadecuado.

2.2 Componentes de vidrio

El dispositivo de vidrio, los vasos analiticos y el termdmetro estan hechos de cristal. Si
se dafa el vidrio, se pueden producir heridas.

p Sise dafian el dispositivo de vidrio, los vasos analiticos o el termometro, cambie el
dispositivo de vidrio, los vasos analiticos o el termometro.
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Descripcion del aparato

3 Descripcion del aparato

3.1 YDKO3MS

Fig. 1: Componentes YDKO3MS

Pos. Denominacion Pos. Denominacion

1 Vasos analiticos (& 90 mm y & 55 mm) 5 Dispositivo de vidrio

2 Bastidor 6 Criba de inmersion

3 Brida de sujecion para el termometro, 7 Platillo de inmersion
montada en el momento de la entrega

4 Termdmetro 8 Puente
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3.2 YDK04MS

Fig.2: Componentes YDK04MS

Pos. Denominacion Pos. Denominacion

1 Vasos analiticos (& 90 mm y & 55 mm) 5 Dispositivo de vidrio

2 Bastidor 6 Criba de inmersion

3 Brida de sujecion para el termometro, 7 Platillo de inmersion
montada en el momento de la entrega

4 Termometro 8 Puente
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4  Instalacion

4.1 Volumen de suministro

Articulo Cantidad
Vaso analitico (& 90 mm y & 55 mm) 2
Bastidor 1
Brida de sujecion para el termometro 1
Termometro 1
Dispositivo de vidrio 1
Criba de inmersion 1
Platillo de inmersion 1
Puente 1

4.2 Desembalar

Procedimiento

AVISO

Pueden producirse daiios en los componentes al desembalar.

p> El producto consta de componentes delicados. Desembale cuidadosamente todas
las piezas.

4.3 Montar el producto

4.3.1 Montar YDKO3MS en la balanza

Requisitos
Es necesaria una balanza de laboratorio tipo Cubis® con legibilidad de 0,1 mg 0 0,01 mg.
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Procedimiento

P> Retire las siguientes piezas de la balanza:
- Platillo de pesaje (1)
— Platillo inferior (2)

P Coloque el bastidor en la camara de pesaje.
La abertura cuneiforme del bastidor debe mirar en
la direccion en la que se va a utilizar el platillo de
inmersion (criba de inmersion/dispositivo de vidrio).

p Coloque el puente para sostener los vasos analiticos
a través del bastidor, pasando por encima de la
balanza.

Instrucciones de manejo YDKO3MS | YDKO4MS 105



Instalacion

4.3.2 Montar YDKO4MS en la balanza

Requisitos
Es necesaria una balanza de laboratorio tipo Cubis® con legibilidad de 1 mg.

Procedimiento
p Retire el platillo de pesaje (1) de la balanza.

P Coloque el bastidor en la camara de pesaje.
La abertura cuneiforme del bastidor debe mirar en
la direccion en la que se va a utilizar el platillo de
inmersion (criba de inmersion/dispositivo de vidrio).

p Coloque el puente para sostener los vasos analiticos
a través del bastidor, pasando por encima de la
balanza.
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4.3.3 Seleccionar el vaso analitico y el dispositivo
de inmersion

Procedimiento

P> Seleccione el vaso analitico o el dispositivo de
inmersion. La eleccion del vaso analitico y el
dispositivo de inmersion depende de las pruebas
a realizar.

Vista general del vaso analitico y el dispositivo de
inmersion:

— Para la determinacion de la densidad de cuerpos
solidos cuya densidad es mayor que la del liquido
de inmersion: es necesario un vaso analitico con
90 mm y un platillo de inmersion

— Para la determinacion de la densidad de cuerpos
solidos cuya densidad es menor que la del liquido
de inmersion: es necesario un vaso analitico con
<90 mm y una criba de inmersion

— Para la determinacion de la densidad de liquidos:
es necesario un vaso analitico con & 55 mm y un
dispositivo de vidrio
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4.3.4 Montar el dispositivo de vidrio

El dispositivo de vidrio esta fijado con un alambre con
asa. El asa de alambre debe engancharse en el estribo
del dispositivo de vidrio.

Procedimiento

p> AVISO El alambre puede romperse si se dobla.
Saque el dispositivo de vidrio del embalaje por el
asa de vidrio. No doble el alambre del dispositivo
de vidrio.

p> Cuelgue el asa de alambre del dispositivo de vidrio
en el estribo de soporte.

P> Fije la sujecion del dispositivo de vidrio en el
bastidor.

4.3.5 Montar el termometro

Procedimiento

p Coloque el termdmetro en el vaso.
P> En caso necesario, fije el termémetro al vaso con la
brida de sujecion.
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5 Manejo

5.1 Procedimiento para determinar densidades

La determinacion de la densidad de un cuerpo sdlido con el equipo de medicion
presente se realiza mediante el “principio de Arquimedes":

— Un cuerpo inmerso en un liquido experimenta una fuerza de empuje hacia arriba.
Esta fuerza es igual a la fuerza que ejerce el peso del liquido desplazado por el
volumen del cuerpo.

— Con una balanza hidrostatica, que permite la medicién del cuerpo sélido en el aire
y en el agua, es posible determinar la densidad de un cuerpo sdlido, si se conoce la
densidad del medio de empuje:

W (a) - p (1)

P W -wm

o bien,

determinar la densidad de un liquido, si se conoce el volumen del cuerpo de inmersion.

G
(=
P \Y
en donde:
P densidad del cuerpo solido
p (fl) densidad del liquido
W (a) peso del cuerpo soélido en el aire
W (f1) peso del cuerpo sdlido en el liquido
G empuje del cuerpo de inmersion
vV volumen del cuerpo de inmersion
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5.2 Fuentes de error y posibilidades de correccion

AVISO

Procedimiento erroneo al calibrar la balanza.

P> Retire el soporte de muestras del kit para la determinacion de la densidad antes del
ajuste.

La formula para determinar la densidad de cuerpos sdlidos es suficiente para una
determinacion con una exactitud de una y hasta dos posiciones decimales.
Dependiendo de la exactitud requerida, han de considerarse los siguientes errores
y factores de correccion:

— Dependencia de la temperatura de la densidad del liquido de sustentacion

— Empuje del aire al realizar la medicion en el aire

— Modificacion de la profundidad de inmersion del platillo de estribo al sumergir
la muestra

— Adhesion del liquido en el alambre del que cuelga el platillo

— Burbujas de aire adheridas a la muestra

Los errores pueden corregirse parcialmente mediante calculo. Para ello es necesario
medir la temperatura del liquido y corregir la densidad del liquido correspondiente
y definir el didmetro interno del envase receptor del liquido.

Dependencia de la temperatura de la densidad del liquido
La densidad del liquido de empuje depende de la temperatura. La modificacion de la
densidad por modificacién de temperatura en °C es la siguiente:

— 0,02 % para agua destilada
— 0,1 % para alcoholes e hidrocarburos

Las modificaciones pueden aparecer en la tercera posicion decimal durante la
determinacion de la densidad.

Para corregir la densidad del liquido respecto a la temperatura, se procede de la
siguiente manera:

— La temperatura del liquido se mide con el termometro suministrado.
— La densidad del agua se indica en la tabla del capitulo "5.4 Valores de densidad”,
pagina 118 y se utiliza para p (fl).
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Empuje del aire

Un volumen de 1 cm?® de aire tiene, dependiendo de la temperatura, la humedad del
aire y la presion del aire, un peso aprox. de 1,2 mg. En la medicion en el aire, el cuerpo
experimenta por cm® de su volumen un empuje correspondiente. El error que resulta
al no considerar el empuje del aire se registra en la tercera posicion decimal y ha de
corregirse.

El empuje del aire se calcula con la siguiente ecuacion:

_ W) [p (M) -p ()]

Wa-wm  PW

en donde p (a) = 0,0012 g/cm?® = densidad del aire bajo condiciones normales
(temperatura 20 °C, presion 101,325 kPa).

Profundidad de inmersion

El platillo para la recepcion o la inmersion de la muestra durante la medicion en
liquido esta fijado por dos alambres y se sumerge aprox. 30 mm en el liquido. Puesto
que la balanza se tara antes de cada medicion, el empuje adicional de la pieza
sumergida de la configuracion de medida no se considera en la determinacion de la
densidad.

En la medicion en liquido, el volumen de liquido desplazado corresponde al volumen
de la muestra. Esto hace que los alambres que fijan el platillo se sumerjan a mas
profundidad y originen un empuje adicional, que se considera como error en la
determinacion de la densidad.

Este error se corrige mediante la siguiente formula:

_ W@ -[p(M)-p (@)
0,99983 [W (a) - W (f)]

+p (a)

Dado que el factor de correccion esta determinado exclusivamente por la geometria
de la disposicion del sistema de medida, es indispensable utilizar solo el recipiente
suministrado con el mayor diametro (90 mm) en la determinacion de la densidad de
un cuerpo solido. En el capitulo "6 Formulas”, pagina 119 se indica cdmo se obtiene
este factor de correccion.
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Adhesion del liquido en el alambre

Al sumergir el platillo (criba de inmersion) en el liquido de empuje, sube liquido por el
alambre debido a las fuerzas de adhesion, resultando en un peso adicional de algunos
miligramos.

Puesto que el platillo de inmersion (criba de inmersion), tanto en la medicion en aire
como en la medicion en liquido, se encuentra en el medio de empuje y la balanza se
tara al comienzo de cada medicion, puede ignorarse la influencia del menisco del
liquido.

Para reducir la tension superficial y la friccion del liquido en el alambre, se agregan en
el agua destilada contenida en el recipiente unas tres gotas de un detergente (Mirasol
antiestatico o lavavajillas comun).

A causa de que el liquido de empuje suba por el alambre, puede que el valor del peso

cambie lentamente después de aparecer "g". Por ello, el valor del peso debe leerse

un

directamente después de que aparezca "g".

Burbujas de aire

El error de medicion producto de burbujas de aire adheridas a la muestra puede
estimarse de la siguiente manera. Al realizar la medicion en agua, una burbuja de aire
con un didmetro de 0,5 mm resulta en un empuje adicional menor de 0,1 mg. Con un
diametro de 1 mm, el empuje adicional resultante es de aprox. 0,5 mg, y con un
diametro de 2 mm, aprox. 4,2 mg. Por eso, las burbujas de aire mas grandes deben
eliminarse con un pincel fino o un instrumento similar.

La humectacion también puede realizarse de antemano en un recipiente separado.
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5.3 Determinacion de la densidad

5.3.1 Determinacion de la densidad de solidos

Preparacion
En la siguiente descripcion se utiliza agua destilada.

Procedimiento

Alinee el vaso analitico de mayor diametro (& 90 mm) en el centro del puente.
Llénelo de agua destilada hasta aprox. 5 mm por debajo del borde.

Eche 3 gotas de detergente en el agua destilada.

Fije el termometro al borde del vaso con la brida de sujecion.

Limpie el platillo de inmersion con disolvente (especialmente los alambres
sumergidos) y cuélguelo en el bastidor.

VVVYVY

Proceso de medicion
Se debe determinar el peso de la muestra en el aire.

Procedimiento

P> Tare la bascula.
P Coloque la muestra en el platillo de pesaje del bastidor y pésela.
» Anote el valor de peso W (a).

Determinacion del empuje G = W (a) - W (f)

Procedimiento

P> Tare la bascula con la muestra en el platillo de pesaje del bastidor.

p Coloque la muestra en el platillo de inmersion. Para ello, retire el platillo de estribo
del dispositivo de medicion y compruebe que, al volver a sumergir en el liquido,
no se adhiera ninguna burbuja de aire adicional; es mejor, en este caso, poner la
muestra directamente con pinzas o similar.

P> Anote el valor absoluto del empuje G indicado con signo negativo.

Instrucciones de manejo YDKO3MS | YDK04MS 113



Manejo

Calculo de la densidad

Procedimiento

P Lea la temperatura.

p Utilice el valor de la densidad p (fl) indicado en la tabla del apéndice, teniendo en
cuenta la temperatura ya leida.

P> La densidad se calcula con la siguiente formula:

_ W (a) - [p (fl) - 0,0012 g/em?]

+ 0,0012 g/em?
0,99983 G

W (a)yGeng;p (fl) en g/em®* G =W (a) - W (fl)

5.3.2 Determinacion de la densidad de cuerpos sdlidos con una densidad menor
de 1 g/em?

Es posible determinar la densidad de los cuerpos sélidos con una densidad menor de
1 g/em?® con dos métodos diferentes.

Método 1

Se utiliza agua destilada como liquido de empuje. Se utiliza el platillo de estribo con
el platillo de criba invertido (criba de inmersion).

Después, se pone la muestra sobre la superficie del agua para determinar el empuje vy,
finalmente, se sumerge con la criba de inmersion previamente retirada.

Pero también es posible colocar la muestra directamente bajo el platillo de criba con
una pinza o similar (sin retirar la criba de inmersion del bastidor).

Si el empuje de la sustancia a medir es mayor que el peso de la criba de inmersion,
entonces tiene que aumentarse el peso de la criba de inmersion colocando peso
adicional en el platillo superior del bastidor.

114 Instrucciones de manejo YDKO3MS | YDK04MS



Manejo

Método 2

Como medio de empuje se utiliza un liquido de densidad mas baja que el del cuerpo
solido a medir. Se han obtenido buenos resultados con etanol (hasta una densidad de
aprox. 0,8 gfcm?).

Al utilizar etanol, se nota menos (respecto al agua destilada) la influencia negativa
de la tension de superficie del liquido en los resultados de medicion. Por tanto, no es
necesario agregar detergente.

Al trabajar con etanol es indispensable considerar las prescripciones de sequridad
vigentes.

El segundo método debe aplicarse si la densidad del cuerpo so6lido se diferencia solo
minimamente de la del agua destilada. Dado que la muestra flota en el agua, pueden
producirse errores de medicion al aplicarse el primer método. El uso del sequndo
método es adecuado cuando ha de determinarse la densidad de un granulado. Al usar
el primer método en esos casos, es dificil poner el granulado completamente bajo el
platillo de criba.

Debe evitarse la utilizacion de etanol si la muestra puede resultar atacada (disuelta).

Preparacion
En la siguiente descripcion se utiliza agua destilada.

Procedimiento

Alinee el vaso analitico de mayor diametro (& 90 mm) en el centro del puente.
Llénelo de agua destilada hasta aprox. 5 mm por debajo del borde.

Eche 3 gotas de detergente en el agua destilada.

Fije el termometro al borde del vaso con la brida de sujecion.

Limpie la criba de inmersion con disolvente (especialmente los alambres
sumergidos) y cuélguela en el bastidor.

VVVYVYY
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Proceso de medicion
Se debe determinar el peso de la muestra en el aire.

Procedimiento

P Tare la bascula.
P Coloque la muestra en el platillo de pesaje del bastidor y pésela.
» Anote el valor de peso W (a).

Determinacion del empuje G = W (a) - W (1)

Procedimiento

P> Tare la bascula con la muestra en el platillo de pesaje del bastidor.

P Coloque la muestra en el platillo de inmersion. Para ello, retire el platillo de estribo
del dispositivo de medicion y compruebe que, al volver a sumergir en el liquido,
no se adhiera ninguna burbuja de aire adicional; es mejor, en este caso, poner la
muestra directamente con pinzas o similar.

P> Anote el valor absoluto del empuje G indicado con signo negativo.

Calculo de la densidad

Procedimiento

P Lea la temperatura.
p Utilice el valor de la densidad p (fl) indicado en la tabla del capitulo “5.4 Valores de
densidad"”, pagina 118, teniendo en cuenta la temperatura ya leida.

P La densidad se calcula con la siguiente formula:

W) p ()

+0,0012 g/cm®
0,99983 G

W(a)yGeng;p (f) eng/em®* G =W (a) - W (fl)
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5.3.3 Determinacion de la densidad de liquidos

Preparacion

Procedimiento

B Alinee el vaso analitico de menor diametro (& 55 mm) en el centro del puente.

P Fije el termometro al borde del vaso con la brida de sujecion.

Proceso de medicion

Procedimiento

P Cuelgue el disco con el dispositivo de vidrio suspendido con el alambre en el
bastidor.

P> Tare la bascula.

P Llene el vaso analitico con el liquido a determinar hasta 10 mm por encima del
dispositivo de vidrio.

Determinacion del empuje G = W (a) - W (f1)

El valor de peso negativo indicado por la balanza corresponde al empuje que
experimenta el dispositivo en el liquido.

Procedimiento

» Anote el valor del empuje G indicado con signo negativo.
P Leay anote la temperatura.
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Calculo de la densidad

Procedimiento
P> La densidad se calcula con la siguiente formula:

Geng;Vencm?

El dispositivo de vidrio del kit para la determinacion de la densidad tiene un volumen
de 10 cm®.

La densidad actual del liquido (en g/ecm?) se obtiene muy facilmente, desplazando la
coma en la lectura de la balanza en una posicion decimal hacia la izquierda.

5.4 Valores de densidad

Valores de densidad de H,0 (agua sin gas) a una temperatura T (en °C) en g/cm®

T/°C 0,0 0,1 0,2 0,3 0,4 0,5 0,6 0,7 0,8 0,9

10 0,99970 099969 0,99968 0,99967 0,99966 0,99965 0,99964 099963 0,99962 0,99961
1" 0,99960 099959 0,99958 0,99957 0,99956 0,99955 0,99954 099953 0,99952 0,99951
12 0,99950 0,99949 0,99947 0,99946 0,99945 0,99944 0,99943 099941 099940 0,99939
13 099938 099936 0,99935 0,99934 0,99933 0,99931 0,99930 099929 099927 0,99926
14 099924 099923 0,99922 0,99920 0,99919 099917 099916 099914 0,99913 0,99911
15 099910 0,99908 0,99907 0,99905 0,99904 0,99902 0,99901 099899 099897 0,99896
16 099894 0,99893 0,99891 0,99889 0,99888 0,99886 0,99884 099883 099881 0,99879
17 0,99877 099876 099874 0,99872 0,99870 0,99869 0,99867 0,99865 099863 0,99861
18 0,99860 099858 099856 0,99854 0,99852 0,99850 0,99848 0,99846 0,99844 099842
19 099840 0,99838 099837 0,99835 099833 0,99831 0,99829 0,99826 0,99824 0,99822
20 0,99820 099818 099816 0,99814 0,99812 0,99810 0,99808 099806 0,99803 0,99801
21 099799 099797 099795 0,99793 0,99790 0,99788 0,99786 0,99784 099781 099779
22 099777 099775 099772 0,99770 099768 0,99765 099763 0,99761 0,99758 0,99756
23 099754 099751 099749 099747 099744 099742 099739 099737 099734 0,99732
24 099729 099727 099725 099722 099720 0,99717 099714 099712 099709 0,99707
25 0,99704 0,99702 099699 0,99697 099694 0,99691 099689 0,99686 0,99683 0,99681
26 099678 099676 0,99673 0,99670 0,99667 0,99665 0,99662 099659 099657 0,99654
27 099651 0,99648 0,99646 0,99643 0,99640 0,99637 099634 099632 099629 0,99626
28 099623 0,99620 099617 0,99615 0,99612 0,99609 0,99606 0,99603 0,99600 0,99597
29 0,99594 099591 099588 0,99585 0,99582 0,99579 0,99576 0,99574 0,99571 0,99568
30 0,99564 099561 099558 0,99555 0,99552 0,99549 0,99546 0,99543 0,99540 0,99537

Bibliografia (referencia):

— NIST ITS-90 Density of Water Formulation for Volumetric Standards Calibration, Volume 97, Number 3, Chapter 3.3
Density of Air-Free Water p (kg m~?) = 999.85308 + 6.32693 x 102 t - 8.523829 x 107 t2 + 6.943248 x 10~° t3 -
3.821216 x 1077 t4

— DAKkS-DKD-LF-8-2 Kalibrierfliissigkeit Wasser - DakkS, Anlage 1, Tabelle A
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6  Formulas

Para facilitar su comprension, aqui se explica la obtencion de las formulas y los
factores de correccion utilizados.

Fundamentos

Densidad = Masa (g)

Volumen (cm?)

El principio de Arquimedes:

Un cuerpo inmerso en un liquido experimenta una fuerza de empuje (G). Esta fuerza es
igual a la fuerza que ejerce el peso del liquido desplazado por el volumen del cuerpo.
El volumen de un cuerpo sumergido V (s) es igual al volumen del liquido desplazado

V (fl).

Se determinan:
1. El peso en el aire W (a)

2. El empuje del cuerpo en el liquido (G)

La densidad de un cuerpo es:

Masa del cuerpo W (a) W (a)

p =
Volumen del cuerpo V (s) V (f1)

Si se conoce la densidad p (1) del liquido desplazado, entonces

v (fl) - Masa (f1) _ G

P p (1)

De lo cual resulta:

W () - p (fl)
G
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Calculo
La densidad de un cuerpo sélido se calcula segun la relacion

p:Wia)=p (f): [W(a) - WI()]
De aqui resulta:

W (a) - p (f1)
W (a) - W (fl)

W (a) - W (fl) = G = empuje de la muestra

La densidad de un liquido se determina del empuje del cuerpo de inmersién con
volumen definido.

G
p(M)=—
\%
En donde:
p densidad del cuerpo solido

p (f1) densidad del liquido

W (a) peso del cuerpo solido en el aire
W (f1) peso del cuerpo sélido en el liquido
G empuje del cuerpo de inmersion

Vv volumen del cuerpo de inmersion

Correcciones
Para la correccion de la determinacion de la densidad de cuerpos solidos se consideran:

— El empuje del aire que experimenta la muestra al realizarse la medicion en el aire.
En donde p (a) = 0,0012 g/cm?® = densidad del aire bajo condiciones normales
(temperatura 20 °C, presion 101,325 kPa); de lo que resulta:

o= W) - [p(fl)-p(a)l ‘o)
W (a) - W ()

120 Instrucciones de manejo YDKO3MS | YDK04MS



Formulas

— Lainmersion de los alambres del platillo o de la criba de inmersion
Al emplear este kit para la determinacion de la densidad tiene que multiplicarse el
empuje G = [W (a) - W (fl)] por el factor 0,99983 (corr.). Formula ampliada:
o W (a) - [p () - p (a)]
[W (a) - W (fl)] - corr

+p (a)

Este factor resulta al considerar el empuje de los alambres inmersos a mas profundidad
al colocar la muestra.

Obtencion del factor de correccion:
El empuje de los alambres inmersos depende de la altura "h" que alcanza el liquido al
sumergir la muestra.

Aqui el volumen de la muestra V (pr) corresponde al volumen del liquido V (f1).
El volumen de la muestra se determina midiendo el empuje. Luego:

v (pr) = V (1)

0 bien

W (a) - W () wt-h-D?

p (f1) 4

4 - [W(a) - W ()]

Luego h =
p(fl)-m-D?

El empuje producido por los alambres inmersos “A" es:

2

A=2- “hep (A)

4

Al utilizar "h" resulta:

2-m-d*-4-[W(a)-WI(M]-p ()
4.-p(fl) - D2

p:

d2
DZ

A=2- - [W (@) - w ()]
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Al considerar el empuje de alambre el empuje determinado de la muestra es:

G =W (a) - W (fl) para restar el empuje originado por los alambres "A". El valor de
empuje a considerar en el calculo "A (corr)" es entonces: G - "A".

2

A (corr) = [W (a) - W (f)] - 2 - - [W (a) - W (f1)]

d2
DZ

A(corm) =1{1-2- - [W (a) - W (f1)]

En el kit para la determinacion de la densidad, para la determinacion de la densidad
de cuerpos solidos se emplea el vaso analitico con el mayor diametro (& 90 mm) y un
dispositivo de inmersiéon con 2 alambres de 0,7 mm de didmetro.

Al utilizar los valores para d = 0,7 mm y D = 90 mm, el factor de correccion resulta de:
2

0,7
1-2. =0,99983
90’

Al utilizar equipos con otras dimensiones, ha de calcularse de nuevo el factor de
correccion.
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Sobre este Documento

1 Sobre este Documento

1.1 Validade

Estas instrucoes sdo uma parte do produto. Estas instrucdes se aplicam aos produtos
nas seguintes versoes:

Produto Tipo

Kit de determinacgdo de densidade para as balancas YDKO3MS
laboratoriais Cubis® com uma legibilidade de 0,1 mg

€ 0,01 mg

Kit de determinacgdo de densidade para as balancas YDK04MS

laboratoriais Cubis® com uma legibilidade de 1 mg

1.2 Outros Documentos Aplicaveis

P Além destas instrucdes, por favor, observe os sequintes documentos:
— Instrucoes para a balanca laboratorial usada

1.3 Simbolos Usados

1.3.1 Informacdes de Atencdo nas Descricdes de Operacao

AVISO
Indica um perigo com risco de que danos materiais possam resultar se o risco nao for
evitado.

1.3.2 Outros Simbolos

> Acdo requerida: Descreve as acoes que devem ser realizadas.

> Resultado: Descreve o resultado das agoes realizadas.
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Seguranca

2 Seguranca

2.1 Uso pretendido

Este produto é usado para determinar a densidade de objetos solidos ou liquidos.
Para a determinacdo da densidade de objetos solidos, um teste liquido deve ser usado.

Este produto deve ser operado com balancas laboratoriais Sartorius com uma
legibilidade adequada.

Se a balanca laboratorial possuir um programa de determinacdo de densidade:
Os valores de densidade podem ser calculados automaticamente usando o kit de
determinagdo de densidade e o programa de determinacgdo de densidade.

Se o programa de determinacédo de densidade ¢ usado para determinar a densidade:
A densidade deve ser determinada como descrito nas instrucdes de operac¢do da
balanca laboratorial.

O produto destina-se exclusivamente para uso em conformidade com estas instrucoes.
Qualquer uso além deste é considerado impréprio.

2.2 Componentes de Vidro

O imersor de vidro, béqueres e termometro sdo feitos de vidros. Vidro quebrado pode
causar lesoes.

P Se o imersor de vidro, béqueres ou termémetro ficarem danificados: Substitua o
imersor de vidro, béqueres ou termémetro.
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Descricdo do Dispositivo

3 Descricdo do Dispositivo

3.1 YDKO3MS

Fig.-1: Componentes YDKO3MS

No. Nome No. Nome

1 Béquer (& 90 mm e & 55 mm) 5 Imersor de vidro

2 Moldura 6 Peneira

3 Presilha de fixacdo do termometro, Suporte de amostras

instalada na entrega

4 Termdmetro 8

Ponte
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Descricéo do Dispositivo

3.2 YDK04MS

Fig.-2: Componentes YDK04MS

No. Nome No. Nome

1 Béquer (& 90 mm e & 55 mm) 5 Imersor de vidro

2 Moldura 6 Peneira

3 Presilha de fixacdo do termometro, 7 Suporte de amostras

instalada na entrega

4 Termdmetro 8 Ponte
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Instalacdo

4 Instalagao

4.1 Escopo de Entrega

Item Quantidade
Béquer (& 90 mm e & 55 mm) 2
Moldura 1
Presilha de fixacdo do termometro 1
Termémetro 1
Imersor de vidro 1
Peneira 1
Suporte de amostras 1
Ponte 1

4.2 Desembalando o Dispositivo

Procedimento

AVISO

Desembalar pode danificar os componentes!

P> Este produto consiste em componentes delicados. Cuidado ao desembalar todas as
pecas.

4.3 Instalando o Produto

4.3.1 Anexando o YDKO3MS na Balanca

Pré-requisitos
Uma balanca laboratorial Cubis® com legibilidade de 0,1 mg ou 0,01 mg.
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Instalacao

Procedimento

p> Remova as seguintes pecas da balanca:
- Prato de pesagem (1)
- Suporte do prato (2)

P> Insira a armacdo na camara de pesagem. A abertura
em forma de cunha na parte superior da armacao
deve ficar voltada na direcdo na qual o suporte de
amostra (peneira/imersor de vidro) sera colocado na
armacao.

p Coloque a ponte que segurarad o béquer atraves da
armacdo na balanca.
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Instalacao

4.3.2 Anexando o YDKO4MS na Balanca

Pré-requisitos
Uma balancga laboratorial Cubis® com legibilidade de 1 mg.

Procedimento
» Remova o prato de pesagem (1) da balanca.

P> Insira a armacdo na camara de pesagem. A abertura
em forma de cunha na parte superior da armacao
deve ficar voltada na direcdo na qual o suporte de
amostra (peneira/imersor de vidro) sera colocado na
armacéo.

P Coloque a ponte que segurara o béquer atraves da
armacdo na balanca.
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Instalacao

4.3.3 Selecionando o Béquer e o Dispositivo de
Imersao

Procedimento

P> Selecione o béquer ou dispositivo de imersao.
A selecdo do béquer ou dispositivo de imersao
depende da amostra a ser determinada.

Visio Geral do béquer e dispositivo de imersao:

— Para determinar a densidade de um objeto sélido
cuja densidade ¢ maior que o liquido de imerséo:
Um béquer com & 90 mm e um suporte de amostra
S30 necessarios

— Para determinar a densidade de um objeto sélido
cuja densidade ¢ menor que o liquido de imersao:
Um béquer com & 90 mm e um prato de amostra
S30 necessarios

— Para determinar a densidade de liquidos: Um
béquer com & 55 mm e um imersor de vidro séo
necessarios
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4.3.4 Instalando o Imersor de Vidro

Um cabo € anexado ao imersor de vidro por um aro.
0 aro deve ser suspenso do gancho no imersor de vidro.

Procedimento

p> AVISO O cabo pode arrebentar se estiver dobrado!
Puxe o imersor de vidro pelo aro para fora da
embalagem. Nao dobre o cabo no imersor de vidro.

P> Passe o aro do imersor de vidro sobre o gancho de
fixacao.

» Anexe o gancho do imersor de vidro na armacéo.

4.3.5 Instalando o Termometro

Procedimento

p Coloque o termdmetro no béquer.

p> Se o termdmetro precisar ser anexado: Anexe o
termodmetro na borda do béquer usando a presilha
de fixacéo.
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Operacao

5 Operacio

5.1 Método usado para Determinar a Densidade

"Principio de Arquimedes” ¢ usado para determinar a densidade de um objeto sélido
com este dispositivo de medi¢ao:

— Um objeto imerso em liquido estara sujeito a uma forca de empuxo ascendente.
Esta forca € igual ao peso do liquido deslocado pelo objeto.

— Usando uma balanca hidrostatica, que Ihe permite pesar um objeto sdlido no ar
€ na agua, € possivel determinar a densidade de um objeto solido se a densidade
do meio de empuxo € conhecida:

P (a) - p (1)
P (a) - P (f)

ou

Determine a densidade de um liquido se o volume do objeto imerso é conhecido.

E
() = —
P Vv
Onde:
P densidade do objeto solido
p (fl) densidade do liquido
P (a) peso do objeto sdlido no ar

P (1) peso do objeto solido no liquido
E empuxo do objeto imerso

vV volume do objeto imerso
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Operacéo

5.2 Causas dos Erros e Opcoes para Correcao

AVISO

Procedimento incorreto ao ajustar a balanca!

P Remova o suporte de amostra do kit de determinacdo de densidade antes de fazer
0s ajustes.

A formula usada para determinar a densidade de objetos solidos € suficiente para
obter uma precisao de uma a duas casas decimais. Dependendo da precisdo necessaria
o0 sequinte erro e fator de correcdo precisardo ser considerados:

- efeito da temperatura na densidade do liquido de empuxo

— empuxo do ar quando pesado no ar

— alteragdes na profundidade de imerséo do prato de ferro ao mergulhar a amostra
— adesdo do liquido na extensdo do cabo do prato de ferro

— bolhas de ar aderidas a amostra

Alguns dos erros podem ser corrigidos matematicamente. Portanto, necessario medir
a temperatura do liquido e corrigir a densidade do liquido adequadamente e definir
o didmetro interno do recipiente contendo o liquido.

Efeitos da Temperatura na Densidade do Liquido
A densidade do liquido de empuxo depende da temperatura. A alteracdo na densidade
por °C de alteracdo da temperatura é a seguinte:

— 0,02% para agua destilada
— 0,1% para alcool e hidrocarbonetos

A alteracdo pode aparecer na terceira casa decimal durante a determinacéo de
densidade.

Para corrigir a densidade do liquido em termos de temperatura, proceda da sequinte
forma:

— meca a temperatura do liquido usando o termémetro fornecido.
- A densidade da agua pode ser encontrada na tabela no Capitulo "5.4 Valores de
Densidade,” pagina 142 e pode ser usada para p (fl).
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Empuxo do Ar

Dependendo da temperatura, umidade e pressdo do ar, um volume de 1 cm? de ar
terd um peso de cerca de 1,2 mg. Ao pesar no ar, o objeto experimenta um empuxo
correspondente por cm?® de seu volume. O erro que resulta se o empuxo do ar ndo
¢ permitido aparece na terceira casa decimal e, portanto deve ser corrigida.

A forca do empuxo € considerada na sequinte formula:

_P@-[p(fM)-p)l

ra-rm PP

Onde p (a) = 0,0012 g/cm?® = densidade do sob condi¢des normais (temperatura 20°C,
pressdo 101,325 kPa).

Profundidade de Imersio

0 prato para manter e/ou imergir a amostra durante a pesagem em liquido é anexada
rigidamente a dois cabos e € imersa aproximadamente 30 mm abaixo da superficie do
liquido. Desde que a balanca seja tarada antes de cada medicdo, o empuxo adicional
da parte submersa da instalacdo de medicdo néo € considerada na determinacao da
densidade.

Ao pesar o liquido, um volume de liquido correspondente ao volume do corpo da
amostra fica deslocado. Isto faz com que os cabos de fixacdo do prato sejam imersos
mais profundamente e gerem empuxo adicional, criando um erro na determinacéo da
densidade.

A sequinte formula corrigira o erro:

o= P (a) - [p (fl) - p ()]

©0,99983 [P (a) - P ()] +pla)

Como o fator de correcdo é determinado exclusivamente pela geometria do
dispositivo, deve ser garantido que apenas recipientes fornecidos com maior didametro
(90 mm) sejam usados para determinar a densidade de um objeto solido. Capitulo "6
Formulas," pagina 143 mostra como este fator de corre¢do € derivado.
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Adesio do Liquido ao Cabo

Ao imergir o suporte de amostra (ou peneira) no liquido de empuxo, o liquido desloca
o cabo por causa da forca de adesdo e gera alguns miligramas adicionais de peso.

Uma vez que o suporte de amostra (ou peneira) esta no meio de empuxo tanto quando
pesa no ar quando pesa no liquido, e a balanca ¢ tarada no comeco de cada medicéo,
a influéncia do menisco do liquido pode ser ignorada.

Para reduzir a tensdo da superficie e friccdo do liquido no cabo, adicione trés gotas de
surfactante (Antiestatico Mirasol ou um detergente convencional) 4 4gua destilada no
recipiente.

Por cauda do liquido de empuxo deslocando o cabo, o valor do peso pode continuar

mudando lentamente apos o "e" aparecer. Por esta razdo, o valor do peso deve ser lido

u_n

assim que o "e" aparecer.

Bolhas de Ar

Os erros de medicdo que ocorrem como um resultado das bolhas de ar que se aderem
a amostra podem ser avaliados como a sequir. Se a bolha de ar tiver um didmetro de
0,5 mm, isto produzird um empuxo adicional de menos que 0,1 mg quando pesado na
agua. Se a bolha de ar tiver um didametro de 1 mm, o empuxo adicional sera cerca de
0,5 mg, e se o didmetro € de cerca de 2 mm, aproximadamente 4,2 mg. Portanto, é
indispensavel que as bolhas de ar maiores sejam removidas com uma boa escova ou
similar.

A umidade também pode ser adicionada antecipadamente em um contéiner separado.
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Operacao

5.3 Determinacao de Densidade

5.3.1 Determinando a Densidade de Objetos Solidos

Preparacdo
Na sequinte descricdo, agua destilada € usada.

Procedimento

Coloque o béquer com maior didmetro (& 90 mm) no centro da ponte

Encha o béquer até a dgua destilada estar aproximadamente 5 mm abaixo da borda.
Adicione trés gotas de surfactante a agua destilada.

Anexe o termOdmetro a borda do béquer usando a presilha de fixacao.

Limpe o suporte de amostra com um solvente (preste muita atengdo aos cabos
imersos) e pendure na armacéo.

VVVYVYY

Procedimento de Medicao
O peso da amostra deve ser determinado no ar.

Procedimento

P Tare a balanca.
P Coloque a amostra na armacdo do prato de pesagem e pese-a.
p Faca uma nota do valor do peso P (a).

Determinando o Empuxo
E="P(a)-P(fl)

Procedimento

P> Tare a balanca com a amostra no prato de pesagem da armacdo.

p Coloque a amostra no suporte de amostra. Remova o prato de ferro do dispositivo
de pesagem e garanta que nenhuma bolha de ar adicional se anexe apds a nova
imersdo no liquido; Se possivel, adicione a amostra diretamente usando uma pinga
ou similar.

P> Faca uma nota do valor absoluto do empuxo G, com um sinal negativo na frente.
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Calculando a Densidade

Procedimento

P> Leitura da temperatura.
P Localize o valor da densidade p (fl) na tabela usando a temperatura da leitura.
p Calcule a densidade usando a sequinte formula:

. _ 3
o= W (a) - [p (fl) - 0,0012 g/em?] +0,0012 glem’
0,99983 G

P(a)eEeme;p (f) em g/ecm* E = P (a) - P (fl)

5.3.2 Determinado a Densidade de Objetos Solidos com uma Densidade Menor
que 1 g/em?

Ha dois diferentes métodos para determinacgao da densidade de objetos sélidos com
uma densidade menor que 1 g/cm®.

Método 1

Agua destilada ainda ¢ usada como liquido de empuxo. Entretanto, o prato de ferro
¢ substituido pelo prato invertido de peneira (peneira).

Para determinar o empuxo da amostra, primeiro coloque-a na superficie da agua
e entdo a mergulhe usando a peneira que foi previamente removida.

Também € possivel usar pincas ou similares para colocar a amostra diretamente sob
o prato de peneira (sem remover a peneira da armacio).

Se 0 empuxo da substincia a ser medida é maior que o peso da peneira, o peso da
peneira deve ser aumentado adicionando um peso adicional ao prato de pesagem da
armacéao.
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Método 2

Um liquido com uma densidade menor que a do objeto solido que serd medido deve
ser usado como um meio de empuxo. Bons resultados foram alcancados com etanol
(até uma densidade de aprox. 0,8 g/cm?).

0O efeito negativo da tensdo da superficie do liquido no resultado € menos notavel ao
usar etanol que ao usar agua destilada. Portanto, ndo € necessario adicionar
surfactantes.

Precaucdes de seguranca aplicaveis devem ser tomadas ao trabalhar com etanol.

0 segundo método deve ser usado se a densidade do objeto solido divergir um pouco
da densidade da agua destilada. Como a amostra esta suspensa na agua, erros de
medicdo podem ocorrer se o primeiro método for usado. Também faz sentido usar o
segundo método para determinar a densidade de uma substancia granulada. Neste
caso, seria dificil colocar a amostra inteira embaixo da peneira ao usar o primeiro
método.

N&o use etanol se a amostra puder ser atacada ou dissolvida por ele.

Preparacdo
Na sequinte descricdo, agua destilada € usada.

Procedimento

Coloque o béquer com maior didmetro (& 90 mm) no centro da ponte
Encha o béquer até a dgua destilada estar aproximadamente 5mm abaixo da
borda.

Adicione trés gotas de surfactante a dgua destilada.

Anexe o termOmetro a borda do béquer usando a presilha de fixagao.

Limpe a peneira com um solvente (preste muita atencdo aos cabos imersos)
e pendure na armacéo.

VVvVVY VYV
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Procedimento de Medicao
O peso da amostra deve ser determinado no ar.

Procedimento

P Tare a balanca.
p Cologque a amostra na armacao do prato de pesagem e pese-a.
p Faca uma nota do valor do peso P (a).

Determinando o Empuxo
E="P(a) - P (fl)

Procedimento

P> Tare a balanca com a amostra no prato de pesagem da armacéo.

P Cologue a amostra no suporte de amostra. Remova o prato de ferro do dispositivo
de pesagem e garanta que nenhuma bolha de ar adicional se anexe apds a nova
imersdo no liquido; Se possivel, adicione a amostra diretamente usando uma pinga
ou similar.

P> Faca uma nota do valor absoluto do empuxo G, com um sinal negativo na frente.

Calculando a Densidade

Procedimento

P Leitura da temperatura.
» Localize o valor da densidade p (fl) na tabela no Capitulo “5.4 Valores de
Densidade,” pagina 142 usando a temperatura da leitura.

P Calcule a densidade usando a seguinte formula:

p= M +0,0012 g/cm®

0,99983 G

P(a)eEeme;p (f) em g/em*E = P (a) - P (fl)
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5.3.3 Determinado a Densidade dos Liquidos
Preparacao

Procedimento

p Coloque o béquer com o menor didmetro (& 55 mm) no centro da ponte.
P Anexe o termdmetro a borda do béquer usando a presilha de fixacéo.

Procedimento de Medicao

Procedimento

P Suspenda o disco com o imersor de vidro (pendurado em um cabo) da armacéo.
P Tare a balanca.
> Encha o béquer com liquido a ser testado até 10 mm acima do imersor de vidro.

Determinando o Empuxo E = P (a) - P (fl)

0 peso negativo exibido pela balanca corresponde a agdo do empuxo no imersor de
vidro no liquido.

Procedimento

P Faca uma nota do empuxo E, com um sinal negativo na frente.
P> Leia e faca uma nota da temperatura.
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Calculando a Densidade

Procedimento
P> Calcule a densidade usando a seguinte formula:

Eeme;Vemcem?

O imersor de vidro incluso no kit de determinacdo de densidade possui um volume de
10 cm?.

E facil obter a real densidade do liquido (em g/cm?); Desloque o ponto decimal na tela
da balanga um espaco a esquerda.

5.4 Valores de Densidade

Densidade da H,0 (Agua livre de Gas) na Temperatura T (em °C) em g/em?

T/°C 0,0 0,1 0,2 0.3 0,4 0,5 0,6 0,7 0.8 0.9

10 0,99970 099969 0,99968 0,99967 0,99966 0,99965 0,99964 099963 0,99962 0,99961
1" 099960 099959 0,99958 0,99957 0,99956 0,99955 0,99954 099953 0,99952 0,99951
12 0,99950 099949 0,99947 0,99946 0,99945 0,99944 0,99943 099941 099940 0,99939
13 099938 099936 0,99935 0,99934 0,99933 0,99931 0,99930 099929 099927 0,99926
14 0,99924 0,99923 099922 0,99920 099919 0,99917 099916 0,99914 099913 0,99911
15 099910 0,99908 0,99907 0,99905 0,99904 0,99902 0,99901 099899 099897 0,99896
16 099894 0,99893 0,99891 0,99889 0,99888 0,99886 0,99884 099883 099881 0,99879
17 099877 0,99876 099874 0,99872 0,99870 0,99869 0,99867 0,99865 0,99863 0,99861
18 0,99860 099858 099856 0,99854 0,99852 0,99850 0,99848 0,99846 0,99844 099842
19 0,99840 099838 099837 0,99835 0,99833 0,99831 0,99829 0,99826 099824 099822
20 099820 0,99818 099816 0,99814 099812 0,99810 0,99808 0,99806 0,99803 0,99801
21 099799 099797 099795 0,99793 0,99790 0,99788 0,99786 099784 099781 099779
22 099777 099775 099772 099770 0,99768 0,99765 0,99763 099761 099758 0,99756
23 099754 0,99751 099749 0,99747 099744 099742 099739 0,99737 099734 0,99732
24 099729 099727 099725 099722 099720 0,99717 099714 099712 099709 0,99707
25 099704 0,99702 0,99699 0,99697 0,99694 0,99691 099689 099686 0,99683 0,99681
26 0,99678 0,99676 099673 0,99670 099667 0,99665 099662 0,99659 099657 0,99654
27 099651 0,99648 0,99646 0,99643 0,99640 0,99637 099634 099632 099629 0,99626
28 0,99623 099620 099617 099615 0,99612 0,99609 0,99606 0,99603 0,99600 0,99597
29 099594  0,99591 099588 0,99585 0,99582 0,99579 0,99576 0,99574 0,99571 0,99568
30 0,99564 099561 099558 0,99555 0,99552 0,99549 0,99546 0,99543 0,99540 0,99537

Referéncias:

— NIST ITS-90 Densidade da Formulacéo de 4gua para Calibracdo de Padrées Volumétricos, Volume 97, Nimero 3, Capitulo
3.3 Densidade de Agua Sem Ar p (kg m~) = 999,85308 + 6,32693 x 1072 t - 8,523829 x 107 t2 + 6,943248 x 10° t3 -
3,821216 x 107 t4

— DAKKS-DKD-LF-8-2 agua liquida de calibragdo - DakkS, anexo 1, tabela A
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Formulas

6  Formulas

Para obter um melhor entendimento do processo, a teoria por tras das formulas e do
fator de correcdo € explicada aqui.

Principios Basicos

M
Densidade = assa (9)

Volume (cm?)

O principio de Arquimedes afirma:

Um objeto imerso no liquido estara sujeito a uma forga de empuxo (E). Esta forca
¢ igual ao peso do liquido deslocado pelo objeto. O volume do objeto imerso V (s)
¢ igual ao volume do liquido deslocado V (fl).

Os seguintes sdo determinados:
1. PesonoarP (a)

2. Empuxo de um objeto no liquido (E)

A densidade de um objeto é:

massa do objeto P (a) P (a)

p =
volume do objeto V (s) V (fT)
Se a densidade p (f1) do liquido deslocado é conhecida:

Massa (1) E

V(fl) = =
P p (f)
Portanto:
P (a) - p (f)
p =
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Férmulas

Calculo
A densidade de um objeto sélido ¢ calculada baseada na razéo:

p:Pa)=p(f):[P(a)-P(M]

Portanto:
_ P@-p(M
P (a) - P (fl)

P (a) - P (fl) = E = empuxo da amostra

A densidade de um liquido ¢ determinada pelo empuxo do objeto imerso que possui
um volume definido.

E
p(l)=—
\Y
Onde
p densidade do objeto solido

p (f1) densidade do liquido

P (a) peso do objeto sdlido no ar

P (1) peso do objeto solido no liquido
empuxo do objeto imerso

volume do objeto imerso

Correcoes
0 seguinte deve ser permitido ao corrigir a determinacédo da densidade:

— 0O empuxo do ar enfrentado pela amostra quando pesado no ar.
Onde p (a) = 0,0012 g/em® = densidade do ar sob condi¢ées normais
(temperatura 20°C, pressdo 101,325 kPa); que resulta em:

o= P(a) - [p (f) - p (a)] ‘o)
P (a) - P (f1)
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Formulas

— Aimersdo dos cabos do suporte de amostra ou peneira
Ao usar este kit de determinagdo de densidade especifico, o empuxo E = [P (a) -
P (f1)] deve ser multiplicado pelo fator 0,99983 (corr). Formula expandida:

P(a) - [p () - p (a)]
p= +p (a)
[P (@) - P (fM)] - corr

Este fator permite o empuxo dos cabos que estdo submersos mais profundamente
quando a amostra ¢ introduzida.

Como este Fator de Correciio E Derivado:

O empuxo causado pelos cabos submersos depende da altura “a" da qual o liquido

emerge quando a amostra € imersa.

Logo, o volume da amostra V (pr) corresponde ao volume liquido V (fl).
O volume da amostra é determinado pela medi¢cdo do empuxo. Logo:

v (pr) = V (f])

ou

P(a) - P(f) w-a-D?

p (f1) 4

4-[P(a) - P (f)]
p(fl)-m-D?

Entdo a =

O empuxo “A" causado pelos cabos imersos é:

7t - d?

4

A=2.

a-p ()

Quando "a" é usado:

2-m-d*-4-[P(a-P(M-p(f)
4.p(f) m-D

p:

2

A=2- - [P (a) - P (]

DZ
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Férmulas

Para permitir o empuxo dos cabos, subtraia o empuxo "A" causado pelos cabos imersos
do empuxo determinado para a amostra:

E =P (a) - P (f1). O valor do empuxo "A (corr)" que deve ser usado no calculo é entio:
E - "A".

2

A (corr) = [P (a) - P ()] - 2 - - [P (a) - P (M]

D2

2

1-2-

A (corr) = - [P (a) - P ()]

DZ

Neste kit de determinacéo de densidade, o béquer com maior didametro (& 90 mm) e
um dispositivo de imersdo com dois cabos com didmetro de 0,7 mm sdo usados para
determinar a densidade de objetos sélidos.

Quando os valores d = 0,7 mm e D = 90 mm sdo usados, o fator de correcédo é:

0,7?
90?2

1-2- = 0,99983

Quando usar dispositivos com outras dimensdes o fator de correcdo deve ser
adequadamente recalculado.
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06 3TOW UHCTPYKLUN

1 O6 3TON NHCTPYKLUK

1.1 [encTBUTENbHOCTb

[aHHOe pyKOBOACTBO ABNAETCA YacTblo n3genusa. [laHHoe pyKoBOACTBO AeNCTBYeT AnA
n3aenva B cregyowmx NCNoHEHNAX:

N3penne: Tun

KomnnekT gns onpeneneHns naoTHOCTK ana nabopatopHbix  YDKO3MS
BecoB Cubis® ¢ guckpeTtHocTbio 0T 0,1 Mr o 0,01 mr

KomnnekT gns onpeneneHuns nNaoTHOCTK ans nabopatopHbix  YDK04MS
BecoB Cubis® c AucKpeTHOCTbIO 1 Mr

1.2 TlpyuMeHnMble fOKYMEHTDI

p [lononHWTenbHO K faHHOMY PYKOBOACTBY cobtofarite cnefyowyie JOKYMEHTbI:
— PykoBoAcCTBO Mcnonb3yembix nabopaTopHbIX BECOB

1.3 0603HauYeHus, Ncnonb3yembie B MHCTPYKLUN

1.3.1 lNpepynpepuTenbHblie yKa3aHNA B ONMCaHUMN ANCTBUI

YBEAOMINEHUE
O603HavaeT onacHOCTb, KOTOpas MOXET NPUBECTY K MaTepUanbHOMY yuepOy, ecnu ee
He NnpeaynpeanTb.

1.3.2 [ipyrue o603HaueHusA, NCNonb3yemble B MHCTPYKLUN

| 2 MHCprKLlI/Iﬂ Mo BbINOJIHEHUIO Flel;lCTBI/IFlZ onucbliBaeT ,ElelzCTBI/IFl, KOTOpble
cnenyet BbINOJIHUTD.

> Pe3ynbTaTt: onncaHme pesynbraTta BbIMOAHEHHbIX AeNCTBUN.
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CopepkaHue

2 be3sonacHocCTb

2.1 Wcnonb3oBaHMe No Ha3HAYEeHUIO

W3penve ncnonb3syetca gna onpepesieHnsa NAOTHOCTY TBEPABIX TEN UIIN XKUAKOCTEN.
[lns onpepeneHna NNOTHOCTY TBEPADBIX TEN CiedyeT UCMOMb30BaTh TECTOBYIO XXMAKOCTb.

N3penve HeobxoAMMo NCMONb30BaTb C TabopaToOpHbIMM Becamu Sartorius ¢ nogxoga-
e AUCKPETHOCTbIO.

Ecnu Ha nabopaTopHbIX BeCax yCTaHOBIEHA NpOrpamMmmMa Asist onpefeneHns nioTHOCTH:
MporpaMma 1 KOMNNEKT A onpeaesieHns NIOTHOCTU NO3BOJAIT aBTOMATUYECKN
onpefenATb NoKasaTesv NIoTHOCTU.

I'Ipm NCNOoJsIb30BaHNKU NpPOrpamMmm ana onpeneneHnAa nioTHOCTU: Onpe,qeneHvae NNOTHO-
CcTn HEO6XO)J,VIMO BbIMOJIHUTb COrNacHO PyKOBOACTBY MO 3KCn/yaTaunn na6opaToprlx
BeCOB.

N3penve npeaHasHa4€HO UCKITIOYNTENbHO AJ1A SKClyaTaun B COOTBETCTBUN C AdH-
HbIM PYKOBOACTBOM. JTio6oe ncnonb3oBaHwue, BbixoAsLLEee 3a npenesibl ykazaHHOro
CUYNTaeTCA HeHagneXxawunum.

2.2 KoMNnoHeHTbl N3 cTeKna

CTeKNAHHbIN Ol'IyCKHOI7I UMnnMHAap, XuMmnyeckne CtakaHbl U TEPMOMETP N3roTOBNEHDI N3
ctekna. OnacHoCTb TPpaBMMNPOBaHNA NPU NOBPeXAeHUN CTeKNa.

p [pu noBpexaeHnn CTEKNAHHOIO OMYCKHOrO LMANHAPA, XUMUYECKUX CTaKaHOB M
TepMmomeTpa: 3aMeHnTe CTEKASAHHBIA OMYCKHONW LMAVHAP, XUMUYECKUe CTaKaHbl Nan
TepMOMETP.
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OnvcaHue ycTpoiicTa

3 OnwucaHune ycTponcTea

3.1 YDKO3MS

Puc. 1: KomnoHeHTbl YDKO3MS

Mos. HammeHoBaHue Mos. HammeHoBaHme

1 Xumnyeckme ctakaHbl (& 90 mm 5 CTeKNAHHbIN ONYCKHOMN
n J 55 mm) LUUNNHEP

2 Kopnyc 6 Morpy»xHoe cnto

3 3aXK1UM ANA KpensieHna TepMoMeTpa, Npu 7 Morpy»Hasa Kop3nHa

NOCTaBKe YCTaHOBJIEHA Ha TepMoMeTpe

4 TepmomeTp 8 MNMepembluka

150 PykoBogcTBO no skcnnyatauuu YDKO3MS | YDK04MS



3.2

YDK04MS

CopepxaHue

Puc. 2: KomnoHeHTbl YDKO4MS

Mos.

HaumeHoBaHuMe

Mos.

HanmeHoBaHune

1

Xumunyeckme ctakaHbl (& 90 mm
n 55 mm)

5

CTeKnAHHbIV OMYCKHOMN
LUMAMHAP

2 Kopnyc 6 Morpy»xHoe cnto

3 3aXnMm gna KpenneHna TepMomeTpa, npu 7 Morpy»Hana Kop3nHa
NnocTaBKe yCTaHOB/IEHa Ha TepMOMETpe

4 TepmomeTp 8 MNepembluka
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MoHTax

4  MoHTaxX

4.1 KomnneKT nocTtaBKu

ApTukyn

KonunuectBo

Xumunuecknin ctakaH (3 90 Mm u & 55 mm)

2

Kopnyc

3axum ana KpenneHna TepMmomeTpa

TepmomeTp

CTeKNAHHbIN ONYCKHOM LUWVHAP

Morpy»Hoe cuto

Morpy»xHasa Kop3uHa

MNepembluka

4.2 PacnakoBKa

Mopapok penicTBuin

YBEJOMJTEHUNE

MoBpexaeHne KOMNOHEHTOB Npu pacnakoBke!

P Vi3pgenvie cocTouT 13 XpYnKMX KOMMOHEHTOB. AKKYPaTHO pacnakyiTe Bce AeTanu.

4.3 MoHTupoBaTtb usgenue

4.3.1 Montuposatb YDKO3MS B Becbl

YcnoBua

JocTtynHbl nabopatopHble Becbl Tna Cubis® ¢ anckpeTHocTbio 0,1 Mr nam 0,01 Mr.
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CofepkaHue

Mopapok paencTBuin
P CHumUTe cnepytolve AeTanm C BECOB:

— vawy Becos (1);
— [Oeprkatenb vaww (2);

P> BcTaBbTe KOpnyc B Kamepy B3BeLBaHUA. KnnHoo-
6pa3Hoe OTBEPCTVE CBEPXY Ha KOPMYCE JOJIKEH
CMOTPETb B HanpaBsJ/ieHNY, rae BCTaBAAETCA NOrpyx-
HafA Kop3uHa (MOrpy»XHoe CUTO/CTeKNAHHbBIN
OMYCKHOWN LUANHAP).

) [MocTaBbTe NepembluKy /1A pasMeLleHns Xummuye-
CKOro CTakKaHa yepes Koprnyc Ha Becbl.
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MoHTax

4.3.2 MonTtnposatb YDK04MS B Becbl

YcnoBus
JocTynHbl nabopaTopHble Bechbl Tvna Cubis® ¢ ANCKPETHOCTbIO 1 M.

Mopsapok geicTeumn
P CHumMmTe yaly Becos (1) c BeCOB.

p BcTaBbTe KOpMyc B Kamepy B3BeLIvBaHuUA. KnmHoo-
6pasHoe OTBEPCTME CBEPXY HA KOPMYCE AOSIKHO
CMOTPETb B HAaNpPaBJIEHNU, A€ BCTAB/AETCS MOrPYyX-
Has KOp3MHa (MOrpyXHOe CUTO/CTEKIAHHbIN
OMYCKHOW LANMHAP).

p [locTtaBbre nepemblyKy ona pasmelieHua
XUMNYECKOro CTakaHa Yyepe3 Kopnyc Ha BecChbl.
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CofepkaHue

4.3.3 Bbi6epute XMMNYECKUI CTaKaH 1 NOrpy>KHoe
YCTPOWCTBO

Mopapok paencrBui

P> BbibepunTe XMUYECKUIA CTakaH WS MOrpyKHoe
YCTPOWCTBO. BbIGOP XMMMUECKOTO CTaKaHa
1 MOTPY>HOr0 YCTPONCTBA 3aBMCUT OT onpepgense-
MOW Npoo6bl.

0630p XMMUYECKOrO CTaKaHa 1 MOrpy»KHOro
yCTPONCTBa:

— [ins onpepeneHuns NOTHOCTU TBEPAbIX TeN, Ubs
NJOTHOCTb BbiLUE MAOTHOCTY XXUAKOCTU 1A OKyHa-
HYA: NOTpebyeTca XMMMYeCKni cTakaH (cd 90 Mmm
1 MOrpy>KHas Kop3uHa

— [ins onpepeneHuns NOTHOCTU TBEPAbIX TeN, Ubs
NAOTHOCTb HUXKE NMIOTHOCTM XUAKOCTA A1 OKyHa-
HVA: NOTPeBYEeTCA XMMUYECKMI CTakaH ¢ & 90 Mm
U MOTrPY>KHOE CUTO

— [ins onpepeneHuns NOTHOCTU XMAKOCTEN: NOTPeby-
€TCA XUMUYECKUI CTaKaH € & 55 MM 1 CTEKNAHHDBIN
OMYCKHOW LUWANHAP
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MoHTax

4.3.4 MoHTMpOBaTb CTEK/AHHDbIN ONMYCKHOM
UunuHap

Ha cTeknsaHHOM ONYCKHOM UMAVHAPE 3aKpeneHa
MPOBOJIOKA C YLIKOM. YLIKO MNPOBOOKM AOMKHO ObITb
3aBeeHO B KperieHre CTEKIIAHHOIO OMyCKHOro
umMnrHapa.

Mopagok pgencrenn

» YBEAOMJIEHUE MNonomaHHan NnpoBonoka 13-3a
n3rv6al BoITAHMTE CTEKNSAHHBIA ONYCKHOW LAANHAP
3a CTEKNAHHOE YLLKO U3 ynakoBKu. Mpr 3Tom He
neperv6aiite NPOBOSIOKY CTEKSIAHHOIO OMYCKHOrO
umnuHgpa.

P> YIWKO NPOBONOKM CTEKIAHHOIO OMYCKHOMO LININH-
[pa BCTaBbTe B CKOOY KpenneHus.

» 3aduKcupyiTe KpenneHmne CTEKIAHHOIO OMyCKHOro
LMINHAPa Ha Kopryce.

4.3.5 MoHTUpOBaTb TEPMOMETP

Mopagok pencrenn

p [o31LMOHMPOBATL TEPMOMETP B CTEKIIAHHOW Tape.

p Ecnun Heobxonmo 3aKkpenuTtb TepmomeTp: 3adukcu-
pyViTe TEPMOMETP 3aXKMMOM ANA KpenaeHnsa Ha
060/Ke CTeKIAHHON Tapbl.
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5

5.1

[nsa onpeaeneHns NNOTHOCTM TBEPLOTO TeNa AN UCMOMb3yeMOro yCTPOMCTBa

CopepkaHue

YnpasneHve

MeTon onpeaeneHuns NIOTHOCTU

n3MepeHusa NPUMeHAETCA «NPUHLMN ApXumeaa:

— HarTeno, norpy>eHHoe B BOAY, ,EleVICTByeT HanpaBJ/ieHHaA BBepPX NogbeMHaA Cuna.
dT1acuna PaBHa BeCy XXNOKOCTU, BbITECHEHHOW 06bEMOM Tesa.
— Cnomouwpbto rmapocTaTnyeCcKnx BeCOB, KOTOPbIE MO3BOJIAIOT B3BeLWBaTb TBepaoe

TeNO KaK B BO3yXe, TaK 1 B BOAE, MOXKHO onpenennTb NOTHOCTb TBEPAOrO Tena,

ec/In M3BEeCTHA MOTHOCTb NOAbEMHOM cpenbl:

nnn

W (a) - p (fl)
W (a) - W (fl)

onpenennTb MNIOTHOCTb XXNAKOCTU, eC/in U3BeCTeH obbem NOrpy>KHOro Tena.

Mpwn sTom:

p
p (fl)

G
fll= —
p (fl) v

MnotHocTb TBEpAOro Tena
MNOTHOCTb XMAKOCTN

Bec TBepporo Tena B Bo3gyxe
Bec TBepforo Tena B XngKkocTu
Mogbem norpy»Horo Tena

O6bem norpy»KHoro Tena
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YnpaBneHue

5.2 WCTOYHUMKM OWMNOGOK N BO3MOXKHOCTN KOPPEKTUPOBKMN

YBEJOMIEHWNE

HenpaBunbHbIil NOPAJOK AeACTBUI NPU IOCTUPOBKE BECOB!

p [lepen IOCTVIpOBKOI7I CHMMITE OepKaTtenb o6pa3ua KOMMNNEeKTa gnAa onpeneneHna
NNOTHOCTW.

<Dopmyna onpepeneHna NNOTHOCTU TBePAbIX TN NO3BONAET MNONYUNUTb pe3ynbTaT
C TOYHOCTbIO OT O4HOIo A0 ABYX 3HAKOB nocne 3anaTon. B 3aBucnmocTu ot HEO6X0,D,I/IMOVI
TOYHOCTU HEO6XO,IJ,VIMO yu4nTbiBaTb cnepyouwme KOBd)d)I/ILl,VIEHTbI OLINGOK ” nonpasokK:

— TemnepaTypHas 3aBUCUMOCTb MIOTHOCTY MOABEMHOW XNLKOCTM

— TogbemHas cvna nNpu B3BeLLMBaHNN B BO3AyXe

—  W3meHeHMe rny6uHbI MOrpY»KeHVs Yallm NePeMbIUKI MpU Norpy»eHnn obpasua
— CuenneHwue Xn[KOCTN Ha NOABECHOI NMPOBOJIOKE CTBOPOK CKOObI

— npuaunwe K 06pasLy BO3AYyLWHbIE My3blpy

OWnBKM MOXKHO YaCTUUYHO ncnpaBnTb C NOMOLLbIO KOMMbIOTEPA. [na storo Heobxo-
ANMO N3MEPUTb TeEMNEPATYPY KUAKOCTU N BHECTN COOTBETCTBYIOWKME NOMPaBKA

B NNIOTHOCTb XXNAKOCTU N NpeaBapuTeibHO 3a4aTb (I)VIKCI/IpOBaHHOE 3HayeHne BHYTpPEeH-
HEero AnameTpa cocyna anda pasmMmeweHna XNgKkocTtun.

Temnepa'rypHaﬂ 3aBUCUMOCTDb MJIOTHOCTUN XKNJAKOCTN

[MNOTHOCTb NOABEMHOM XKUAKOCTY 3aBUCUT OT Temnepartypbl. i3meHeHne NnoTHOCTU
B 3aBNCMMOCTU OT N3SMEHEHNA TEMNEPATypbl B °C OCyLLeCTBNAETCA B TAKOM
COOTHOWEHNN:

— 0,02 % gnAa pucTnMpoBaHHON BOAbI
— 0,1% pna cnupToB 1 YrneBoJopPOA0B
M3meHeHre MoXeT 06HapyXMTbCA B 3-eM 3HaKe Nnocsie 3anATon Npu onpeaeneHnm

MNIOTHOCTW.

[lnAa BHeceHMA NONpPaBOK B MNOTHOCTb XXMAKOCTV OTHOCUTESIbHO TemnepaTypbl
LeNCTBYITe Ciefyowym o6pasom:

— Temnepatypa *MAKOCTM N3MePAETCA NOCTaB/IEHHbIM TEPMOMETPOM.
— [noTHOCTb BOAbI MOXHO B3ATb 13 MMaBbl «5.4 3HaYeHWA MNAOTHOCTU», CTPpaHULUa 166
1 ncnonb3osatb ans p (fl).
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CopepkaHue

MoavemHan cuna B BO3ayXxe

O6bem Bo3gyxa 1 cM? B 3aBUCMMOCTU OT TeMMepaTypbl, BNaXXHOCTU U AaBNieHNA BO3ayXa
MOKeT BecuTb 1,2 Mr. [pu B3BELIMBaHMM B BO3AYXe KaxAblli cM® o6bema Tena aencreyeT
COOTBETCTBYIOLAA NOAbEMHan cuna. Takum obpa3om nonyyaemas ownbKa npu
HecobnoaeHV NOAbEMHON CUMbI B BO3AYyXe 0OHaPYXMBaeTCA B TPeTbeM 3HaKe nocne
3anAToN 1 NO3TOMY ee HeoOX04MMO UCMPABUTb.

Mopmyna yyeTta NogbEMHON CUMbI B BO3AYXe CliedytoLas:

W@)-[p(fl)-p@)] +
W (a) - W (f)

p(a)

Mpw 3ToM p (a) = 0,0012 r/cm® = NNOTHOCTb BO3AYyXa NPU CTaHAAPTHBIX YCIOBUAX
(temnepaTtypa 20°C, nasneHue 101,325 kla).

Fny6uHa norpy»xeHus

Yalua ons pasmMelleHnsa unm norpyxeHus obpasua B npoLecce B3BELUNBAHWSA B KUAKO-
CTW HEMOABWXHO 3aKpernsieHa ABYMsA MPOBOSIOKAMUN U MOTPYXKAETCA B XKUAKOCTb
npvMmepHo Ha 30 MM. MOCKOSbKY Nepea KaXkaon npoLeaypoi B3BeLwiBaHUA BECHI
TapUPYIOTCA, AOMONHUTENbHBIV NOABEM U3-3a MOTPYKEHHOW YacTU N3MepPUTENbHOIO
nprbopa He BKoYaeTcA B onpeaesieHne nioTHOCTU.

I'Ipm B3BellBaHNN B XXNAKOCTU BblITeCHAETCA obbem XKNOKOCTU paBHbIVI o6bemy Teny
o6pa3ua. 10 NPMBOAUT K TOMY, UTO KpeneXHaA NPOBOJIOKa Yalln norpyxaeTtca rny6>Ke
n o6pa3yeT OOMONHNTENbHbIE NOABEMHbIE YCUNNA, KOTOPbIE BKJTIOYAKOTCA B Npouecc
onpeageneHnA NIOTHOCTU KakK owunbKa.

J7a owmbKa UCNpaBnAeTcs B NPOLECcCe UCMONb30BaHKA Mo cnegytoLein popmyne:

o= W@)-[p(fl)-p@)] +p )
0.99983 [W (a) - W (fl)]

MocKonbKy MOMpaBoYHbI KO3bGGULMEHT ONpeenaeTcs UCKIUYUTENBHO MO FeoMeTprn
npubopa, HeobxoaMMo 0653aTeNbHO CNEANUTD 3a TEM, UTOObI 41 ONpeaeneHuns
NJOTHOCTU TBEPAOrO TeJla MCNOMb30Basncs TONbKO NOCTaBIEHHDBIN COCYL C YBENUEH-
HbIM fMameTpom (90 MM). DTOT NONPaBOUHbIN KOIGOULIMEHT BbIBEAEH B rnaBe «6
D®opmynbl», cTpaHuLa 167.
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qunnel-me XKNAKOCTU Ha NPOBOJIOKe

Mpu NorpyxeHnm Norpy»<Ho KOP3nHbI (MOrPY>KHOFO CMTa) B MOSBEMHYIO XUAKOCTb
XKMAKOCTb MON3ET MO NPOBOJSIOKE BBEPX MOA AeNCTBMEM CUITbI CLiennieHnsa 1 obpasyeT
LOMONHUTENbHBIN BEC B pa3mepe HECKOSbKUX MUMTUTPaMM.

MocKonbKy norpy»Has Kop3rHa (Morpy»kHoe cMTO) Npu B3BELLNBAHWM KaK B BO3AYyXe,
TaK U B XMOKOCTU HaXOAMUTCA B MOABEMHON Cpefie U nepen Kaxkaon npoueaypon
MN3MepeHNA BECbl TAPUPYIOTCA, BO3AENCTBME MEHUMCKA KUAKOCTU MOXKHO HE NMPUHUMATb
BO BH/MaHMe.

[nA ymeHblUeHNA NOBEPXHOCTHOMO HaNPAXeHUA 1 TPEHNA XUAKOCTY MO NPOBOJIOKe
K COLepPXMMOMY cocyfa ANCT. BOAbI 06aBnAoT oKono Tpex Kanenb MNAB (Mirasol
Antistatic nnu o6bluHOE MotoLLEee CPeaCcTBO).

B cBasu c noabemom I'IO,El'beMHOI7I XKNAOKOCTU NO NPOBOJIOKE 3HayeHe B3BELWMBaHUA
rnocne noABneHnA CUMBOA «M» MOXKET elle cnerka MsMmeHUTbCA. I'IoaTomy 3HayeHune
B3BellBaHUA HeO6XO}J,I/IMO CUMTbIBaTb Cpa3y nocsie noABAEHNA CMMBOJIA «I'».

BozpyuwiHble ny3bipu

OwnbKy n3MepeHus, KoTopas 0bpasyeTca 1U3-3a MPUAMNaoLWKMX K 06pasuy BO3AYyLIHbIX
My3bIPbKOB MOXHO OMNPEeAeNuUTb ClefytoLym o6pasom. [1na Bo3ayLWHOro ny3bips
Avametpom 0,5 MM JONOMHUTENbHDBIA NOLBbEM NPY B3BELUVBAHNM B BOfe MeHblue 0,1 Mr.
Mpu grnameTpe 1 MM JOMONHUTENbHBIV NMOABEM PaBEH YKe okoso 0,5 mr, a npv grame-
Tpe 2 MM 0Ko10 4,2 Mr. bonee KpynHble BO3AyLUHbIe My3blpbKy HEO6XOAMMO 06s13a-
TenbHO y6paTh C MOMOLLbIO TOHKOW KACTOUKM U NOJOGHOrO BCMOMOraTeNIbHOrO
WHCTPYMEHTa.

YBnaxHeHue Tak»Ke MOKHO BbIMOJSIHUTb 3apaHee B OTAe/IbHOM cocype.
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5.3 OnpepeneHne NJIOTHOCTN

5.3.1 OnpepgeneHne NIOTHOCTU TBEPAbIX TeN

MoproroBka
B cnepytolem onncaHnm ncnonb3yeTca AUCT. BOAA.

Mopagok aencreun

PacnonoxuTe xummnyeckuin ctakaH 6onbluoro guameTpa (J 90 Mm) nocepeamnHe Ha
nepembluke

HanonHuTe XMuMnyecknin CtakaH no YpoBHIO MPYM. 5 MM 10 Bepxa ANCT. BOAON.
[Nob6asbte 3 kannw MAB B ancT. BOAy.

3adurKcupyiite TEpMOMETP 3aXKMMOM Ha 060[Ke XMMMYECKOro CTakaHa.

OumncTnTe NOrPY>KHYI0 KOP3UHY pacTBOpUTENIEM (B YaCTHOCTU MOTpyXaemyto
NPOBOJIOKY) U BCTaBbTe B KOPMYC.

vVvvyvy Vv

Mpouecc nsmepeHusn
[JomxeH 6bITb onpefeneH Bec obpasLia B BO3ayxe.

Mopagok aencreun
p TapupoBatb Becbl.

» [MonoxmTe obpasel Ha Yally BECOB 1 B3BeChTE.
p 3anuwmnTe 3HaveHue Beca W (a).

Onpepenenne nogbema G =W (a) - W (fl)

Mopsaaok aencreun

P Tapupyite Becbl C 06pa3LIOM Ha Yalle BeCOB.

»> TonoxuTte obpaseLl B NOrpy>kHyt0 KOP3uHy. [11A 3TOro CHUMMTE Yally nepembluku
C U3MepUTeNbHOro Nprubopa 1 cneguTe 3a Tem, YTobbl MPU MOBTOPHOM MOTPYKEHNM
B XXMAKOCTb He MPUAMNany JOMNONHUTESbHbIE BO3AYLUHbIE My3blPbKY, ANA 3TOrO NO
BO3MOXHOCTV MofjaBaiiTe obpaseL; HaNnPAMYIO NHLETOM 1 UM Y€M-TO NOAOGHbIM.

p 3anuwmTe abconoTHOE 3HayYeHne oTobparkaeMoro nogbema G co 3HakoM MUHYC.
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PacueTt nnotHoCTIN

Mopapok aencTBuin

p CunTarite TemnepaTypy.

p Vicnonb3yiite 3HaueHne nnoTHOCTK P (fl) M3 Tabnuubl B IPUAOXKEHUN C yYeToM
CYMTaHHOW TeMnepaTypbl.

P PaccunTaiite NNOTHOCTb MO cnegytowein dopmyne:

. _ 3
oo W (@) - [p (fl) - 0.0012 r/cm’] +0.0012 r/cw?
0.99983 G

W@wuasrp (fl)Br/cv®G=W (a) - W (fl)

5.3.2 OnpepeneHve NJIOTHOCTU TBEPAbIX TeN, YbA NIOTHOCTb MeHbLe 1 r/cm?

[ns TBepAbIX TeN, UbA MIOTHOCTb MeHbLUE 1 r/cm® BOCTYMHO ABa Pa3HbIX MeToAa
onpepeneHnsa NIOTHOCTH.

Metop 1
B KauecTBe MogbeMHON XUAKOCTU fanee 6yaeT NCnonb3oBaTbCsA AUCT. BOAA.
Mcnonb3yeTca yalla nepemMblyKm C MepeBepHYTON Yallen cuta (Morpy»kHoe c1To).

[lns onpepeneHna nogbema obpaseL, CHauana HeO6XOAVMO PACMONOXKNUTb Ha MOBEPX-
HOCTM BObI 11 3aTEM OKYHYTb C MOMOLLbIO U3B/IEUEHHOTO 3apaHee MOrpy»KHOro cuTa.

Ho npw 3Tom ¢ NoMoLLbIo MWHLIETA UMW YEro-TO NOAOGHOrO MOXKHO TaKXKe Pa3MecTUTb
obpaszel nog vallein cuta (6e3 n3BneUyeHVs NOrpyHOro cMTa U3 Kopnyca).

Ecnn nogbem I/I3MepﬂeMOVl Cy6CTaHL|VII/I 60sblUe Beca NOrpy»KHOro cunTa, Bec
NOrpy>KHOro cnTa HeO6XO,ElI/IMO YBENNYNTb C NOMOLLUbIO AOMOJIHUTEJTIbHOIO rpy3a
Ha Yyalle BeCOB.
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MeTop 2

B KauecTBe NOABEMHON Cpefbl MCMOMNb3YeTCA XKUAKOCTb, UbAl MIIOTHOCTb MEHbLLE
NAIOTHOCTU ONpPEeRENAEMOro TBEPAOro Tena. Xopowo cebsi 3apekoMeHA0BaN 3TaHON
(nnoTHocTbO NpuM. Jo. 0,8 r/cm?).

Mpu NCNONb30BaHNM 3TaHOMA HEraTYBHOE BO3AENCTBME NMOBEPXHOCTHOTO HANPAXEHNS
XKUIKOCTW Ha pe3ynbTaTbl U3MEPEHNSA CTAHOBUTCA MEHbLLE, YeM NP UCTMONb30BaHNM
anct. sogbl. Noatomy gobasneHue MAB He TpebyeTcs.

Mpwu paboTe ¢ 3TaHONOM HEOOXOAMMO 0653aTeNIbHO cobnoaaTh AelCcTBYOWMe TpeboBa-
HUA 6e30MacHOCTU.

BTopoi meToa Heo6xoAMMO NPUMEHATL B TEX CJIyYasx, KOraa nioTHOCTb TBEPAOro

Tena N1LWb He3HaYUTENIbHO OTAIMYAETCA OT NIOTHOCTU AUCT. BoAbl. [lockonbKy obpasely
B BOJl€ HAaXOAWTCA BO B3BELUEHHOM COCTOAHUM, NPV MPUMEHEHM NEePBOro MeToaa
MO>KeT BO3HUKHYTb OLMbOKa n3mepeHua. Takxke LenecoobpasHo NPUMeEHATb BTOPOWA
MeTOA Torfa, Koraa Heo6xoAMMo onpeaenuTb NAOTHOCTb rpaHynAHTa. Mpy ncnonb3osa-
HUW NEePBOro METOAA B 3TOM CJlyyae C/TIOXKHO Pa3MeCTUTb rPaHYNAHT MOMHOCTbIO MOA
yallen cuTa.

STaHON He CriefyeT UCMOob30BaTh B TOM Clyyae, eciv obpasel yaanoch yxsaTutb
(pacTBOpUTD).

MoproroBka

B canepywowem onncaHnm ncnonb3syeTca gUCT. Boaa.

Mopsagok aencreun

Pacnonoxumre xummnyeckmnin ctakaH 6onbluoro gnameTpa (& 90 mm) nocepenriHe Ha
nepemblyke

HanonHuTe XuMmnyecKkmni ctakaH no ypoBHIO NPYM. 5 MM 10 Bepxa AUCT. BOJOW.
Ho6asbte 3 kannu MAB B gucT. Bogy.

3adurKcupyiiTe TepMOMETP 3aXKMMOM Ha 060[Ke XMMMYECKOro CTakaHa.

OuuncTnTe NOrpy>KHOe CUTO pacTBOpUTENEM (B YaCTHOCTU NOrpyKaemyto NpoBo-
NOKY) 1 BCTaBbTe B KOPMYC.

vvvyVvy Vv
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Mpouecc nsmepeHns

JomxeH 6biTb onpepeneH Bec obpasua B Bo3ayxe.

Mopapok pencTeuin

p TapupoBatb Becbl.
P [NonoxuTe obpaseL, Ha yaLly BECOB 1 B3BECbTE.
p 3anuwmnTe 3HaveHme seca W (a).

OnpepeneHne nogbema G =W (a) - W (fl)

Mopapok pencTBuin

p Tapupywite Becbl C 06pa3LIOM Ha Yalle BECOB.

p [Monoxmte obpasew, B MOrpy>KHY0 KOP3UHY. 114 3TOro CHUMKTE Yally nepemblyukm
C M3mepuTenbHOro npubopa v cnegute 3a TemM, YToObl NPV MOBTOPHOM MOTPYKEHUN
B XKMIKOCTb He NPWAVNany JOMNONHUTENbHbIE BO3AYLUHbIE My3bIPbKY, A7 3TOFO MO
BO3MOXHOCTU NnogaBarite obpaseL, HanpPAMYIo MMHLETOM WX YeM-TO NOAJOOHbIM.

P 3anuwwuTte abconoTHoe 3HauYeHre oTobpaxaemoro nogbema G co 3HaKOM MUHYC.

PacueTt nnotHOCTIN

Mopapok penicTBuin

p CunTarite TemnepaTypy.
» Vicnonb3ywte 3HaueHune nnoTtHocTL p (fl) M3 Tabnuubl B rnase «5.4 3HayeHuA
NIOTHOCTUY, CTPaHMLA 166 C yYeTOM CUNTaHHOWN TemMnepaTypbl.

P> PaccunTaiiTe MIOTHOCTb MO CeayioLen popmyne:

p= W@ p @-0® 60012 r/ew
0.99983 G

W@wuasr;p (fl)Br/cv®*G=W (a) - W (fl)
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5.3.3 OnpepgeneHvie MIOTHOCTU XKNUAKOCTEN

MoaroTtoBKa

Mopsaaok aencreun

P Pacnonoxure XMMrnyeckuii CTakaH HebonbLuoro anametpa (J 55 mm) nocepeanHe
Ha nepemblyKe.
P 3aduKcmpyinte TepMOMETP 3aXKMMOM Ha 060Ke XMMNYECKOrO CTaKaHa.

Mpouecc nsmepeHns

Mopsagok aencreun

P> BcTaBbTe KOHUYECKNI ANCK C BUCALLVIM Ha MPOBOJIOKE CTEKNAHHBIM OMYCKHbIM
LUUAVHAPOM B KOPYC.

» TapupoBaTb BeCbl.

P HanonHute X¥MUYeCcKnin CTakaH onpeaensieMon *KUAKOCTbo A0 OTMETKM 10 MM Hafl
CTEKAHHBIM OMYCKHbIM LIIVHLPOM.

Onpepenenne nogbema G =W (a) - W (fl)

OTo6pa>Kaemoe Ha BeCaX oTpuuatesibHOe 3HayeHe BeCa paBHO Nogbemy, KOTOprVI
,EleI7ICTByET Ha ONYCKHOE TeJ1I0 B XKNAKOCTU.

Mopagok aencreun

p 3anuvwuTe oTobpakaembii nogbeM G CO 3HAKOM MUHYC.
P CuuTanite Temnepatypy v 3anuwnTe ee.

PykoBogcTBo no skcnnyatauuy YDKO3MS | YDKO4MS 165



YnpaBneHue

PacueTt nnotHoCTIN

Mopaaok pencrenmn
p PaccuuTainTe NNOTHOCTb MO cnegytowen dopmyne:

G
)= —
p (fl) v

Ger;VBow?

O6bem CTEKNAHHOIO MOMPYXKHOTO Tefa 13 KOMMIEKTa Ans onpeseneHuns XuaKkoctv
paBeH 10 cv?.

TeKyLan NNOTHOCTb XXMAKOCTU (B I/CM3) BbIBOAMTCA OYEHb NPOCTO. N5 3TOro
nepecTtaBbTe 3aMATYI0 HA VHAVKALMUM BECOB Ha OfMH AECATVNYHbI 3HAK BNIEBO.

5.4 3HauyeHUsA MJIOTHOCTM

3HaueHua nnotHoctu H,O (gerasuposanHas soga) npu remneparype T (8 °C) B r/cm’

T/°C 0,0 0,1 0,2 0,3 0,4 0,5 0,6 0,7 0,8 0,9

10 0.99970 0.99969 0.99968 0.99967 0.99966 0.99965 0.99964 0.99963 0.99962 0.99961
" 0.99960 0.99959 0.99958 0.99957 0.99956 0.99955 0.99954 0.99953 0.99952 0.99951
12 0.99950 0.99949 0.99947 0.99946 0.99945 0.99944 0.99943 0.99941 0.99940 0.99939
13 0.99938 0.99936 0.99935 0.99934 0.99933 0.99931 0.99930 0.99929 0.99927 0.99926
14 0.99924 0.99923 0.99922 0.99920 0.99919 0.99917 0.99916 0.99914 0.99913 0.99911
15 0.99910 0.99908 0.99907 0.99905 0.99904 0.99902 0.99901 0.99899 0.99897 0.99896
16 0.99894 0.99893 0.99891 0.99889 0.99888 0.99886 0.99884 0.99883 0.99881 0.99879
17 0.99877 0.99876 0.99874 0.99872 0.99870 0.99869 0.99867 0.99865 0.99863 0.99861
18 0.99860 0.99858 0.99856 0.99854 0.99852 0.99850 0.99848 0.99846 0.99844 0.99842
19 0.99840 0.99838 0.99837 0.99835 0.99833 0.99831 0.99829 0.99826 0.99824 0.99822
20 0.99820 0.99818 0.99816 0.99814 0.99812 0.99810 0.99808 0.99806 0.99803 0.99801
21 0.99799 0.99797 0.99795 0.99793 0.99790 0.99788 0.99786 0.99784 0.99781 0.99779
22 0.99777 0.99775 0.99772 0.99770 0.99768 0.99765 0.99763 0.99761 0.99758 0.99756
23 0.99754 0.99751 0.99749 0.99747 0.99744 0.99742 0.99739 0.99737 0.99734 0.99732
24 0.99729 0.99727 0.99725 0.99722 0.99720 0.99717 0.99714 0.99712 0.99709 0.99707
25 0.99704 0.99702 0.99699 0.99697 0.99694 0.99691 0.99689 0.99686 0.99683 0.99681
26 0.99678 0.99676 0.99673 0.99670 0.99667 0.99665 0.99662 0.99659 0.99657 0.99654
27 0.99651 0.99648 0.99646 0.99643 0.99640 0.99637 0.99634 0.99632 0.99629 0.99626
28 0.99623 0.99620 0.99617 0.99615 0.99612 0.99609 0.99606 0.99603 0.99600 0.99597
29 0.99594 0.99591 0.99588 0.99585 0.99582 0.99579 0.99576 0.99574 0.99571 0.99568
30 0.99564 0.99561 0.99558 0.99555 0.99552 0.99549 0.99546 0.99543 0.99540 0.99537

Cnvcok nuTepatypbl (ccbinka):

— NIST ITS-90 Density of Water Formulation for Volumetric Standards Calibration, Volume 97, Number 3, Chapter 3.3
Density of Air-Free Water p (kg m=) =999.85308 + 6.32693 x 102t - 8.523829 x 10 t2 + 6.943248 x 10~° t3 -
3.821216x 107 t4

— DAKKS-DKD-LF-8-2 kannbposoyHas xumakoctb Boga — DakkS, Mpunoxerwve 1, Tabnuua A
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6 @Qopmynbl

[nAa ynyJweHHOro NOHMMaHUA HXKe OyayT BblBeAeHbl NCMOoSIb3yeMble GOPMyJibl
1 MONPaBOYHbIN KO3GDULIMEHT.

OCHOBHbI€ NONOXKEHNA

Macca (r)
MnoTHOCTb =

0O6bem (cm?)

3akoH Apxumega:

Ha Teno, norpy»eHHoe B BoAy, ieNCTBYeT nogbeMHas cuna (G). OTa cuna paBHa Becy
XNIKOCTU, BbITECHEHHOI 06bemoM Tenla. O6bem norpyxeHHoro TenaV (s) paBeH
06bemy BbITeCHeHHOW )ugkocti V (fl).

Onpepensetca:
1. Bec B BO3gyxe W (a)
2. lMopabem Tena B xuakoctu (G)

MnoTHOCTb Tena paBHa:

Macca tena W (a) W (a)
p = = =
O6bem Tena V (s) V (fl)

Ecnu nnoTHocTb p (fl) BoITECHEHHO BOAbI M3BECTHA, MOJTyYaeTCa

V() = Macca (fl) _ G

p p (f)

3a 3TMMm cnepyeT:
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Pacuer

MnotHocTb TBEPAOro TeNa pacCynTbiBae€TCA N3 COOTHOWEHUA

p:W(a)=p (fl) : [W (@) - W (fl)]

W3 sToro cnepyert:

W (a)-p (fl)

pP=
W (a) - W (fl)
W (a) - W (fl) = G = noabem ob6pasua

MNOTHOCTb XXMAKOCTU PACCUMTBIBAETCSA M3 MOLbEMa NMOTrPY>KHOTO TeNa C 3afaHHbIM
obbemom.

G
pfl)= —

\Y
Mpwn sTOM:
p MnoTHOCTb TBEpPAOro Tena
p (fl) [MNOTHOCTb XUAKOCTU
W (a) Bec TBepforo Tena B Bo3gyxe
W (fl) Bec TBepforo Tena B XngKocTu
G MNMoagbem norpy»Horo Tena
\Y O6bem Norpy»Horo Tena
MonpaBKun

ﬂ,ﬂﬂ BHeCeHMA NonpaBoOK B onpepenieHne NaoTHOCTN TBEPAbIX TeN YYUTbIBAETCA:

— TogbemMHas cuna B BO3ayxe, KoTopas AeicTByeT Ha obpaseL, Npu B3BeLMBaHUN
B BO3JyXxe.
Mpw 3Tom p (a) = 0,0012 r/cm® = NNOTHOCTb BO3AYyXa NP CTaHAAPTHbIX YCIIOBUAX
(TemnepaTtypa 20°C, naBneHue 101,325 klla); OTciopa cnegyer:

W) -[p (fl)-p (a)

p= +p(a)
W (a) - W (fl)
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- I'Iorpy>KeH|/|e MPOBOJIOK I'IOpr)KHOI;I KOP3UHbI NN NOrPYy>KHOIo C1Ta

Mpw MCNoNb30BaHUN JaHHOTO KOMMJIEKTa AJiA onpeneneHus NIoTHOCTY NOgbem
G =[W (a) - W (fl)] HeobxogMmo yMHOXUTb Ha KoadduumeHT 0,99983 (nonp.).

PacwmpeHHaa dopmyna:

W (a)-[p (fl) - p (a)]
p= +p(a)
[W (a) - W (fl)] - nonp.

70T KO3 dULMEHT 0bpasyeTca Npu yueTe NOgbeMa NPOBOJIOK, KOTOPbIE MOrPyKatoTcA

rny6xe npu pasmeLleHunmn obpasua.

BbiBepgeHue nonpaBoyHoro ko3¢ duumeHTa:

MNMoabem 13-3a MOrpy»KaeMbix MPOBOJIOK 3aBUCUT OT BbICOTbI «h», Ha KOTOpytO
NMOAHVMAETCA XUAKOCTb MPUW NOrpy>KeHnn obpasua.

Mpwu 3Tom 06bem obpasua V (pr) paBeH o6bemy xugkoctn V (fl).
O6bem obpasLa onpeaenseTca nyTeMm M3MepeHns nogbema. To ecTb:

V (pr) =V (fl)

nunm
W (a) - W (fl) B w-h-D?
p (fl) 4
4.[W (@) -W (fl
Torga h = [W (a) (]

p (fl)-m-D?
Bbi3BaHHbI NOrpy»eHremM NPOBOJSIOK NOABEM «A» paBeH:

n-d?

4

A=2.

-h-p(fl)

I'Ipm ncnonb3oBaHun «h» nony4vyaeTca:

2-;-d*-4-[W(a)-W (fl)]-p (fl)
4.p(fl) - m-D?

p:

2

A=2. -[W (@) -W (fl)]

DZ
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Ona y4yeTa nogbema NPOBONOKN OT PAaCCYHUTAHHOIO NoAbeMa o6pa3ua:

G=W (a) - W (fl) Heo6x0aAMMO OTHATb BbI3BaHHbI MPOBOIOKaMU MOABEM <A,
Taknm 06pa3om ncnonb3yemoe Npu pacyeTe 3HaveHne nogbema «A (nonp.)» byaer
cnepyownm: G — «A».

2

A (nonp.) =[W (@) -W (fl)]-2- -[W (a) =W (fI)]

DZ

2

1-2-

A (nomp.) = -[W (@) -W (fI)]

DZ

B komnnekTe fona onpepeneHna NNOTHOCTY ANA onpeaenieHnsa NIOTHOCTY TBEPAbIX
TeN NCNOMb3yeTcA XMMUYECKUIA cTakaH 6o5bLuoro grameTpa (& 90 Mm) 1 norpy»kHoe
YCTPOWCTBO C ByMA MPOBOSIOKaMu anametpom 0,7 Mm.

Mpu ncnonb3zoBaHuy 3HaueHnin ana d = 0,7 mm 1 D = 90 MM nonpaBoYHbIl

KO3bbULMEHT BbITEKAET 13:

2
1

902

1-2- =0.99983

Mpu NCMOMIb30BaHNM YCTPOWCTB APYTUX Pa3MePOB MOMPABOUHbIN KOSGOULMEHT
COOTBETCTBEHHO HEOBXOAMMO PACCUUTaTb 3aHOBO.

170 PykoBogcTBo no skcnnyatauuy YDKO3MS | YDKO4MS



Bx

1 RFHRXHE ... 172
11 B 172
12 HEERXE ............ 172
13 EHAMBS ... 172

131 BiEMRPNES
BE.............. 172
132 HEHFS ......... 172

2 BE. 173
20 FERRRE. ... 173
22 WHIEBEM. ... ... 173

3 RS ... 174
3.1 YDKO3MS. ......covvvvnn.. 174
3.2 YDKOAMS. ..., 175

4 BEE . 176
41 FREBE................. 176
42 /REHRE. ... 176
43 BEFR. . 176

43.1 ¥4 YDKO3MS Z2EF|
RE. oo 176
432 % YDK0O4MS Z3EZ|
RE. oo 178
433 EFEBRAFITIR
BEE. 179
434 RIEWHIBE ..., 180
435 ZFEEREIT....... 180

B

S g -

5 BT 181
51 AFNEZENAE...... 181
52 REBRIMEIERXIT........ 182
53 BFEME. ................ 185

531 MEEFHZE... 185
532 MEZERT
1 523 A EKEIE
KHZE ......... 186
533 MEREMZE... 189
54 BEME................... 190
A W 191

12 4E15BF YDKO3MS | YDK04MS 171



RF A

1 RFAEXHE

1.1 B
BAFRBA A RE—E5 . XERAER T TRAR=Mm:

=i e

AT Cubis’ LWEXRFHZEMNELR, XFAEME  YDKO3IMS
01 ZERF0.01 ER

AT Cubis® REEXRFHNZEMNELR, XFEME  YDKO4AMS
A1ER

1.2 HEERAXHE

b BRIXLFEAZ SN, HEIE TR
- PFTHSE=EXFHIIRAR

1.3 FRHANES

130 BIEREPHESRER

TE
AR SRTMRFERIZEN, IS RIFI R

1.3.2 HEHFS

> FTEERIERAE: MR AATRIRE,
> R WMACHITHRIERE R
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2 EBE

2.1 TiHAR &
%Fﬁﬁ?%i@ﬁﬁﬁﬁm%ﬁo%Tﬂi@%%%ﬁ,%ﬁﬁﬁﬂﬁ
RN

A RHTIRERIEYANE MR Sartorius 3216 = X FE—i2 i1k,

MR EXRFEARAZENERF: AJERZENETRfE ENE A
BFESTEZEE.

MRERATENERFNESZE: BHMKEERFRERAMENER E.

FmEEER, NARBXERBER. EkzRBEROBESRA
5.

2.2 WIRAH
WKIRGE. RMFIRE T R AR WEHNRBAIESHGE.
> MNRIIIHE. M BUREIT IR FRIRE. R SUREIT.
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24 gb ki

3 &I

3.1 YDKO3MS

[&].1: YDKO3MS ZB44

w/E &AW w/E AW

1 K& (E12 90 mm FAELAR 55 mm) 5 IR

2 F2E 6 X

3 mEITEER, 7 R
TR B &R

4 mETT 8 i
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3.2 YDK04MS

[&.2: YDK04MS 244

w/E &AW WS B

1 A (E1R 90 mm FAE R 55 mm) 5 s

2 22 6 prd

3 mETTEEE, 7 R
TRNBERE

4 mETT 8 %
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1

42 HFEHEH

R

e
TAERFATRESRFAY !
> KRB ESEAE. STHARESREERMIE/ID.

43 BEFS
4.3.1 1% YDKO3MS ZZEEF| KT

FERFEMH
AJEEMEA 0.1 E5EE 0.01 E5EHY Cubis” SEIERT
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> ARFELIFE T ER G
- MER (1)
- B3%R (2)

> BEEBAREEN. IR
BEFILSVEBFRTE RN/
WIE) MAZRHEITIE.

> R ABRBURAAIR F TR E
HEXFL.

82 4E35 B3 YDKO3MS | YDK04MS 177



Py
A

4.3.2 1% YDK04AMS RIEE|IXF

EREH
AT 1 A Cubis’ I ERF

EFRF
> AXFLEFTHRER (1) »

> BEEBAREEN. IR
BEFILSVEEFRTE RN/
WIE) MAZRHEITIE.

> R A RBURAAIR F TR E
#EXFE.
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433 EEFERFMTERE

EF
> EFRRATNREE. BRRR
FEMEFEBRTHFUENER.

RARFIIRFEERIBR :

- ENEZEEXTELERIEE
HZE: FEER 90 EKHER
M mTE

- EEZE/NF TR R E K
HBE: EEER 90 ZXAEM
SRR

- ENERENEE: FEER 55
ERH BN R
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4.3.4 REWIHE

—SFEBELARAERBEL, &1l
WA RIBENS T L.

R

> IR MRTH, AAESEHR !
BB RERIL R H AR, 15
NE I IRIE ERILL .

> ’I%%E%@J:H‘J%?L%EEIE%%E’\]%
? o

> EIIBIERI T RIERI G

435 REREIT

EF

> BEE TN o

> MRFTERFBEIT: EREEX
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5 IEAT

51 AFMEEERNAE
AR5 1 PR oK 1 R A

- RABEHEGREZE ERFES . ZNETFERHFFRRIEHET.
- FIRAFEESSURKPREEENAESRNZEXRTE, WREFANTEE
S, A UNE BRI :

o Wi p (1)
W (a) - W (fl)
1
WMRZABEBEFREEN, NAINERENEE.
G
o (fl) = V
Hr:
P &R R % B

p (f) RIEKNEE

Wh) EfEZESHPHNEE
W)  BEFEREPHEES
G ENYREE

Vv ENIERIEFR
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5.2 JREFREIERID

TE
HEXEREFALER !
> ERER, BREENEEANERITE.

ATFUEEFZENANEARR - ERL/NS AERE. RIEMEIE
B, BERTIREFMEERH:

im X AR E R

EESHRERNERFESN

RN SRERNREREL

REFEERRENRL L

P& AR ERSE

FRZERTDUBAEHEAEYIE. Bk, EXENSREEE, FEMEE
RIEZE, DBERMNRENETRNEZ.

i FE 3 R R

FNRENZESRERZ . nEETH—EREZETHOT:

- ZEUEIK, 0.02%

- BRMRESLED, 0.1%

EZEMNERE, ZZWIRMESE =N/NAL.
ERBEEBEREZE, BHITTISE:

- [FRRMMEEITTNERIKEE
- KHZERAINAEET “S4ZEE" , 190 THREHEE, AIUATF
o (fl)o
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E8EN

WRiERE. REMSE, 1 IAERXFRRSHEEN N 12 BR. EZTHR
BN, 8XHEKNMEAZENNZE. SRENSEPREAAFHIE
B=A/NELL, B MEITEIE,

UTARFEETEN:
W) [p (f)- p (a)]
P Wawm T PW
Hep p 0.0012 B[S FEX = tFrESY ((BE 20° C. KI[E 101.325 F1H)

(@) =
THESEE.

BANRE

ARAERHRERE, BTEEM/SRANEROENEERZRIMRERSE EHZ
NBRIERELT KL 30 2K ATEAVWEZMIRTFCEER, WERKERA
BAFENEEFARTAZEENE.

MRABEPRE, REFERERYNARIEEREDNR. XSHE LHEEL
BANER, HEEFNNEN, FEBENEIRE

AT RAREYEIZIRE:

_ W) [p (M- p (a)] i o ()
0.99983 [W (a) - W (f1)]

HATFEERBNERE/LAEHRE, BABRIABEAERREN (90 2X)
RENBRATVEBRGREE. &1 "6 X" , 191 TURATIZBERH
HIEREL T 7%
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RIS ERIREE N

Shmi (BEM) BNZFNBRER, BB THMNIERSaRERS
HrEllERHINER.
ARAEZSHEREREDRE, ATFERE (BEN) LFFEANFEF,
BESANEF BN XTFEER, AJUZBEES AmRMm.

AT RDBIEI LRI REK NFER, H=@REEER (Mirasol Fy &R 7
SEE R AMERRPRIEEKE.
HTRirsaRERS, €27 ¢ 25, EEETESHRERELN.
Hit, £27 “9" BERIZEERNEEE.

S
SRR R LM EIRE T T, NRSHERY 05 &
K, FEARRENS AT 01 BROTNEN. NRTHARN 1 BX,
FUNEND 05 B, MRERTE 2 BHKAA, WAL 42 BE. HRHLA
FUEERSE N T AR X BRI,

AT A IR A B 2R IR BN R S
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53 EENE
5.3.1 MEEFERZEE

h:3:
HELUT R, B{E B

BF

> BRAORKGEN (EE 90 ZX) BMEFRF L.

> AREMEK, BEEFRBAOKMAERMILEZ T 52X

> = iEREE AR kR

> {E AEIE A m T Bl E ) A 10 5

> ERABRAFTERR (BEERANE) FHESEESR L.

MEEF
HREEVMETSHNUE

BF

> FRFER

> BEREAIRRER EHRE.
> IETEEE W ()

WEZEN
G=W(a)-WI(fl)

BF

b ALEREE RN REER.

> 7F$nnE:F7|$n':'n§E MNNEEEBBRG%E, HBEEIFENEITHINSAM
=, MR, FREFIEUTEEERNER.

> IETFENG EI’\]ZESFHE, BIE® RS,
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THEE

EF

> EBURE

> FEHAENMEEEREPREZERE o (M.
> FEATHARITEZE:

_W(a)-[p (fl) - 0.0012 g/em’]
- 0.99983 G

o) +0.0012 g/cm?

W) # 6 (BfA%) ; p (f) (BAIASE/AIFZEXK) G=W(a)-W(f)

53.2 MELERT 1 RIALFERNEFRIEE
ARMARNAEATRTUERERT 1 /A ERNEENZEE.

HiE1
{8 AZIBKIERZNRIN. BR, BEBEEHRATAENENE (BR) o
ENEEREGES, SEiLERAEKTE, RAREAZIIBBRIENBEEZN.

myuﬁ%ﬁ%ﬁﬁwlﬂﬁﬁﬁﬁﬁﬁ$ﬁmTﬁ(%%Mi%tﬁ%ﬁ
™) .

MREZMERRFNRTFRMHWES, NHRAIZRRER LRMESME
RIGMIEMIEE
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WIE R ENTF RN ERS ERRIEMEAZNNR. ERCE (ZFERKY
A 08 ZAAEXK) HITNERN, RETRENER.

EERACER, RIEREKAINERN T EE AR B KRB ABE.
Eit, AEERMEREEER o

EEACER, BRARBNBRINEETEGERE.
MRERNZESHBKNZEEHEZEER, BEREF-MAE. SHEREZFHE
K, MBERAE—FAE, NATRHINERE. ENEBNYRHZE,
B H{EAE —fA %, ki, EFRE—MAEREESENERETIENZ
To

MRCESE SRR ER, BAEERIE.

;3 4
HELUT R, B{E B

BF

> BRAORKEN (EE 90 BXK) BMAEFBF D

> AREMEK, BEEHRBAOKMAERNILEZ T 5 X

> R =iERE SRR INE & kR

> AEE S m T Bl E B R A 1L 5 o

> ERBRAFTEM (FTEERANL) FREEEESRELE.
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MEFEF
HREELNAETSHUE.

BF

> BRFEERK

> BHEEMELZERERE LHKRE.
b IETE=EW @)

MEZFN

G=W(a) - W(fl)

R

> AEXEREZ FMERNRTEER.
> BERETHEMAE: NUEREBREE, AHEEMRANRENEHINS

apE; MR, EREFREAMNTREERRMER.
> IETiFHN G HENE, EFRS.

it HE
L

> EBURE
> EREBRREESET "S54 EEET , £ 190 TAREEREEE o (.

> ERATIARNTERE:

W) p ()
0.99983 G

W) # G (BAASR) 5 o () (BACASR/EIFEXK) G=W (a) - W (fl)

+0.0012 g/ecm?
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53.3 MEREHZE
H&

BF
> BRNERREM (B 55 2XK) MEHRBF L.
> {EAEE A m E T Bl E B A L

MEIEFF

EF

> BHEAWEENE R (BEAEEL L) NXEERT k.

> BREERE.

(RSN ARARIEREA, EERRAS TIHIEE 10 2Xo

MEZEHT G=W (a) - W ()
XERTRHOHEEN N TFREEREERIBE LRZEN.

BF

> IBTFENG, BIEFHFRS.
> EEFHERIEE.
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i
AN
(=)

HEEE
ERF
> EATIAXTTERE:
G
o (fl) —V

GHIBfL AT, VIR AIZITEK

FENEREHTE FHIWIBERNERS 10 L7 EX.

RERAERSERZE (REZFEK) RES, BRXFETEHH/ N REER
Zh—1{iL.

54 EEE

H,0 (E5K) H#EE T (C) HHIEE, B AR/IAER

1 C 0.0 0.1 0.2 0.3 0.4 0.5 0.6 0.7 0.8 0.9

10 099970 099969 099968 0.99967 099966 099965 099964 099963 0.99962 0.99961
11 099960 099959 099958 0.99957 099956 099955 099954 0.99953 0.99952  0.99951
12 099950 099949 0.99947 0.99946 099945 099944 099943 0.99941 099940 0.99939
13 099938 099936 099935 099934 099933 099931 099930 099929 0.99927 0.99926
14 099924 099923 099922 099920 099919 099917 099916 099914 099913 0.99911
15 099910 099908 099907 099905 0.99904 099902 099901 099899 0.99897 0.99896
16 099894 099893 099891 0.99889 099888 0.99886 099884 0.99883 099881 0.99879
17 099877 099876 099874 099872 099870 099869 0.99867 0.99865 0.99863 0.99861
18 0.99860 099858 0.99856 0.99854 0.99852 099850 0.99848 0.99846 099844 0.99842
19 099840 099838 0.99837 0.99835 099833 099831 099829 099826 099824 0.99822
20 099820 099818 099816 099814 099812 099810 099808 0.99806 0.99803 0.99801
21 099799 099797 099795 0.99793 099790 099788 0.99786 0.99784 099781 0.99779
22 099777 099775 099772 099770 099768 099765 099763 099761 099758 0.99756
23 099754 099751 099749 099747 099744 099742 099739 099737 099734 099732
24 099729 099727 099725 099722 099720 099717 099714 099712 099709 0.99707
25 099704 099702 099699 099697 099694 099691 099689 0.99686 0.99683 0.99681
26 099678 099676 099673 099670 0.99667 0.99665 099662 0.99659 0.99657 0.99654
27 099651 099648 099646 099643 099640 099637 099634 099632 0.99629 0.99626
28 0.99623 0.99620 0.99617 0.99615 0.99612 0.99609 0.99606 0.99603 0.99600 0.99597
29 0.99594 099591 099588 0.99585 099582 099579 099576 0.99574 099571 0.99568
30 0.99564 099561 0.99558 0.99555 0.99552 099549 0.99546 0.99543 099540 0.99537
et

— NIST ITS-90 B ERBEMKBREZE, 597, RS 3, T 33 TRKHEZE o (kg m™) = 999.85308 +
6.32693 x 1072 t - 8.523829 x 107 t2 + 6.943248 x 10 t3 - 3.821216 x 107 t4
— DAKKS-DKD-LF-8-2 & HER 7K - Dakks, Bk 1, &R A
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EXRE
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2
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152

B B K18 R IR AR -
BRNBIEHEEEGSAZFN (6) o ZAETEFHFANRENES. BN
BElARIEFR V (s) FTFHARIERERR V (7).

MWETFNHIE:

1. EFHREE W ()

2. BEFRFAEREREIES (G)

MikEZEA:

_ PHRE We) WG

MIEARRR Vs V(fl)

WRAFFRENZE o () EXI:

V (fl) = = (fl) _ G
o o (fl)
my:
W (a)- p (fl)
P =
G
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j213

itE
BiEZERITTEETUTREE:
p:W(a)=p (fl) : [W(a) - W (fl)]
mj:

W (a)- o (fl)

W (a) - W (fl)

W (a) - W (fl) = G = HERHIIF N
MNENDERZENNERENZE, HFRADENEREE.

i

o ()= >
V
Hrp:
o BHNEE

p (f) RENEE
Wh) EfEZESHHNEE
W) EREREFHEE

G ENYMERYE T
v BRI AR
fEIE

EENENZER, BREENT:
- HREZSTHRENAZENESEN.
Hr p () =0.0012 B/ FEXK = FrEEHE (GRE 20° C. |JE 101325 F
1A) THESZE; 48R:
=wm¢pmrpwn+
W (a) - W (fl)

p (a)
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a

- FmESEMNERRA
ERZEENEEMGR, DAHFEN G =W (a) - W (f)] FeLLF £ 0.99983
(f2IE) - T RA:

p=W@me%pwﬂ+pb)
[W (@) - W (fl)] - corr

ZRBEERTINERNERANERNELFEN.
ESEERBRIAE:
BANEFERFNBRRFEANERRELEFANTE 07 o

L, FEmIEFRV (pr) 3R FRAREFR V (1)
HRFRETNEFNAUH. Eit:

V (pr) =V (fl)
"

W@ -W()  wohD
o) 4
ap. b WG -

o (f)-m.-D?
BALFENEN A R
Az 8 @
LEA “h” B

B 2-m-d*-4-[W (@) -W(f)]- o (fl)
4-p (f)- - D2

2

A=2- - [W (a) - W (f1)]

D2
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j213

EEBRLEHEFEN, NIENERZEITBRERNELTERNFN A7
G=W()-W({f)HEAFIHERZENE "Alcor)” H: G- "A” .

2

A (corr) = [W (@) -W (f)] -2 - - [W (a) - W (f1)]

D2

2

d ‘ W (a) - W ()]
DZ

A (corr) = [1 -2-

w#AREZENEERS, BEARAARKER (O 90 2X) UEFEH 2 1RE
(B2 07 BXK) MENKERRNEEKZE.

L{EAEE d = 0.7 ZKF1 D =90 XA, BEREA:

2

1-2- =0.99983

902

EREMRTHIRER, LB ERITREEERY.
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AECDWT

1 EKE[CDWT

1.1 B

REHRGEHAAE I HED—E T, AZDFHBIE. RD/N—T 3 >V DOHGISE
AENET,

R Bzt

Cubis’Z RAXUVARRERES Y b GEWPBEE0.1 mg  YDKO3MS
HEKT0.01 mg)

CubissZ RAXUVARZRERET Y b GEWPBEE1 mg)  YDK04MS

1.2 ZOMOEENE

> AZFOHBICMA T, UTOXEELERLTILEL,
- EAY 25 RAXUADERKGRRAE

1.3 fEALTWSES

1.3.1 BRFHIADESHER

LT
B LGEWEEIC. YRREICDGED SRIERDH SERMERLE T,

1.3.2 TS

> DEGHRHE RITT20EDHHEEZRLET,
> R - RITLIFRDOBERZRLE T,
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2 e
2.1 FB&

AEMIE. BEFEEIGREOREAEICERLET, BlFEORERAEICIE.
AR EEBLET,

AHGIE. BTBEYEFEREOYIL U IR REXVAEEDIERL
EER

BEAETOV S LBHDSRARVCADIGE | BEAEFY b EBEAE
TRUSLEFERLT BEZBEFFETCELT,

BEAETOYS L Z2ERALTBREZAET 256 | ZRAXRUADEIRES
BAZICE>C. BEZRAELET,

HmEFEATBRICIE. RBICL TR TLIEEY, TNLUSNDERTE
& FBYEHGTENE T,

2.2 HSARUERERSR

HZATZIv b E—A— BEFRAZARTY, BNfAZREIFH
DEREANICZVET,

> HSATSIv b E—A— BESDERELIISE  AZXTIIY
b E=H— BEFZZRLET,
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HRR DA

3 FEESDEHEE

3.1 YDKO3MS

1: YDKO3MSD#EAER &

No. %A No. %l

1 E—hH— (@90 mmdB KTV @55 mm) 5 AHAZATZIv b

2 JL—L 6 SBHWN

3 BESHUT—F—vUvTS 7 HEBRILA—
(HTETBSIC R BIEH)

4 CREF 8  JUwvy
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HER DA

3.2 YDK04MS

2: YDKO4AMS D& R R

No. %m0 No. %#i

1 E—hH— (@90 mmdB KTV @55 mm) 5 HZRXTSZvEh

2 A% N 6 SBWN

3 BESHUT—F—vUvTS 7 HEBRILE—
(HTTBSICERBIE )

4 REF 8 vy
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41 FEWORE

aa B

feln

E—H— (@90 mmEB L T@55 mm)

A% N

BESTFT—F—0 v

EERT

HZRATZZv bk

50

RRILE—

_\_\_\_\_\_\_\M&

AN

4.2 423D

FIE

pELT

FIEEFCIBRERR DRI T 5BNDB Y E T,

> AREIE, MEGBAER TR EINTVEY, INTORmZEEICFH
WMLTIREL,

43 BmOERE
4.3.1 KUANDYDKOIMSOELY) {F1+

AR

Cubis® ZHRAXUA (FEEPREO.1 mgE 7z1%0.01 mg) o
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FIE

> UTFOEmEXRCADSEYANLET,
- U&S=mMn)
- INUHR—bF (2

> JL—LEFERICELIAFE T, HBKRIL
B— (ZBDWHZATZZv ) OFEALMA
2. ZL—LEEOEOTINBELIEL K5I
LET,

b KOALEDTL—LiIcE=H—%2BT VY
VL CHEET,
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4.3.2 KUANDYDKOAMSDEW{F1F

iRy
Cubis® ZRAXUA GEEPRE1T mg) .

FIIE
> RUADSU&SEN (1) ZBMYUALET,

> JL—LEFERICELIAFE T, HEKRIL
B— (ZBWHSRXTSZy k) oFEALOM
2. ZL—LEEOEOTNBELIEL K5I
LET,

> KUALEDTL—LicE—H—&EBLT )Y
TESCHEET,
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433 E—hH—&FBEIROFTEIR

FIIE

b E—A—FflRAERRZFRLET, £—
H—ERBERBDELSZFRT HHNE. B
EIHHMICLO>TEBTYVET,
E—h—BLUREREZDOEE

- BEFOBRENE BENREREZEZ DS

B) 30 mMmOE—H—. BIXUEHRKRILV
ﬁ\_b\{’\\go

- EEROEEAE FEHNRERT TE S5
B) IO mMMODE—H— HXUVUV&D
2MHKE,

- REOBRERE : I35 mmDE—H—, &K
UHS AT Iy FHRE,
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43.4 HSRTSZvrDHRE

TAYE TAVYT7A LY bTHZATZIv b
WK HFENTWEY, T4 V71 Ly bDHN
HZATZZIv bDTvIDERYTHBKDIC
L&Y,

FIE

> FRR TUAVISEISFAEEELET, ATRT
1Ly bEFRES>T. HSRATSIv b ETE
DEBRVHELEY, AR TFZZy bDTA
YHIFNBHA S KWL SICLET,

b HSRTSZY bDTAYTA LY MAa,
)F7F—+—DT7 v 7IThIFET,

> HSRTSZY bDTYvIET L—LICERY

\ HF£Y,

4.3.5 REFDRE

FIlE

> E—A—ICREAZBEEE T,

> RESH RN ENHHHE T U T —
FT—00)y TeEo>T. RESFEE—H—D
BICH I E TS
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5 1RE

51 BEANEICFERINSAEE

NAERBORGEEDREICIE. T7IVFATADFRE] HMERATNTL
£7 !

- BRIFISRLUTEIE. EREDFNERITET, TOFENIE. TOHMERIC
FOTEEMASNTTREDEEICEFLIGYET,

- BKRUAZERLT. ZHREKPTEGBZAELE T, FHEEDOR
EhbHinid, UTOXCEGBDREZHETELT,

0= W (a) - p (fl)
W (a) - W (1)
EJ
FRERROBEDDHINUE. UTOXTREDEELZARTELT,
G
p (fl) = V
SCSMDETHR :
P BEURDERE

p (fl) RIADEE
W)  ZEXRFOEFDES
W(f) RIEFOEGDEE

G RENRDES
v REMEDRE
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BIF

52 FREDREEHEAFTay

Pt 1]
XKUADRAEFIEEZFVELLS,
p FERIC. BEAET Y FOHBRRIVE—EALET,

INEE—RI~B M ETIE. CORNCTIERICEMRDREEZEY) BT EH
TEET, RDBBEICL DT UTDRELMBERBEERT 2HED
HYET,

- #77@26%4&1%0)&‘ T BHREDRE
- ZESRHPTREYT 555D ZEXFN

- Eﬂ*—l—%/xaﬁj_%)i% @ﬁ%ﬂ]l@/i/ﬁ%r@”i‘{b
- FHMO RN AR T B RIEDIE M

- EflcgELERE

—ERDIREIL. BMENITHETEE I, TN, BEDBREEREL. 7
NS CTRINBEZEIET A & L. RIEE ANTCBREDODNREZEERT S
L_ & 75\’ \g_za_o
BREBEICNT HBEEDHE
#h@%%ﬂ%@ﬁf 3. BEIUKELE T, BEZ1IC BEITULT
DEIICEILLET,

- ZXBBIKT0.02%

- 73— ILB K CRILKETO0.1%

ZOZEE. BEAERI/NEE=AMICIENE T,
BEBREABE TEBETSICE. UTOFIBEICHENET,

- NEDERESZE> CREDEEZAELE T,
- KDOBEIE T54BEDE] (214X—Y) ORICEBHINTVET, Th
& p (A)ICEATELT,
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EREFN

BE. BE. [EIKISLCT 1em® DZERDEZIFHN12 mgllZ W E T, ER
hTEHET 5546 WWi%@EE@mﬁétU@#ﬁ%mH§T INERER
Eﬁﬂ%ﬁﬁﬁ%&ﬂbk(ﬁD%@M\ﬁﬁbkﬁ%%%E?é%Eﬁ%
WEY,

HE ULTFORNTEHLET,

W) [p(fl)-pla)
b= W (a) - W (fl) +p (@)

p (a) = 0.0012 g/em® = BERGTDOELIFEE (GEE20°C. E77101.325 kPa)

o

RAFE

REANTOHAERICEHBOBREREICERT AMIE. 28DT A V&ZLoh
DERW S, RAEREOKB0 mmTITGRELE I, RUAERBIERICT
T—ENTWB, BIEREBEDRIKITEATZEDICK 2EBINEAIE. BE
DREICHELT A,

BRENTETHETHEL Eitﬂzlifzw)ﬁzkﬁr“ TEHIRBBREDBRINET, T
nTc. J]]l@'7/(’\”7f)‘*b ray; </X/E n. JE?JIL#j]b‘EL'C\ T'./L’.J_;/EUKE@"—"
EhETE5ETNET,

MDA TREZEELE T,

_ W(a) [p (ﬂ]_p(a)] +p(a]
0.99983 [W (a) - W (f1)]

FHIEREIIEBOIR TRE B8, BEEROBEREITIE. ATRHBOATR
=2 (BRI mm) AFEALET, COBERBOELAEIE. T6e AR
(215R—) ICEBEHEINTWET,
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ARIRILE— (FTeld 530 ZFN0HZREKISTRET 5 & BRIKIITE
HNOBETTAVZDlc>TLERL. BRIV IS LEBMLET,
ARRIVE— (KTeld3 b0 13 ZRHOFE TERERN TOFETEHF
HFERICH Y . ROAISERAEDRIREICT 7 —ENB T D5, RiEA
ZAARDZEIFERTELT,

AV EDOBREDRERD EBEEZRS T ICIE. FREEMER] (Mirasol
Antistatic & oIS HERELEA) 3E%ZE. BIROEREKITESLET,
FNDHEBREDT AV EDfcO2TCLEOTL B, gl BRTENES
U&SEEEFPOCHEILLTVWEET, TS LEELIS. UL DEEIR
fg] NRTENST CICHAMBUEL DY FT,

Kia
HERHCKUENMTET BT EICKVELCHAEREIF. UTDOLDITKHE
T BER05 mmDKUATlE. KHAFTERHT0.1 mgRBDEBINEADNELCE T,
BER1 mmDEETIER0.5 mg. BEK2 mgDSRUETIE4.2 mgDEBILE D
HLET, TDfedd. REVRBIEBTHOWT VB ETEETRENLD
DET,

El& DRI, FAICKDZMATHL I ESHTEET,
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5.3 BEMNE
5.3.1 EEDEERE

#fq
LT OFHATIE, ZEKZEERALET,

FIE

p KEE—H— (@90mm) 2Ty IRRICBEEET,
E—H—DEH5K5 mmTFE T, EKBKEFTEELT,

EEKIC, REESERZ3BES LET,

V7—+—0)yT%E>T BEFZE—H—DBRICRIHIFET,
ARV E—ZBR T -7 L (RAELILTAVITHITEIET %)
7L —=LICEoNFET,

\AAA A

AEFIE
AHDESIF. BTERRTAELET,

FIE

> RUAZETT7—LET,

> JL—LU&SEMIGENZREGGIELE T,
> UL OEEW@QESEBEHET,

FhoRE
G =W (a) - W (fl)

FIE

> JL—LU&SEMICGEHENZRETCRUAZT 77— LET,

> SR EEHRRIVZ—ICBEEE T, AEKSELSHMZN L. BRENDESZ
BEREICRAGRVENMIBLEVLELSICLEY, TENRE SEridE> Yy
PrETEREMLET,

> AT AERSDNVFNICDNMEEZS EEHE T,

E#kEHBAZE YDKO3MS | YDKO4MS 209



BIF
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p BREAEFGHIYIET,

> FHEOTCREELS. KADREME () EFELET,
> UTFORREFERALCEEAHELET,

_ W(a)-[p(fl) - 0.0012 g/cm?]
- 0.99983 G

P +0.0012 g/fem?

W (a) EGDEAfIIXg. p ()DEfIIZg/em® G =W (a) - W (fl)

53.2 BE1 g/em® KBDEFDEERE
BE1 glem® KEDEEDEEZRNET BICIE. 2DDHENHVET,

FHiEn
EKEKEZDEFEFZFNRIFERBLET, e LEME, #5350 (55
W) ICBEBRIET,

ARDFNZEAET HICIFEIKEICEE. ESICEMIALTENLD
WeE>TZTNZRELET,

Yty bl EE>TEHZERSIDVMDOTICEL ZEETEXT (&
BZNNETL—LHSESHEW)

AETHMEDFNINSBVDEEEBASHE. 7L—LDU & DEIMIC
BEEZEMTSHILET ZBVDEEZEPTHRELNH KT,
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FIE
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SBWEBRITY ) -7 L (RELETAVIFITEET2). 7L—
L5 oD & T,

vvy

E#kEHBAZE YDKO3MS | YDKO4MS 211



BIF

AEFIE
AHDESIF. BITERFTAELET,

FIlE

> XUOAZETT7—LET,
b JL—LU&OSEMICGEH RS THELET,
b DEOEEN QEETEBHET,

FhoRE
G =W (a) - W (fl)

FIE

> JL—LU&SEMICGEHNZRE CRUAZT 77— LET,

> SR ZEEHRRIVZ—ICBEEE T, AEHSELSHMZN L. RENDESR
BRICRFTGRVEMIBLEVELSICLEYT, TENE, SEridE>V Y
brETBEREEMLE T,

> AT RAEBSDNNTFNICDMEMNEZEZEEEDE T,

BEOHE

FIR

> REEFHMYET.

> FHWOTBEDS. (54 BEDME (14X—Y) ORNOBEIE (1)
ERELET.

> TR EEE L TEEEHELET.

_ W@ p ()

+0.0012 g/cm?
0.99983 G

W (a) & GDEfZIdg. glem® Dp (fl) G = W (a) - W (fl)
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5.3.3 BRIEDEERE
#{E

FIE
b NIE—hH— (@55 mm) BTy IHRICBEET,
b UTr—F—0 1)y TEEST, BEFEE—H—DEICRIHTET,

AEFIE

FIE

> TANVNVEKTHIRATZIY b aR2 LT RV &, 7L—LH5B5
L&Y,

| 4 %U/U%;T_Lia—o

> HRICERT2KRMEE, E—H—ITFEFT (HZRXTZIY bD10mm
£&ET) .

FHOHE

G=W(a) - W (fl)

KOAICRTENBI A F AEESMEDEEIE. BRERNDAZATZI Y b
IPERT2FNE—HLET,

FIE

> AT ARBEDMWNIFNCEETELEDHET,
> BREEGHERY. EEEDET,
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BEDHE

FIE
> UTORAZERLCREZSAELET,

o )= =

GO EAfIIEg. VOEAIIZem?
BEAEFY MIBOAZATZ I v FOREIX. 10cm*T9,

BEDEBRDEE (g/em®) 1&. RUAICRTENDBUED/ NI R Z—HTAIC
IE5TRIFTHREICONIET,

54 EEODE

SBET (°0) . gfem* DH,0 (HRTY—7K) DBE

T/°C 0.0 0.1 0.2 0.3 0.4 0.5 0.6 0.7 0.8 0.9

10 0.99970 0.99969 0.99968 0.99967 0.99966 0.99965 0.99964 0.99963 0.99962 0.99961
1" 0.99960 0.99959 0.99958 0.99957 0.99956 0.99955 0.99954 0.99953 0.99952 0.99951
12 0.99950 0.99949 0.99947 0.99946 0.99945 0.99944 0.99943 0.99941 0.99940 0.99939
13 0.99938 0.99936 0.99935 0.99934 0.99933 0.99931 0.99930 0.99929 0.99927 0.99926
14 0.99924 0.99923 0.99922 0.99920 0.99919 0.99917 0.99916 0.99914 0.99913 0.99911
15 0.99910 0.99908 0.99907 0.99905 0.99904 0.99902 0.99901 0.99899 0.99897 0.99896
16 0.99894 0.99893 0.99891 0.99889 0.99888 0.99886 0.99884 0.99883 0.99881 0.99879
17 0.99877 0.99876 0.99874 0.99872 0.99870 0.99869 0.99867 0.99865 0.99863 0.99861
18 0.99860 0.99858 0.99856 0.99854 0.99852 0.99850 0.99848 0.99846 0.99844 0.99842
19 0.99840 0.99838 0.99837 0.99835 0.99833 0.99831 0.99829 0.99826 0.99824 0.99822
20 0.99820 099818 0.99816 0.99814 0.99812 0.99810 0.99808 0.99806 0.99803 0.99801
21 0.99799 099797 0.99795 0.99793 0.99790 0.99788 0.99786 0.99784 0.99781 0.99779
22 0.99777 099775 0.99772 0.99770 0.99768 0.99765 0.99763 0.99761 0.99758 0.99756
23 0.99754 099751 0.99749 0.99747 0.99744 0.99742 0.99739 0.99737 0.99734 0.99732
24 0.99729 099727 0.99725 0.99722 0.99720 0.99717 0.99714 0.99712 0.99709 0.99707
25 0.99704 0.99702 0.99699 0.99697 0.99694 0.99691 0.99689 0.99686 0.99683 0.99681
26 0.99678 0.99676 0.99673 0.99670 0.99667 0.99665 0.99662 0.99659 0.99657 0.99654
27 0.99651 0.99648 0.99646 0.99643 0.99640 0.99637 0.99634 0.99632 0.99629 0.99626
28 0.99623 0.99620 0.99617 0.99615 0.99612 0.99609 0.99606 0.99603 0.99600 0.99597
29 0.99594  0.99591 099588 0.99585 0.99582 0.99579 0.99576 0.99574 0.99571 0.99568
30 0.99564 0.99561 0.99558 0.99555 0.99552 0.99549 0.99546 0.99543 0.99540 0.99537
BEXH

— NIST ITS-90 Density of Water Formulation for Volumetric Standards Calibration, Volume 97, Number 3, Chapter 3.3
Density of Air-Free Water p (kg m~?) = 999.85308 + 6.32693 x 102 t - 8.523829 x 107 t2 + 6.943248 x 10° t3 -
3.821216 x 107 t4

— DAKKS-DKD-LF-8-2 calibration liquid water - DakkS, annex 1, table A
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a1

5!

EERDOZEIZ. EEXREEEIGIELET,
p:W(a)=p (fl) : [W(a) - W (fl)]
LfehioT

W (a) - p (fl)

W (a) - W (fl)

W (a) - W (fl) = G = s DF A
BEDEEIZ. REEEER LICREMFOZFAIHLSEVHELET,

G
fl) = —
p (fl) y
ZZTlE
P BEEDRE

p (f) RIKDZRE
W (a) ERHRDOEFEDES
W (f1) RIKPOEFRDES

G RBMARDES
Vv RBEMARDES]
fHIE

BEDAEZMET %A, UTZEBITZLENDHYET,
- ZER $TW£LK%AEﬁﬂbmH%§ﬁ#ﬁ

p(]=000129/cm3 BRETOZEIERE (RE20°C. £73101.325kPa) ,
hatd

_ W@ pm-p @ v ol)

T Wae-wm P
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a1

DA YDFHEEET BICIE. BIWHLIEABOZEALSEELIETATD
H159F N TAl #ZRLCET,
G=W(@)-W([FETERT B F/ME A(corr)] IF. G- TA] EBEVET,

A (corr) = [W (@) -W (f)] -2 - S—z [W (@) - W (f)]

2

DZ

A (corr) = [1 -2 ] (W (a) - W (fl)]

COBREAEFY FTIE. ABE—H— (ERIOmm) . BLUVER07 mm
DIA V2K EF ol EMREFER LT, BROBEEXAELE T,

d=07mmé&D =90 mmAEFERY 556, MERBIILITICEYET,

0.7
1-2- = 0.99983
90?

INUANDERDE R ZHERT H55IE. MERBZERIGICETELEY,
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